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Supplementary Tables

Table S1. Information for QSAR models based on dataset 2 and 3.

modeling

splitting

b sk c d
dataset model type model name method® method N (all)” N (training) N (test)
lassificati Model C1 SOM random
datasetp ~ Cooorication 1463 988 (561/427) 475 (271/204)
model Model C2 SVM random
Model R1 MLR random 259 97
; Model R2 MLR SOM 263 93
dataset3 | orooron 356
model Model R3 SVM random 259 97
Model R4 SVM SOM 263 93

a: modeling method. b: number of all compounds. c: number of compounds in a training set

(highly active/weakly active). d: number of compounds in a test set (highly active/weakly active).



Table S2. The 29 selected molecular descriptors used in the classification models (Model C1 and
Model C2) and the 21 selected molecular descriptors used in the quantitative predictive models

(Model R1-R4).

class

descriptor

classification model

regression model

I

HAcc N

I

RDF Polariz 27

RDF_Polariz_52

III

2DACorr LpEN 4
3DACorr_SigEN 6
RDF SigEN 28
RDF SigEN 29
RDF PiEN 18
RDF PiEN 83
RDF LpEN 26
RDF LpEN 27
RDF LpEN 46
RDF LpEN 55

RDF_PiEN_16
RDF PiEN 27
RDF PiEN 68
RDF PiEN 84
RDF_LpEN_10
RDF_LpEN_54
RDF_LpEN 71

2DACorr_SigChg 1
2DACorr_SigChg 6
2DACorr_SigChg 8
RDF TotChg 26
RDF TotChg 32

2DACorr_SigChg 8
RDF SigChg 16
RDF SigChg 29
RDF_SigChg 113
RDF PiChg 26

v RDF TotChg 42 RDF_PiChg 39
RDF_TotChg 44 RDF_PiChg 47
RDF_TotChg_76 RDF _PiChg 52
RDF_PiChg 29 RDF_PiChg 56

RDF TotChg 46
3DACorr_TotChg 2
SurfACorr HBP_2
SurfACorr HBP 4
SurfACorr HBP_6

v SurfACorr HBP_12 —
SurfACorr HPP 1
SurfACorr HPP_6

- InertiaX NRotBond
Rgyr RDF Ident 54

Total number 29 21




Table S3. Information of compound purity

compound SMILES Name purity
#1 Clclenc(nclNeleceeel S(=0)(=0)C(C)C)Nelecc(N2CCC(INH+]3CCN(CC3)C)CC2)ecl OC - 100%
#2 Clele([C@H](Oc2cc(enc2N)-c2en(ne2)C2CC[NH2+]CC2)C)c(Clyecc 1 F Crizotinib 100%
#3 Clelee(Ne2nene3e2ec(NC(=0)C=C)c(OCCC[NH+]2CCOCC2)c3)cccl F CI-1033 100%
#4 Clelecee(C)cINC(=0)clse(nel)Nelne(ne(N2CC[NH+](CC2)CCO)cl)C Dasatinib 100%
#5 Clelee(Cle(OC)ecINel e2ec(OC)c(OCCCINH+]3CCN(CC3)C)ce2necl CEN Bosutinib 100%
#6 O(CCC[NH+]1CCCCCl)clec2nenc(N3ICCN(CC3)C(=0)Ne3eec(OC(C)C)ee3)c2eel OC MLN-518 100%
#7 O1CCN(CClI)clne(ne(Oc2nne(OCCOc3cceee3C)ec2)nl)Neleee(eel)C - 100%
#3 s1c2c(ncINC(=0)C1=CN(c3c(cc(F)c(N4CCN(CC4)C(=0)c4occed )e3)C1=0)CC)cccc2 - 97%

#9 Clelee(Ne2ne(ne(n2)Ne2ee(Clyeec2C)N2CC[NH+](CC2)C)e(ecl)C - 100%
#10 O=C(Nclee(Ne2ne(een2)-c2ecene2)c(ccl)C)elece(cel )C[NH+]1ICCN(CC1)C Imatinib 100%
#11 O1[C@](NC(=0)[C@@H]2C=C3[C@H](IN@H+](C2)C)Cc2c4c3ccec4[nH]c2)(C)C(=0)N2[C@@H](Cc3cceec3)C(=0) | Ergotamine 97%

#12 FC(F)(F)clce(NC(=0)c2cc(Ne3ne(cen3)-c3ceene3)e(ce2)C)ee(-n2cec(ne2)C)el Nilotinib 100%
#13 O(C(=0)CCN(C(=0)clce2ne(n(c2ecl )C)CNeleee(ecl )/C(=[NH+]/C(OCCCCCC)=0)/N)clnceecl )CC Dabigatran 100%
#14 Clelee(Ne2nene3e2ee(NC(=0)\C=C\C[NH+](C)C)c(O[C@H]2CCOC2)c3)cecl F Afatinib 100%
#15 S(CC(=0O)Ncleee(OCC)eel)elne(ne20c3e(ce(ce3)C)Cel2)-clece(cel)C - 99%

#16 S(=0)(=O)(N1CCOCCI)clec(NC(=0)c2cce(nc2)-n2cenc2)eecl OC - 100%
#17 OI1CC[NH+](CCI)CI(CCCCC1)CNC(=0)Nclee(OC)e(NC(=0)c2ccece2)cc10C - 100%
#18 S(CC(=0)NCC(INH+]1CCOCCI)(C)C)cln-2¢(nn1)C=C(clc-2¢c(OC)ecl)C - 95%

#19 OICC[NH+](CC1)CCNclnc(ne(nl)Neleee(OC)cel)Neleee(OC)cel - 100%
#20 S(CC=INC(=NC(=0)C=1)Nclnc(c2c(nl)c(cc(c2)C)C)C)cl[nH]c2c(n1)ccec2 - 100%
#21 [NH+]1(CCN(CC1)clne(ne(nl)Nele2e(ceel)ecee2)Nele2e(ceel)eeee2)C - 100%
#22 slc2-c3n(C=Nc2c2c4c(CCC4)c(ncl2)-cleceeel )e(SCC(=0)Neleee(OC)cel )nn3 - 98%

#23 Clelee(Ne2ne(ne(n2)N)C[NH+]2CCN(CC2)Ce2¢ec30C0c3ce2)cecl C - 100%
#24 Felec2e(N(C=C(C(=0)NCCc3ccc(0)cc3)C2=0)C2CC2)ccINICC[NH+](CC1)CC - 100%
#25(ref) FC(F)(F)clene(neINC1CCC1)Nelec2C3N(C(CC3)c2ecl )C(=0)CNC(=0)C PF-03814735 100%
#26(ref) O1CCN(CC1)Cclee2[nH]e(nc2ecl)-cIn[nH]ccINC(=O)NCICC1 AT-9283 100%
#27(ref) S(clece(NC(=0)C2CC2)cel)elne(N2CCN(CC2)C)ee(nl)Neln[nH]e(c1)C VX-680 100%
#28(ref) CO[C@@H](C(=0)N1Cc2[nH]nc(NC(=0)c3cce(cec3)N4CCN(C)CC4)c2Cl)c5cccees PHA-739358 100%




Table S4. ICs, curves for hit compounds experimented on Aurora Kinase A and B.

Compound Compound . . ICsy curve
Inhibition | Inhibition
concentration Mean SD
(%) (%)
(nM)
Experimented on Aurora Kinase A
#1 10000 99.8 100.4 100.1 | 0.44 @
3333 99.4 99.8 99.6 0.30 = ‘: ﬁ
1111 101.1 101.3 101.2 | 0.15 éw /!
370 99.0 99.1 99.0 0.07 £ : ,/!/{
123 954 96.2 95.8 0.59 : ———
41 898 886 892 089 Compound concentration (nM)
Bott 20.98
14 74.9 70.2 725 | 333 © ;m 000
o .
5 49.8 455 477 | 3.04 P
IC50 (nM) 8.1
2 34.2 30.3 32.3 2.74 Hill 112
1 25.6 22.7 24.2 2.07
#2 10000 99.7 100.5 100.1 0.59 N
3333 98.7 99.5 99.1 0.52 _ p //H
111 96.7 96.9 968 |015 | 5 © )
370 88.6 88.2 884 030 | £
123 74.3 72.6 73.5 1.26 A= I I
Compound concentration (nM)
41 50.7 50.9 50.8 0.15
Bottom 10.11
14 31.3 31.2 31.2 0.07 T 102.03
op .
5 26.4 21.6 24.0 3.41 IC50 ("M) 50
2 16.9 17.0 17.0 0.07 Hill 085
1 10.1 6.5 8.3 2.59
#3 100000 92.7 90.8 91.8 1.35 ki
g
33333 90.5 84.4 87.5 4.35 E @
11111 85.1 83.1 84.1 145 | 3 .«
=
3704 64.2 61.2 62.7 | 207 | ©
1235 36.8 29.4 33.1 5.18 0 e 100090
412 15.4 145 14.9 0.62 Compound concentration (nM)
Bott -1.4
137 40 0.9 24 | 218 °T°m o
o
46 12.6 -4.2 4.2 11.91 P
IC50 (nM) 1,877
15 -1.2 -3.1 -2.1 1.35 Hill 112
5 -5.3 -2.8 -4.0 1.76




Compound Compound o . ICs curve
(rati Inhibition | Inhibition M sD
concentration ean
(%) (%)
(nM)
#4 100000 97.3 98.9 98.1 1.14 2
33333 96.5 93.6 95.1 2.07 § i //r‘
O
11111 87.5 84.2 85.8 2.28 IE .
< -
3704 67.4 58.6 630 |621 | = 7
1235 36.2 28.4 32.3 5.49 ST R T
Compound concentration (nM)
412 18.0 17.9 17.9 0.10
137 3.7 6.6 5.1 2.07 Bottom 2.0
Top 101
46 117 4.2 8.0 5.28
IC50 (nM) 2,386
15 2.6 2.1 2.3 0.41 Hill 1.06
5 -0.3 -3.5 -1.9 2.28
Experimented on Aurora Kinase B
#1 10000 100.4 100.3 100.3 0.08 "
3333 99.2 98.8 99.0 0.30 0
:\E 1 /f/‘-_l,—-'
1111 97.1 98.9 98.0 1.22 < /'
= 60
370 91.9 91.7 91.8 0.15 2. /’
123 89.2 81.5 85.3 5.47 2 M
41 74.6 73.8 74.2 0.53 Co1mpound conce::ration(nM) o
14 49.5 47.5 48.5 1.37
Bottom 11.10
28.9 9.2 19.1 13.97 Top 97 .97
21.3 16.5 18.9 3.42 IC50 (nM) 19
1 18.3 6.7 12.5 8.20 Hill 1.15
#2 10000 100.0 100.5 100.3 0.30 o
3333 98.2 99.1 98.6 0.61 s -—
111 95.1 96.3 957 o084 | T, //
Z 4l A
370 88.8 91.6 90.2 1.97 % 20»/;
123 76.4 78.6 775 1.52 of
41 65.1 65.1 651 | 0.00 T w w
Compound concentration (nM)
14 47.5 46.3 46.9 0.84
35.8 33.7 34.7 1.52 Bottom 8.34
- - - - Top 103
23.0 22.8 22.9 0.15 IC50 (M) 22
1 15.6 15.9 15.8 0.23 Hill 0.63




Compound Compound o . ICs curve
Inhibition | Inhibition
concentrateon Mean SD
(%) (%)
(nM)
#3 100000 96.8 97.3 97.1 0.41 o 8
ae 100
33333 95.7 95.1 %4 |04 | T T
11111 92.7 90.1 914 1.81 Lf © "
= ~a
3704 824 76.2 793|445 | € ° HJ/-/
1235 62.4 55.6 59.0 4.80 20—3% - 706 550
412 295 299 297 0.23 Compound concentration (nM)
137 14.1 12.4 132 | 1.17 Bottom 2.1
Top 98
46 15.7 7.4 11.6 5.85
IC50 (nM) 904
15 5.8 -0.8 2.5 4.68 Hiil 103
5 -0.8 0.8 0.0 1.17
#5 100000 95.7 96.1 95.9 0.29 .
33333 87.6 85.0 86.3 1.81 a;:
11111 64.4 64.1 64.3 0.18 55 @
3704 35.9 32.0 339 [281 | [, .1 . -
1235 11.6 8.3 9.9 2.34 e ww
Compound concentration (nM)
412 8.3 6.6 7.4 1.17
Bottom 0.8
137 -0.8 0.0 -04 0.59
46 14.1 0.0 7.0 9.95 Top 100
- - - - IC50 (nM) 6,789
15 0.0 -2.5 -1.2 1.76 Hil 118
5 0.0 -5.0 -2.5 3.51
#6 100000 94.8 94.3 945 0.35 =
33333 88.1 85.8 87.0 1.58 g /
11111 70.9 71.8 714 070 | 3 « /“
-E 20 _,./‘/
3704 50.9 49.1 50.0 | 1.29 i NS,
1235 271 25.7 26.4 0.99 20,5 70050
412 17.4 15.7 16.6 117 Compound concentration (nM)
Bottom 2.37
137 5.8 6.6 6.2 0.59
46 16.6 41 10.3 8.78 Top 102
- - - - IC50 (nM) 4,197
15 2.5 1.7 2.1 0.59 Hil 0.83
5 1.7 -2.5 -04 2.93




Table S5. ICs, curves for hit compounds #1 and #2 as control assay experiment.

Compound Compound o . ICsy curve
(rati Inhibition | Inhibition M sD
concentration ean
(%) (%)
(nM)
Experimented on Aurora Kinase A
#1 10000 99.8 99.1 994 0.54 1200
3333 100.8 98.1 994 [198 | & [ /./r~—~—‘—‘
1111 99.8 97.8 98.8 1.44 é sor-
370 97.3 96.5 969 | 054 fg < //
123 95.6 90.3 93.0 3.77 or
41 85.7 82.6 841 | 225 S - e
Compound concentration (nM)
14 63.4 63.1 63.3 0.18
Bottom -4.1
35.2 28.2 31.7 4.94
Top 99
121 14.0 13.0 1.35 IC50 (nM) 79
1 3.8 -2.3 0.8 4.31 Hill 1.05
#2 10000 99.6 99.4 995 009 | _ "
3333 100.7 97.7 992 [216 | = .
111 95.3 94.4 948 | 0.63 % r
370 84.2 81.4 828 198 | £ .|
123 62.7 57.5 60.1 3.68 ;———Sf'f/‘
41 34.5 32.6 336 |1.35 ik 100 10000
Compound concentration (nM)
14 13.0 16.4 14.7 242
20 57 18 548 Bottom -6.3
: = — : Top 102
0.1 -1.8 -0.8 1.35 IC50 (nM) 72
1 -3.3 9.3 -6.3 4.22 Hill 0.94




Compound Compound o . ICs) curve
concentration Inhibition | Inhibition Mean | SD
(%) (%)
(nM)
Experimented on Aurora Kinase B
#1 10000 99.6 98.6 99.1 070 | _ :
3333 98.7 99.2 989 [032 | £ .
1111 95.6 95.8 957 019 | S T
370 91.1 91.2 912 |013 | £ x:/
123 83.7 84.0 83.9 0.25 °r
41 75.4 74.6 750 | o057 o w em
14 549 59 2 570 306 Compound concentration (nM)
Bottom -121
31.1 30.0 30.5 0.76
Top 98
9.9 9.9 9.9 0.00 IC50 (nM) 8.0
1 1.8 0.9 1.4 0.64 Hill 0.77
#2 10000 994 98.8 99.1 045 | _ 7
3333 98.7 98.5 98.6 0.19 § s
111 96.4 95.8 %1 |038 | = ol
370 87.6 87.8 87.7 013 | € :3_././
123 75.8 72.9 74.3 2.04 or
41 56.2 54.3 553 | 1.34 ' w
14 35.2 376 36.4 166 Compound concentration (nM)
Bottom -5.6
5 23.1 14.0 18.6 6.50 Top 102
9.0 6.3 7.7 1.91 IC50 (M) 07
1 0.9 -0.9 0.0 1.27 Hill 0.70
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Supplementary Figures

ROC curve
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Figure S1. The ROC curves for queries overlaid by one molecule, two molecules and three
molecules together the AUC (area under the curve).
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Figure S2. Rectangular Kohonen’s self-organizing map (size 31 X20) on the basis of most frequent
occupation for the training set split from dataset 2. Circles represent highly active AURKA
inhibitors and triangles represent weakly active AURKA inhibitors.
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Figure S3. QSAR protocol for the compounds from J&K database.
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O solvent residue ©®@arene-arene

O metal complex ©@H arene-H
== solvent contact @+ arene-cation

O polar = sidechain acceptor
O acidic  + sidechain donor

O basic  ** backbone acceptor
O greasy - backbone donor == metal contact

proximity ligand receptor
& contour . exposure O contact

Figure S5. Receptor-ligand interactions between hitl and AURKA (PDB code: 3r21) at the
ATP-binding site. Image produced by MOE (version 2011).
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Kinase assay method

By using Mobility Shift Assay, we screened 28 compounds against Aurora A and B kinase
in vitro. The compounds were tested twice from 10uM or 100uM for 10 concentrations (see the
Table S4 and Table S5 for the details of compound concentration). The details of the
experimental process are as following:

1. Prepare 1x kinase base buffer and stop buffer for testing kinases

1) 1x Kinase base buffer. 50 mM HEPES, pH 7.5; 0.0015% Brij-35 (use 0.015% Brij-35 in
the control assay); 10 mM MgCl12; 2 mM DTT. 2) 2x Stop buffer. 100 mM HEPES, pH 7.5;
0.015% Brij-35; 0.2% Coating Reagent #3; 50 mM EDTA

2. Prepare compound

1) Dilute the compound to 50X of the final desired highest inhibitor concentration in
reaction by 100% DMSO (500 uM solution). 2) Serially dilute the compound for a total of 10
concentrations. 3) Add 100pul of 100% DMSO to two empty wells for no compound control and
no enzyme control in the same 96-well plate. Mark the plate as source plate. 4) Prepare
intermediate plate. Transfer 10ul of compound from source plate to a new 96-well plate as the
intermediate plate. Add 90ul of 1x kinase buffer to each well of the intermediate plate. Mix the
compounds in intermediate plate for 10 min on shaker.

3. Prepare assay plate

Transfer 5pl of each well from the 96-well intermediate plate to a 384-well plate in
duplicates.

4. Kinase reaction



1) Prepare 2.5x enzyme solution. Add kinase in 1x kinase base buffer. 2) Prepare 2.5x
peptide solution Add FAM-labeled peptide and ATP in the 1x kinase base buffer. 3) Assay plate
already contains Sul of compound in 10% DMSO. 4) Transfer 2.5x enzyme solution to the
assay plate Add 10ul of 2.5x enzyme solution to each well of the 384-well assay plate. 5)
Incubate at room temperature for 10 min. 6) Transfer 2.5x peptide solution to the assay plate
Add 10ul of 2.5x peptide solution to each well of the 384-well assay plate. 7) Kinase reaction
and stop Incubate at 281 for 1hr. Add 25ul of stop buffer to stop reaction.

5. Caliper reading Collect data on Caliper.

6. Do control assay to avoid aggregation for compounds with high bioactivity (IC50 <
500nM). The steps are the same as the former five steps except using use 0.015% Brij-351
when preparing 1x kinase base buffer and stop buffer for testing kinases (step 1) for the control

assay.



Appendix

1. Dataset 1

The PDB codes for the compounds in dataset 1 (72 compounds in total) are as
followed: 0BX, 0BY, 0BZ, 0C0, 0C3, 0C4, 0CS5, 0C6, 0C7, 0CS8, 0C9, OFY, 0K6, 2JZ,
2VU, 45B, 48B, 83H, 97B, 400, 626, AOH, ANP, AND, ADP, AKS8, AKI, ANP, ASH,
ATP, CC3, CJ5 nh, D36, D37, E9Z, EML, FH3, FH5, HPM, JVE, LOC, LOD, LOE,
LOF, LOG, LJE, LJF, MMH, MPY, N13, N15, NHI, NHJ, NHU, NRM, OFI, P9J, PEG,

PFQ, PG4, QMN, RO9, VEK, VX6, WPH, X6D, XU1, XU2, Y3M, YM4, YPH, ZZL..
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II. Dataset 2

smiles ICso(nM) label index
Clclcce(cecl F)C(=O)Ncelnce(Ne2nenc3c2cc(OC)c(OCCCN2CCOCC2)ce3)enl
0.15000001 1 1
olc2nenc(NCCe3nc[nH]c3)c2c(cl-clcccecl)-cleceecl 0.296 1 2
S1[C@H](NC=C1CC(=0O)Nclcc(F)cccl)NcInenc2clec(OC)e(OCCCNICCC(CCI)C
OP(0)(0)=0)c2 0.30000001 1 3
0lc2nenc(NCCO)c2c(cl-cleccecl)-clecceel  0.30899999 1 4
Clele(ceeelCHC(=O)N1CCN(CC1)Cclee(Ne2scen2)ceel 0.5 1 5
OC(=0O)clcc(Ne2ne3n(cec3en2)C2CCCCC2)cecl  0.60000002 1 6
S(clecc(NC(=0)C2CC2)ccl)cIne(N2CCN(CC2)C)ec(nl)Neln[nH]c(c1)C
0.69999999 1 7
Clclec(cecl)C(=0O)Nclncc(Ne2nene3c2ec(OC)c(OCCCN2CCCCC2)e3)enl
0.80000001 1 8
O(C[C@@H](O)CNICCCCC1)clee2nene(Ne3enc(ne3)NC(=0)c3cceee3)c2ec10C
0.80000001 1 9
01¢2nene(N3CCC(O)CC3)c2c(cl-cleccecl)-cleccecl  0.80699998 1 10
Fele(ceec1C(F)(F)F)C(=0O)N1CCN(CC1)Cclnc(Nc2n[nH]cc2)ceel 0.89999998 1
11
Clclec2e(-c3nc(ncc3CN=C2¢2¢(OC)cccc2F)Ne2ec(OC)c(cc2)C(0)=0)ccl 1 1
12
Fclceccc1C(NC(=0)cloc2ce([nH]nc2NC(=0)c2ccc(cc2)CN2CCOCC2)c1)(CO)C 1
1 13
slc(ecnc1NcInenc2c1cc(OC)c(OCCCN1CCOCCT)e2)C(=0O)Nclcee(F)ecel 1 1
14
slc(cnc1Nclnenc2clec(OC)c(OCCOC)c2)CC(=0O)Nclee(F)cecll 1 15
S(clecc(NC(=0)CC)ccl)cInc(N2CCN(CC2)C(CYC)C)ee(nl)Neln[nH]c(c1)C 1.3
1 16
Fclceee(F)cINC(=O)Nclc[nH]ncl-c1[nH]c2¢(nl)cc(cc2)CNICCOCCT 1.5 1 17
S(clccc(NC(=0)CC)ccl)cInc(N2CCCCC2)cc(nl)Ncln[nH]c(c1)C 1.6 1 18
S(clccc(NC(=0)CCO)ccl)elnc(N2CCN(CC2)C)ec(nl)Neln[nH]Je(c1)C 1.6 1 19
S(clccc(NC(=0)CC)ccl)elnc(N2CCOCC2)ce(nl)Nceln[nH]e(c1)C 1.7 1 20
01¢2ncne(NCCN3CCOCC3)c2c¢(cl-clecceel)-cleccecl 1.766 1 21
Fcle(NC(=0)Cc2[nH]nc(Nc3nencdce3cec(cd)-c3cec(ce3)C(=O)N3CCN(CC3)CCO)e
2)cceclF 1.89 1 22
P(OCCNI1CCN(CC1)C(=0O)clcec(ccl)-clec2nene(Ne3n[nH]ce(c3)CC(=O)Ne3ce(F)c
cc3)c2ccl)(0)(0)=0 1.91 1 23
Fclee(NC(=0)Cc2[nH]nc(Nc3nencde3cce(c4)-c3cec(ce3)C(=0)N3CCN(CC3)CCO)
c2)cccl 1.9299999 1 24
Brelene2[nH]e(nc2c IN1CCN(CC1)Cclnoc(c1)C)-clece(ccl)CNICCOCCT 2 1
25
FC(F)(F)clnc(nccl)/C(/C(=O)N)=C/I\Nc2cc(NC(=O)C3CC3)ccc2N\l 2 1 26
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FC(F)(F)clnc(nccl)/C(/C(=O)N)=C/1\Nc2cc(ccc2N\)CCnlcencl 2 1 27
S\c2ec(ccc2N/C/1=C(\C(=O)N)/cInc(cenl)C(F)(F)F)CN1CCOCC12 1 28
slc(enc1Nclnenc2c1ee(OC)c(OCCCN1CCC[C@H]1CO)c2)CC(=0O)Nclccec(F)clF

2 1 29
O=C1Nc2c(cc3[nH]c-4c(CCCcS5c-4n[nH]c5C)c3c2)C1(C)C2 1 30
FC(F)(F)clnc(ncel)/C(/C(=0)N)=C/1\Nc2cc(NC(=0O)[C@@H]3N(CCCC3)C)ccc2N
M2 1 31
O(C)clece(NC(=0)Nc2cc3NC(=0)/C(/c3cc2)=C\c2[nH]cc(C(0)=0)c2C)ccl

2.0899999 1 32
Fclee(NC(=0)Cc2[nH]nc(Nc3nencde3cce(cd)-c3cec(ce3)C(=O)N3CCN(CC3)CCO)
c2)cc(F)e1 229 1 33
FclcecccINC(=O)Nclc[nH]ncl-cl[nH]c2c(nl)ce(cc2)CNICCOCCI2.8 1 34
Fclee(NC(=0)Cc2[nH]nc(Nc3nencdce3cce(cd)-c3ccc(ce3)C(=O)N3CCN(CC3)CCF)e
2)ccel 2.8599999 1 35
Brclenc(ne1Nclcc2[nH]nec2cc1)Nelee2¢(CS(=0)(=0)C2)ccl 3 1 36
Brclenc(ne1Nclce2ne([nH]c2ccl)C(F)(F)F)Nclee2c(CS(=0)(=0)C2)cc1 3 1 37
Brclenc(ne1Nclce2ne[nH]c2ccl)Nclee2¢(CS(=0)(=0)C2)ccl 3 1 38
Brclenc2[nH]c(nc2c IN1TCCN(CC1)Ccelnoc(c1)C)-cleec(ccl)Cnlncecl 3 1 39
Brclenc2[nH]c(ne2c INICCN(CC1)Celnoc(c1)C)NICCN(CC1)Cnlnceel 3 1

40
Clclenc2[nH]e(nc2c INICCN(CC1)CC(=0O)Nclscenl)-clecec(cc1)CN1CCOCCT 3

1 41
FC(F)(F)clnc(ncel)/C(/C(=O)N)=C/1\Nc2cc(cce2N\1)C(=O)NCCNI1CCOCC1 3

1 42
O1CCN(CC1)CCCOclcc2nenc(Ne3enc(ne3)NC(=0)c3cceec3)c2cclOC 3 1 43
O1CCN(CCI1)Cclee2[nH]e(nc2ecl)-cIn[nH]ccINC(=O)NCICC1 3 1 44
S1(=0)(=0)Cc2cc(Ne3nc(NC=4C=C[C@H]5NCE=N[C@@H]5C=4)C(F)(F)F)c([N+
1(=0)[O-])cn3)ccc2Cl 3 1 45
S\ c2ec(cce2N/C/1=C(\C(=O)N)/cInc(cenl)C(F)(F)F)-c1[nH+]JcenlC 3 1 46
S\ c2ec(ccc2N/C/1=C(\C(=0)N)/c1nc(ccnl)C(F)(F)F)C(=O)N(CCCnlcencl)CC 3

1 47
S\1c2ce(cee2N/C/1=C(\C(=O)N)/c1nc(cenl)C(F)(F)F)C(=O)NCCCN1CCOCC1 3

1 48
S\le2cc(cee2N/C/1=C(\C(=O)N)/cInc(cenl)C(F)(F)F)C(O)=O 3 1 49
slccecc1C(=O)N[n+]1[nH]c2cc(oc2¢1)C(=O)NC(C)(C)clccececl 3 1 50
0lc2nene(NCCCn3cenc3)c2c(cl-clcceecl)-cleccecl  3.3110001 1 51
ClclceceecINC(=0)clcec(Ne2ne(nec2F)Ne2eee(cc2)CC(=O)N2CCN(CC2)CC)ccl

3.4000001 1 52
ClclcceccINC(=0O)clcec(Ne2nc(nec2F)Nc2ceee(cc2)CNCCN2CCNCC2)cecel

3.4000001 1 53
O1CCN(CCl1)Cclee2nc([nH]c2ccl)-cIn[nH]JccINC(=O)clcceecel 3.5 1 54
S(clccc(NC(=0)CC)ccl)cInc(N2CCNCC2)ce(nl)Ncln[nH]c(c1)C 3.7 1 55
Fclee(NC(=0)Cc2[nH]nc(Nc3nencdce3cce(cd)-c3cce(cec3)C(=0O)N3ICCNCC3)c2)cce
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1 3.77 1 56
Brclenc2[nH]c(nc2cINICCN(CC1)Cclnescl)-clececc(OC)ecl 4 1 57
Clclec2e(-c3nc(nec3CN=C2c2c(F)cccc2F)Nce2cec(cc2)C(O)=0O)ccl 4 1 58
Clclenc(ne1Nclece2[nH]e(ne2ceel)C(F)(F)F)NC=1C=C[C@@H]2[ C@@H](C=1)CS(
=0)(=0)C2 4 1 59
FC(F)(F)clnc(ncel)/C(/C(=0)N)=C/1\Nc2cc(N(C(=O)C3CCN(CC3)C)CC)cce2N\1

4 1 60
FC(F)(F)clnc(nccl)/C(/C(=O)N)=C/1\Nc2cc(NC(=0O)Cn3cenc3)ccc2NM 4 1 61
FC(F)(F)clnc(ncel)/C(/C(=O)N)=C/1\Nc2cc(ccc2N\)CCNICCOCCT 4 1 62
FC(F)(F)clnc(nccl)/C(/C(=O)N)=C/1\Nc2cc(cce2N\)Cnleencl4 1 63
FC(F)(F)c1nc(ncc1C(OC)=0)/C(/C(=O)N)=C\1/Nc2c(N/l)cccc24 1 64
O=CIN(c2c(cc3[nH]c-4¢(CCCc5¢c-4n[nH]c5C)c3c2)C1(C)C)CC4 1 65
S1(=0)(=0)Cc2cc(Nc3nc(Nc4ccSNC(=0O)Nc5ced)e([N+](=0)[O-])en3)ccc2Cl 4

1 66
S1(=0)(=0)Cc2cc(Nc3nc(NcdceSnce([nH]cSccd)C(F)(F)F)c(ecn3)C)eec2C1l 4 1

67
S\ ¢2cc(NC(=0)Cn3cene3)cec2N/C/1=C(\C(=0O)N)/cInc(cen1)C(F)(F)F 4 68
S\1c2ce(cce2N/C/1=C(\C(=O)N)/c1nc(cenl)C(F)(F)F)C(=O)N(CCO)CC 4 69
S\ c2ec(ccc2N/C/1=C(\C(=0O)N)/cInc(cenl)C(F)(F)F)C(=O)NCCnlcencl 4 1

70
olc2¢([nH]nc2NC(=0)c2ccc(N3CCCN(C3)C)ec2)cc1C(=O)NCI1(CCl)clcccecl 4

1 71
slc(enc1NcInenc2¢1cc(OC)c(OCCCNICCOCCT)e2)C(=O)Neleceeel 4 1 72
slcc(ncINC(=O)Nclec(ce(cl)C(F)(F)F)CNICCCCI)CCNclnenc2elsee2 4 1

73
sInc(ccINC1=NC(=Cn2clncc2-clen[nH]c1)C)C 4 1 74
sInc(cc INC1=NC(=Cn2clncc2-clen[nH]c1)C)CN(C(CO)(C)C)CC 4 1 75
sInc(ccINC1=NC(=Cn2cIncc2-clen[nH]c1)C)CN(C(CO)C)C)CC(F)(F)F 4 1

76
slnc(ccINC1=NC(=Cn2clncc2-clen[nH
slnc(ccINC1=NC(=Cn2clncc2-clen[nH
slnc(ccINC1=NC(=Cn2clncc2-clen[nH
slnc(ccINC1=NC(=Cn2clncc2-clen[nH
slnc(ccINC1=NC(=Cn2clncc2-clen[nH
slnc(ccINC1=NC(=Cn2clncc2-clen[nH
slnc(ccINC1=NC(=Cn2c1ncc2-clen[nH
slnc(ccINC1=NC(=Cn2c1ncc2-clen[nH
slnc(ccINC1=NC(=Cn2c1ncc2-clen[nH
slnc(ccINC1=NC(=Cn2clncc2-clen[nH

—_

¢1)C)CN(C(CO)(C)C)CC(F)F 4
¢1)C)CNICC(F)(F)C(F)(F)C1 4
¢1)C)CNICC(F)(F)C14 1 79
¢)C)CNICC(F)(F)CC1 4 1 80
¢1)C)CNICC(F)(F)CCCL 4 1 81
¢c)O)CNICC(F)C1 4 1 82
¢1)C)CNICCC(CCL)C(F)YF)F 4 1 83
¢1)C)CNICCC(F)F)CC1 4 1 84
¢1)C)CNICCC(F)CC14 1 85
¢1)C)CNICCCC14 1 86

—_

77
78

—_

sInc(ccINC1=NC(=Cn2clIncc2-clen[nH]c1)C)CNIC[C@@H](F)CC1 4 1 87
sInc(ccINC1=NC(=Cn2cIncc2-clen[nH]c1)C)CNIC[C@@H](F)CCC1 4 1 88
sInc(ccINC1=NC(=Cn2c1ncc2-clen[nH]c1)C)CNCC(F)(F)C(F)(F)F 4 1 &9

— e e e e e e e e e e e e

sInc(ccINC1=NC(=Cn2c1ncc2-clen[nH]c1)C)CNCCC(F)F)F 4 1 90
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sInc(ccINC1=NC(=Cn2clncc2-clen[nH]c1)CC)C 4 1 91
slnc(ccINC1=NC(SC)=Cn2clncc2-clen[nH]c1)C 4 1 92
slnc(ccINC1=NC=Cn2clncc2-clecn[nH]c1)C 4 1 93
FC(F)(F)clnc(ncel)/C(/C(=0)N)=C/1\Nc2cc(NC(=0O)[C@H]3N(CCCC3)C)ccc2N\1
4 1 94
ClclceceecINC(=0O)clcec(Ne2ne(nec2F)Ne2eee(cc2)CC(=O)N2CCN(CC2)C(=0)C)c
cl 43000002 1 95
ClclceccecINC(=0)clcec(Ne2ne(nec2F)Ne2eee(cc2)CNC(=0)CN2CCNCC2)ccel
4.3000002 1 96
Fclee(NC(=0)Cc2[nH]nc(Nc3nencdce3cce(cd)-c3cce(ce3)C(=O)N3CCN(CC3)C3CC
3)c2)ccel  4.6199999 1 97
Brelenc2[nH]c(ne2c IN1ICCN(CC1)Ccelceencl)-clece(cc1)CN1CCOCCI 5 1
98
Brclenc2[nH]c(nc2c INTCCN(CC1)Ccelcenccel)-clecc(cc1)CN1CCOCCI 5 1
99
FC(F)(F)clnc(ncel)/C(/C(=O)N)=C/1\Nc2cc(NC(=O)C3(N)CC3)ccc2N\l 5 1
100
FC(F)(F)clnc(ncel)/C(/C(=O)N)=C/1\Nc2cc(NC(=O)CCCN3CCOCC3)ccc2N\l 5
1 101
FC(F)(F)clnc(nccl)/C(/C(=O)N)=C/1\Nc2cc(ccc2N\)C(O)=0 5 1 102
FC(F)(F)clnc(nccl)/C(/C(=O)N)=C/1\Nc2cc(ccc2N\)CCO 5 1 103
S1(=0)(=0)Cc2cc(Nc3nc(NcedcceSne[nH]cS5ccd)c(F)en3)eec2C1 5 1 104
S\ c2ec(ccc2N/C/1=C(\C(=0)N)/c1nc(ccnl)C(F)(F)F)CCN1CCS(=0)(=0)CC1 5
1 105
S\lc2cc(cee2N/C/1=C(\C(=O)N)/cInc(cenl)C(F)(F)F)Cnlcencl 5 1 106
slc(ecnc1Nclnenc2clec(OC)c(OCCCNCCO)c2)CC(=O)Nclee(F)ceel 5 1
107
slc2¢([nH]ne2NC(=0)c2ccc(N3CCOCC3)cc2)cc1C(=0O)N[C@H](C)cleccecl 5
1 108
slcceccCC(=0)N1Cc2¢([nH]ne2NC(=0)c2cec(cc2)C(CH(C)O)CT 5 1 109
Fclee(NC(=0)Cc2[nH]nc(Nc3nencde3cce(cd)-c3cec(ce3)C(=O)N3CCN(CC3)C)c2)e
ccl 5.0700002 1 110
O1CCN(CC1)Cclee2ne([nH]c2ccl)-cIn[nH]cc INC(=O)NCICCCCC1  5.6999998
1 111
O=C(Nclc[nH]ncl-cl[nH]c2c(nl)ccee2)clcececeel 5.9000001 1 112
Brclenc2[nH]c(nc2c IN1ICCN(CC1)Ccelenenel)-cleec(ccl)CNICCOCCT 6 1
113
Brclenc2[nH]c(nc2c INTCCN(CC1)Ccelnescl)-clcec(cc1)CNICCOCCT 6 1
114
Clclcccec1C(=0O)Nclcee(Ne2ne(nec2F)Nc2eee(O)ee2)ecl 6 1 115
FC(F)(F)clnc(nccl)/C(/C(=O)N)=C/1\Nc2cc(NC(=O)C(N)(C)C)ccc2N\1 6 1
116
FC(F)(F)clnc(nccl)/C(/C(=O)N)=C/1\Nc2cc(NC(=O)C3CCN(CC3)C)ccc2N\l 6
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1 117
FC(F)(F)clnc(ncel)/C(/C(=O)N)=C/1\Nc2cc(NC(=O)CCN3CCN(CC3)C)cce2N\1

6 1 118
FC(F)(F)clnc(ncel)/C(/C(=O)N)=C/1\Nc2cc(ccc2N\1)C(=O)N(CC)clccencl 6 1

119
FC(F)(F)clnc(ncel)/C(/C(=O)N)=C/1\Nc2cc(ccc2N\1)C(=O)N(CCCN1CCOCCI)C
C 6 1 120
O(C[C@@H](O)CNICCCCCI)clee2nene(Ne3enc(ne3)NC(=0)c3cecce3)c2ec10C

6 1 121
O=C(NclIn[nH]c2c1CN(C2)C(=0)[C@H](O)clcccecl)clececc(N2CCN(CC2)C)ecl 6

1 122
S(clecc(NC(=0)C2CC2)ccl)cIne(N2CCN(CC2)C)ec(nl)Nel[nH]ne(c1)C 6 1

123
S\l c2cc(cee2N/C/1=C(\C(=O)N)/cInc(ccnl)C(F)(F)F)C(=O)NCCCnlcencl 6 1

124
S\1c2ce(cee2N/C/1=C(\C(=O)N)/c1nc(cenl)C(F)(F)F)C(=O)NCCNICCOCC1 6

1 125
S\1c2ce(cce2N/C/1=C(\C(=O)N)/cInc(cenl)C(F)(F)F)CCcln(cncl)C 6 1

126
slc(ecnc1NcInenc2c1cec(OC)c(OCCCNICCOCCT)e2)CCcCCo6 1 127
slc2¢([nH]ne2NC(=0)c2ccc(N3CCN(CC3)C)ec2)ecc 1 C(=O)N[C@@H](C)clcceecl

6 1 128
slnc(ccINC1=NC=Cn2clncc2-clcn[nH]c1)C1CCN(S(=0)(=0)C)CC1 6 1

129
S(=0)(=0)(N1CCCCl)clccc(ccl)-clec2nene(Ne3n[nH]c(c3)CC(=0O)Nce3ce(F)cee3)e
2ccl  6.04 1 130
SEO)(=0O)(N1C[C@@H](F)CCl)clcee(ecl)-clee2nenc(Ne3n[nH]e(c3)CC(=0O)Nc3
cc(F)cee3)c2cecl 6.29 1 131
Fclcc(NC(=0)Cc2[nH]nc(Nc3nenc4c3cee(cd)-c3cec(ce3)C(=O)N3C[C@H](N[C@
@H](C3)C)C)c2)cecl 64200001 1 132
FC(F)(F)clnc(nc(N)cl)/C(/C(=O)N)=C\1/Nc2c¢(N/I)ccec2 7 1 133
FC(F)(F)clnc(ncel)/C(/C(=O)N)=C/1\Nc2cc(NC(=O)CCN3CCOCC3)ccc2N\l 7

1 134
FC1(F)CCN(CC1)CCNC(=0O)clcc2N\C(\Nc2ceel)=C(\C(=O)N)/c1nc(cenl)C(F)(F)F

7 1 135
S(=0)(=O)(N1CCCCl)clecc\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(0)=0)C(=0)CCC
3)ccl 7 1 136
S\1¢c2¢(N/C/1=C(\C(=O)N)/cInc(cc(nl)C(F)(F)F)C(C)(C)C)cccc2 7 1 137
S\ c2ec(ccc2N/C/1=C(\C(=O)N)/cInc(cenl)C(F)(F)F)CCN1CCOCC1 7 1

138
S\1c2ce(cee2N/C/1=C(\C(=O)N)/c1nc(cenl)C(F)(F)F)CNICCNCC17 1 139
olc2nenc(N[C@H](CO)c3cccec3)c2e(cl-cleceecl)-clee(NC(=0)C=C)cccl 7 1

140
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Brclenc2[nH]c(ne2c INICCN(CC1)Ccelenenel)-cleec(OC)ecl 8 1 141

Clclenc(nc1Ncelcec(O)ecl)Neleee(O)eel 8 1 142

FC(F)(F)clnc(nc(c1)C)/C(/C(=O)N)=C\1/Nc2¢(N/1)ccce2 8 1 143

FC(F)(F)clnc(ncel)/C(/C(=O)N)=C/1\Nc2cc(NC(=0)CCn3cenc3)ccc2N\l - 8 1
144

FC(F)(F)clnc(nccl)/C(/C(=O)N)=C/1\Nc2cc(ccec2N\ )-clccencl8 1 145

S(=0)(=O)(N)clcc(Nc2ne(cen2)C=2[C@H]3[C@@H](N=CC=C3)N(C=2)CCC)cccl
8 1 146

S(=0)(=0)(N1CCc2clccce2)clec\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(O)=0)C(=0

)JCCC3)ccl 8 1 147

S\ c2ec(ccc2N/C/1=C(\C(=0O)N)/cInc(cenl)C(F)(F)F)C(=O)NICCN(CC1)C 8 1
148

slnc(ccINC1=NC(=Cn2clncc2-clen[nH]cl)clccencl)C 8 1 149

FC(F)(F)clnc(ncel)/C(/C(=O)N)=C/1\Nc2cc(NC(=O)[C@H]3CCN(C3)C)ccc2N\1
8 1 150

Brclenc2[nH]c(nc2c INTICCN(CC1)Cclccencl)-cleec(OC)ecl 9 1 151

Brclenc2[nH]c(nc2c INTICCN(CC1)Ccelcencel)-cleec(OC)ecl 9 1 152

Clc1ecc(NC(=0)Nc2sc(cn2)CCNe2nenc3ce2scc3)cecl 9 1 153

Clclee(NC(=0O)Nc2scc(n2)CCNce2nenc3c2scc3)cccl 9 1 154

FC(F)(F)clnc(nccl)/C(/C(=O)N)=C/1\Nc2cc(N3CCN(CC3)C)ccc2N\l 9 1
155

FC(F)(F)clnc(nccl)/C(/C(=O)N)=C/1\Nc2cc(cce2N\)C(=O)NICCN(CC1)C 9 1
156

FC(F)(F)clnc(nccl)/C(/C(=O)N)=C/1\Nc2cc(ccc2N\DHCO 9 1 157

F[C@@H](C(=O)N1Cc2c([nH]nc2NC(=0)c2ccc(N3CCN(CC3)C)cc2)Cl)cleccecl
9 1 158

FclcececcINC(=0O)clece(Ne2ne(ncc2F)Nc2eee(O)ec2)eel 9 1 159

slc2¢([nH]ne2NC(=0)c2ccc(N3CCN(CC3)C)ec2)ecc 1 C(=O)N[C@H](CC)clccceel
9 1 160

slc2c(ncl-clecce(Ne3nencdc3ec(OC)c(OCCCN3CCN(CC3)C)ed)eclF)ecee2 9 1
161

slcc(ncINC(=O)Nclcc(cec1)C)CCNelnenc2clscc2 9 1 162

Fclee(NC(=0)Cc2[nH]nc(Nc3nencde3cce(cd)-c3cce(ce3)C(=O)N3CCN(CC3)CC3C

C3)c2)cccl 9.5100002 1 163

Brclenc2[nH]c(nc2c IN1ICCN(CC1)Ccelnoc(c1)C)-clccce(N2CCNCC2)ececl 10 1
164

Brclenc2[nH]c(nc2c INTCCN(CC1)Ccelnoc(c1)C)-clececc(cc)CN - 10 1 165

Brclenc2[nH]c(nc2c IN1TCCN(CC1)Ccelnoc(c1)C)-clcee(ccl)CNICCNCC1 10 1
166

Brclenc2[nH]c(nc2c INICCN(CC1)Celnoc(c1)C)NICCNCC1 10 1 167

ClclcccccINC(=0O)clcec(Ne2nc(nec2F)Nc2eec(O)ec2)ecl 10 1 168

Clclenc2[nH]e(nc2c INICCN(CC1)Cclnoc(c1)C)-clece(N2CCN(CC2)C)ecl 10 1
169
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Clclenc2[nH]e(nc2c INICCN(CC1)Cclnoc(c1)C)-clece(ccl)Cnlncecl 10 1
170
Clclenc2[nH]e(nc2c INICCN(CC1)Cclnoc(c1)C)NICCN(CC1HC 10 1 171
Clclenc2[nH]e(ne2cIN1CCN(CC1)Ccelnoc(c1)C)NICCN(CC1)Cnlnceel 10 1
172
FC(F)(F)clnc(ncel)/C(/C(=0)N)=C/1\Nc2cc(NC(=O)CN(C)C)cce2N\1 10 1
173
FC(F)(F)clnc(ncel)/C(/C(=0)N)=C/1\Nc2cc(cce2N\1)C(=O)N(CCCnleenel)CC 10
1 174
FC(F)(F)clnc(nccl)/C(/C(=O)N)=C/1\Nc2cc(cce2N\T)C(=O)N(CCO)CCO 10 1
175
FC(F)(F)clnc(nccl)/C(/C(=O)N)=C/1\Nc2cc(ccc2N\1)C(=O)N1CCNCCl1 10 1
176
FC(F)(F)clnc(ncel)/C(/C(=0)N)=C/1\Nc2cc(cce2N\1)C(=O)N1C[C@H](N)CC1 10
1 177
FC(F)(F)clnc(ncel)/C(/C(=O)N)=C/1\Nc2cc(cce2N\1)C(=O)NCCCN1CCOCC1 10
1 178
FC(F)(F)clnc(nccl)/C(/C(=O)N)=C/1\Nc2cc(ccc2N\)C(=0O)Nclceneel 10 1
179
FC(F)(F)clnc(nccl)/C(/C(=O)N)=C\1/Nc2¢(N/1)ccec2 10 1 180
Fcleee(cc1)C(=0O)Nclc[nH]ncl-c1[nH]c2c(nl)cc(cc2)CNICCOCC110 1 181
S\ c2¢(N/C/1=C(\C(=O)N)/c1Inc(cc(nl)C(F)(F)F)-clccencl)ccec2 10 1 182
S\ c2¢(N/C/1=C(\C(=O)N)/c1nc(cc(nl)C(F)(F)F)C(F)(F)F)cccc2 10 1 183
S\1¢c2¢(N/C/1=C(\C(=O)N)/cInc(cc(nl)C)C(F)(F)F)cccc2 10 1 184
S\ c2c(N/C/1=C(\C(=O)N)/cInc(cc(n1)N)C(F)(F)F)cccc2 10 1 185
S\1c2cc(N)eee2N/C/1=CA\C(=O)N)/cInc(ccnl)C(F)(F)F10 1 186
S\1¢2cc(OCCn3cenc3)ccc2N/C/1=C(\C(=O)N)/cInc(cenl)C(F)(F)F 10 1 187
S\1¢c2ce(S(=0)(=O)NCCN3CCOCC3)ccc2N/C/1=C(\C(=O)N)/c1nc(cenl)C(F)(F)F
10 1 188
S\ c2cec(ccc2N/C/1=C(\C(=O)N)/cInc(cenl)C(F)(F)F)-clccencl1 10 1 189
S\1c2ce(cee2N/C/1=C(\C(=0)N)/c1nc(cenl)C(F)(F)F)C(=O)N(CCCN1CCOCCI1)CC
10 1 190
S\ c2ec(ccc2N/C/1=C(\C(=0)N)/cInc(cenl)C(F)(F)F)C(=O)N1CCC(N)CC1 10 1
191
FC(F)(F)clnc(ncel)/C(/C(=0)N)=C/1\Nc2cc(NC(=0O)[C@H]3CCNC3)ccc2N\1 10
1 192
Clc1ecc(NC(=0)Nc2sce(n2)CCNe2nenc3ce2sce3)ccclF 11 1 193
Clclcec(Ne2nenc3ce2cc(NC(=O)\C=C\CN(C)C)c(O[C@H]2CCOC2)c3)ccclF 11 1
194
slc(cecINcelnene2¢1cec(OC)c(OCCCN1CCOCCT)c2)C(=0)Nclececeel 11 1
195
slc2¢([nH]ne2NC(=0)c2ccc(N3CCOCC3)cc2)cc1C(=0O)NCclcceecl 11 1
196
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Brclenc2[nH]c(ne2c IN1ICCN(CC1)Ccelcee(Cl)eel)-cleec(ccl)CNICCOCC1 12 1
197

O1CCN(CCI1)Cclee2nc([nH]c2¢cl)-cIn[nH]JccINC(=O)Nclcecceel 12 1 198

S(=0)(=0)(Nc1lcc\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(0)=0)C(=0)CCC3)ccl)cle

ccecel 12 1 199

slc(ecnc1Nclnenc2clec(OC)c(OCCCNICCC(CC1)CO)c2)CNS(=0)(=0O)clcc(F)ccecl
12 1 200

Fclenc(nelNclcec(ce1)C(=O)Ncleee(O)ecl)Neleee(O)ecl 13 1 201

O([C@@H](C(=O)N1Cc2¢c([nH]nc2NC(=0)c2ccc(N3CCN(CC3)C)ec2)Cl)cleccecl

)C 13 1 202

O1CCN(CCI1)Cclee2ne([nH]c2¢cl)-cIn[nH]ccINC(=O)Ncleeencl 13 1 203

slc2¢([nH]ne2NC(=0)c2ccc(N3CCN(CC3)C)ec2)ecc 1 C(=O)N[C@H](C)clcceeel 13
1 204

slccec1CC(=0O)Nclcc2e([nH]ne2\C=C/c2ccc(NC(=O)N3CCN(CC3)C)ec2)cclC 13
1 205

slccec1CC(=0O)Ncelcc2e([nH]ne2\C=C\c2cc(NC(=O)N3CCN(CC3)C)ccc2)cclC 13
1 206

S(=O)(NICCN(CC1)C)clcec(ccl)-clec2nenc(Ne3n[nH]c(c3)CC(=0O)Ne3ce(F)cee3)

c2ccl 1394 1 207

Brclenc2[nH]c(ne2c IN1ICCN(CC1)Cclnoc(c1)C)-clece(cel)-clec(cec1)C(=0)C 14
1 208

Brclenc2[nH]c(nc2c INTICCN(CC1)Cclnoc(c1)C)-clecc(cc )CN(C)C 14 1
209

FC(F)(F)clenc(nc1Nclcee(O)ccl)Neleee(O)eel 14 1 210

Fcleee(cel)CNIN=C(Nc2n[nH]c(c2)C)c2c(cccc2)C1=0 14 1 211

Fclceceec1C(=0O)Nclece(Ne2ne(ncc2F)Nc2eee(O)ec2)ecl 14 1 212

Fclenc(ne1Nclcec(ce1)C(=O)Ncleec(OC)eccl)Neleee(O)ecl 14 1 213

S(=0)(=O)(N1CCCCCl)clecc\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(0)=0)C(=0)CC

C3)ecl 14 1 214

[nH]Inc(Nce2ne(nc(N3CCN(CC3)C)c2)\C=C\c2cccec2)eclCl4 1 215

slc2c(ncl-clecece(Ne3nencdc3ec(OC)c(OCCCN3CCN(CC3)C)ed)ecl)ececec2 14 1
216

sInc(cc INC1I=NC(NN2CCCC2=0)=Cn2clIncc2-clen[nH]c1)C 14 1 217

Brelene2[nH]e(nc2c IN1CCN(CC1)Cclnoc(c1)C)-clece(N2CCN(CC2)C)ecl 15 1
218

Brclenc2[nH]c(nc2c INTCCN(CC1)Celnoc(c1)C)NICCN(CC1H)C 15 1 219

Brelene2ne([nH]c2c IN1CCN(CC1)Cclnoc(c1)C)-clece(N2CCN(CC2)C)ecl 15 1
220

Brclenc2[nH]c(ne2c IN1ICCN(CC1)CC(=0)Nclscenl)-cleecc(cc1)CN(C)C 16 1
221

O(clIncececl-clnc(ncc1)NC)elecc(NC(=O)c2ccecce2Nc2eccec2)eel 16 1 222

OC(=0O)clInn(c-2c1CCclc-2nc(ncl)Nelccececl)C 16 1 223

Brclenc2[nH]c(nc2c IN1ICCN(CC1)Ccelnoc(c1)C)-clcecc(OC)ecl 17 1 224
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O1CCN(CC1)CCCOclcce2nenc(Ne3enc(ne3)NC(=0O)CCCC)c2cclOC 17 1
225
O=CIN(N=C(Nc2n[nH]Jc(c2)C)c2clcccc2)Cclecenel 17 1 226
O=CIN(N=C(Nc2n[nH]c(c2)C)c2clcccc2)Cclenencl 17 1 227
S1[C@@H]2[C@@H](N=CN=C2NCCC(\C=C/C(Nc2[nH]c(N)c(n2)\C=C(\C(F)(F)F
)/C)=C)=C)C=Cl 17 1 228
slc2c(necnc2NCCc2ccc(Nc3[nH]cdncee(ccdn3)C(F)(F)F)cc2)eel 17 1 229
slccec1CC(=0O)Nclec2e([nH]nc2\C=C\c2cccee2)ec1C 17 1 230
sInc(cc INC1=NC(=C[NH+]2C1=NC=C2clcn[nH]c1)CICC1)C 17 1 231
Fclenc(nelNclcee(NC(=O)c2ccccc2)ec])Neleee(O)ecl 18 1 232
01C2n3c4c(c5c(CNC5=0)c5c6c(n(c45)[C@]1(C)[C@H](OC)[C@H](NC)C2)cccch)
clc3cceel 18 1 233
slc2c([nH]nc2NC(=0)c2ccc(N3CCN(CC3)C)ec2)ec1C(=O)N[C@H](CN1CCOCC1)
clceeccl 18 1 234
slc2¢([nH]ne2NC(=0)c2ccc(N3CCOCC3)cc2)cc 1IC(=O)N[C@H](CN1CCCCl)clee
cccl 18 1 235
Fcle(NC(=0)Cc2[nH]nc(Nc3nencde3cc(OC)c(OCCCN(CC(C)C)CCO)cd)c2)cccclF
18 1 236
Fclenc(nelNclcee(cc1)C(=O)Nclee(O)cecl)Neleee(O)ecl 19 1 237
Fclenc(nelNclcee(ec1)C(=O)Ncleeceel)Nclcee(O)eel 19 1 238
O(clInceecl-clnc(nec1)NC)elc2e(cccc2)c(Ne2[nH]c3c(n2)ceec3)ecl19 1 239
O=C(Nclcc2e([nH]nc2\C=C\c2cccee2)cc1C)Celececec1 19 1 240
CNC(=C\cInc([nH]cIN)NCO\C=C/C(CCNclncnc2clscc2)=C)=C)\C 20 1 241
Clclec(Ne2nenc3c2cc(OCCCN2CCOCC2)c(0OC)e3)eccclF 20 1 242
Clclece2ne([nH]e2ne1)Neleee(ee1)CCNelnenc2clscc2 20 1 243
Clclenc2[nH]e(ne2cIN1CCN(CC1)Cclnoc(c1)C)-clcec(OCCO)ecl 20 1 244
FC(F)(F)clnc(ncel)/C(/C(=0)N)=C/1\Nc2cc(N(C(=O)CN(CC)CC)CC)cce2N\1 - 20
1 245
FC(F)(F)clnc(ncel)/C(/C(=O)N)=C/1\Nc2cc(N(CC)C(=O)N3CCCCC3)ccc2N\1 20
1 246
FC(F)(F)clnc(nccl)/C(/C(=O)N)=C/1\Nc2cc(cce2N\l )-clnceec120 1 247
FC(F)(F)clnc(ncel)/C(/C(=O)N)=C/1\Nc2cc(ccc2N\1)C(=O)N1CCC(N)CC1 20 1
248
FC(F)(F)clnc(ncel)/C(/C(=O)N)=C/1\Nc2cc(ccc2N\1)C(=O)NCCCNICCN(CC1)C
C 20 1 249
FC(F)(F)c1nc(nccl)/C(/C(=O)N)=C/1\Nc2cc(ccc2N\)C(=0)NCCCnlcencl 20 1
250
FC(F)(F)clnc(ncel)/C(/C(=O)N)=C/1\Nc2cc(ccc2N\1)C(=0O)Nclcec(cc )CN1CCOC
Cl 20 1 251
FC(F)(F)c1nc(ncc1C(=O)NCCNI1CCOCCI1)/C(/C(=0)N)=C\1/Nc2cc(C)e(ce2N/1)C
20 1 252
Fclenc(nelNclcee(cc1)C(=O)Ncleecec1C)Neleee(O)ecl 20 1 253
Fclenc(nelNclccececc1OC)Ncleee(O)eel 20 1 254
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S1(=0)(=0)Cc2cc(Nc3nc(Nc4ceSne([nH]cS5ccd)C(F)(F)F)ecen3)eec2Cl 20 1
255
S\I[C@@H2[C@@H](N/C/1=C(\C(=O)N)/cInc(ccnl)C(F)(F)F)C=CC(=C2)CCclc
ccnel 20 1 256
S\1¢c2¢(N/C/1=C(\C(=O)N)/cInc(C(F)(F)F)c(cn1)C(O)=0O)cccc220 1 257
S\1¢c2¢(N/C/1=C(\C(=O)N)/cInc(C(F)(F)F)c(cnl1)C(OC)=O)cccc2 20 1 258
S\1¢c2¢(N/C/1=C(\C(=O)N)/cInc(cc(OC)n1)C(F)(F)F)ccee2 20 1 259
S\1¢c2¢(N/C/1=C(\C(=O)N)/cInc(ccnl)C(F)(F)F)cc(OCCNICCOCCl)cc2 20 1
260
S\1¢c2cc(C(=O)NCCCN3CCOCC3)c(F)cc2N/C/1=C(\C(=0O)N)/c1nc(ccn1)C(F)(F)F
20 1 261
S\1¢c2cc(N3CCC(N4CCOCC4)CC3)cecc2N/C/1=C(\C(=O)N)/cInc(cenl)C(F)(F)F 20
1 262
S\1¢c2ce(NC(=0O)CN(C)C)ccc2N/C/1=C(\C(=O)N)/cInc(cen)C(F)(F)F 20 1
263
S\1¢2cc(OCCN3CCOCC3)cce2N/C/1=C(\C(=O)N)/cInc(cenl)C(F)(F)F 20 1
264
S\1¢c2ce(S(=0)(=O)N3CCN(CC3)C)ccc2N/C/1=C(\C(=O)N)/c1nc(ccn1)C(F)(F)F 20
1 265
S\1¢c2ce(S(=0)(=O)NCCCN3CCOCC3)cce2N/C/1=C(\C(=O)N)/c1nc(cenl)C(F)(F)F
20 1 266
S\ c2ec(ccc2N/C/1=C(\C(=0O)N)/c1nc(cenl)C(F)(F)F)C(=O)N1CCNCC120 1
267
S\l c2cc(cee2N/C/1=C(\C(=O)N)/cInc(cen1)C(F)(F)F)C(=O)NI1C[C@H](N)CC1 20
1 268
S\1c2ce(cce2N/C/1=C(\C(=O)N)/c1nc(cenl)C(F)(F)F)C(=O)NCICCNCC1 20 1
269
S\1c2ce(cce2N/C/1=C(\C(=O)N)/c1nc(cenl)C(F)(F)F)C(=O)NCCCNICCN(CCI1)CC
20 1 270
S\1c2ce(cee2N/C/1=C(\C(=O)N)/c1nc(cenl)C(F)(F)F)C(=O)NCCNI1CCN(CC1)C20
1 271
S\ c2ec(ccc2N/C/1=C(\C(=0O)N)/cInc(cenl)C(F)(F)F)CCN1CCSCC1 20 1
272
S\l c2cc(cee2N/C/1=C(\C(=O)N)/cInc(cenl)C(F)(F)F)CCcl[nH+]cenlC 20 1
273
S\lc2cc(cee2N/C/1=C(\C(=O)N)/cInc(cenl)C(F)(F)F)CCnlcencl 20 1 274
S\1c2ce(cee2N/C/1=C(\C(=O)N)/c1nc(ccnl)C(F)(F)F)CN1CCN(CC1)C 20 1
275
FC(F)(F)clnc([nH+]cc1)/C(/C(=0)N)=C/1\Nc2cc(NC(=0)[ C@@H]3CCNC3)ccc2N\
1 20 1 276
FC(F)(F)clnc(nccl)/C(/C(=O)N)=C/1\Nc2cc(N(C(=0)[C@@H]3N(CCC3)C)CC)ccc
2N\ 20 1 277
S(=0)(=O)(N(C)C)clcc\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(0)=0)C(=0)CCC3)c
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cl 21 1 278
O=C(Nclcc2e([nH]nc2\C=C\c2cccee2)ecl)Celecceel 22 1 279
O=C(Nclccc(ecl)-clnn(ccl-clc2ec([nH]c2necl)-clec(cecc1)CN1CCCC1)CC)Nelcece
ccl 22 1 280
O=C(Nclccc(ecl)-clnn(ccl-clec2ec([nH]c2necl)-cleee(ccl)CN1CCCCIT)CC)Nelcece
ccl 22 1 281
O=C(Nclcce(cel)-clnn(cclC=1[C@H2[C@@H](NC(=C2)c2cc(ccc2)CN2CCCC2)
N=CC=1)CC)Nclccccel 22 1 282
slc(ecncINC(=O)Nclcc(cecl)C(F)(F)F)CCNclnenc2clscc2 22 1 283
slcc(ncINC(=O)Nclcc(cecl)C(F)(F)F)CCNclnenc2clscc2 22 1 284
sInc(ccINC1=NC(SCC)=Cn2clncc2-clen[nH]c1)C 22 1 285
O1CCN(CClI1)Cclcce(eel)-cl[nH]c2ncee(c2cl)-clen(ncl-cleccc(NC(=O)NCC)ecl)C
C 23 1 286
OICCN(CC1)Cclcee(eccl)C=IN[C@H]2N=CC=C([C@@H]2C=1)clcn(ncl-clccc(
NC(E=O)NCC)eel)CC 23 1 287
Oclcce(Ne2ne(nec2C#N)Ne2eee(O)ec2)eel 23 1 288
slcc(ncINC(=O)Nclcc(F)ccel)CCNcelnenc2clsce223 1 289
O=CIN(N=C(Nc2n[nH]c(c2)C)c2clccecc2)clece(cc)C 23 1 290
Clclee2nc(sc2ecl)-clecc(Ne2nene3c2ec(OC)c(OCCCN2CCN(CC2)C)c3)ecl24 1
291
O=C(NclIn[nH]c2c1CN(C2)C(=0O)[C@H](C)clccceel)clecc(N2CCN(CC2)C)ecl 24
1 292
O=CIN(N=C(Nc2n[nH]Jc(c2)C)c2clccee2)clec(cecl)C 24 1 293
Fclenc(nelNclcec(ce1)C(=O)Nclece(F)ecl)Ncleee(O)ecl 25 1 294
slc2c([nH]nc2NC(=0)c2ccc(N3CCOCC3)cc2)cc IC(=O)N[C@H](CN1CCOCCl)clc
cccel 25 1 295
Fcleee(F)ccICNIN=C(Nc2n[nH]c(c2)C)c2c(ccec2)C1=0 25 1 296
O1CCC(NC(=0O)Nc2c[nH]nc2-c2[nH]c3c(n2)cc(cc3)CN2CCOCC2)CCI 26 1
297
slc2c(ncl-clec(F)c(Ne3nencdce3cc(OC)c(OCCCN3CCN(CC3)C)cd)ecl)ccec2 26
1 298
slc2cc(F)ece2nel-clecc(Ne2nene3c2cc(OC)c(OCCCN2CCN(CC2)C)e3)eel 26 1
299
Clclec(Ne2nenc3ce2cc(OC)c(OCCCN2CCN(CC2)C)e3)cecl-clsc2e(nl)cecc227 1
300
O=C(NcIn[nH]c2c1CN(C2)C(=0O)Nclc(cccc1CC)CC)clece(N2CCN(CC2)C)ecel 27
1 301
slc2c([nH]nc2NC(=0)c2ccc(N3CCN(CC3)C)ec2)cc 1 C(=O)N[C@H](CN1CCCCl)c
Icceeel 27 1 302
slnc(ccINC1=NC(=Cn2clncc2-clen[nH]c1)C(F)(F)F)C 27 1 303
CINC(=C\cInc([nH]c1C)NCO\C=C/C(CCNclncnc2clscc2)=C)=C)\C 28 1 304
Clclee2ne([nH]c2cc1)Ncelcec(cc1)CCNelnenc2clscc2 28 1 305
Fclenc(nelNclcee(cc1)C(=O)Ncleeccec10)Neleec(O)eel 28 1 306
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s1c2¢(nenc2NCCCO\C=C/C(Nc2[nH]c(C)c(n2)\C=C/C)=C)=C)ccl 28 1 307
slc2c(nenc2NCCce2ccc(Ne3[nH]c4c(n3)cceed)cc2)ecl 28 1 308
O(clc2e(ceec2)c(Ne2[nH]e3c(n2)cecee3)ec1C)elnecccl-clne(ncc)NC - 29 1
309
S(=0)(=O0)(N1CCOCC1)clecc\2¢(NC(=0)/C/2=C\c2[nH]c3¢c(c2CCC(0)=0)C(=0)C
CC3)ccl 29 1 310
O(C)clcece(N2N=C(Nc3n[nH]c(c3)C)c3c(ccee3)C2=0)ccl 29 1 311
Brclenc2[nH]c(nc2c IN1ICCN(CC1)Celncen1C)-cleec(cc1)CNICCOCCT 30 1
312
Brclenc2[nH]c(nc2c INTICCN(CC1)Cclnoc(c1)C)-clecc(OCCO)ecl1 30 1 313
Clc1ce2N/C(/Nc2ecl F)=C(/C(=O)N)\cInc(ccn)C(F)(F)F 30 1 314
FC(F)(F)clnc(nccl)/C(/C(=O)N)=C/1\Nc2cc(ccc2N\1)C(OC)=030 1 315
FC(F)(F)c1nc(ncc1C(=O)NCCNI1CCOCCI1)/C(/C(=O)N)=C\1/Nc2c(N/1)ccee2 30
1 316
Felce(F)ee2N/C(/Nc12)=C(/C(=O)N)\cInc(cen)C(F)(F)F 30 1 317
Fclenc(nelNclcec(O)ecl)Neleee(O)eel 30 1 318
O=C(N)clnn(c-2c1CCclc-2nc(ncl)Nclcc(N2CCN(CC2)C)ecec])C 30 1 319
S(=0)(=O)(N)clcc(Ne2ne(cen2)C=2[C@H]3[C@@H](N=CC=C3)N(C=2)CC)cccl
30 1 320
S\ c2¢(N/C/1=C(\C(=O)N)/c1Inc(ccnl)C(F)(F)F)ccec2 30 1 321
S\1¢c2ce(N(CCN3CCCCC3)C)cce2N/C/1=C(\C(=0)N)/cInc(cen])C(F)(F)F 30 1
322
S\1¢2cc(N3CCC(N4CCCCC4)CC3)ccc2N/C/1=C(\C(=0O)N)/cInc(cen])C(F)(F)F 30
1 323
S\1¢c2cc(N3CCN(CC3)C)cce2N/C/1=C(\C(=O)N)/cInc(cenl)C(F)(F)F 30 1
324
S\1c2cc(NCCN3CCOCC3)cce2N/C/1=C(\C(=O)N)/cInc(cenl)C(F)(F)F 30 1
325
S\1¢2cc(OCCCN3CCOCC3)ccc2N/C/1=C(\C(=O)N)/cInc(cen1)C(F)(F)F 30 1
326
S\ c2cc(S(=0)(=O)N3CCNCC3)cce2N/C/1=CA\C(=O)N)/cInc(cen])C(F)(F)F 30
1 327
S\ c2ec(ccc2N/C/1=C(\C(=0O)N)/cInc(cenl)C(F)(F)F)C(=O)NCCCN 30 1
328
S\1c2cee(cce2N/C/1=C(\C(=O)N)/c1nc(cenl)C(F)(F)F)C(=O)NCCN 30 1 329
S\1c2ce(cee2N/C/1=C(\C(=O)N)/c1nc(cenl)C(F)(F)F)CCN1CCC(F)(F)CC1 30 1
330
slcc(ncINC(=O)Nclc2[nH]ccc2eccl)CCNelnenc2elsec2 30 1 331
sInc(ccINC1=NC(S(=0)C)=Cn2clncc2-clen[nH]c1)C 30 1 332
S(=0)(=O)(NC)clcc\2¢(NC(=0)/C/2=C\c2[nH]c3¢c(c2CCC(O)=0)C(=0)CCC3)ccl
31 1 333
slc2¢([nH]ne2NC(=0)c2ccc(N3CCN(CC3)C)ec2)ec 1 C(=O)N[C@@H](CC)clecece
1 31 1 334
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O=CIN(N=C(Nc2n[nH]c(c2)C)c2clccee2)cleceecd 31 1 335
Brclenc2[nH]c(nc2c INICCN(CC1)CelncenlC)-cleec(OC)ecl 32 1 336
O(C)clcee(ccl)CNIN=C(Nc2n[nH]c(c2)C)c2c(cccc2)C1=032 1 337
slc2c([nH]ne2NC(=0)c2ccc(N3CCN(CC3)C)ec2)cc1C(=0O)NCcleceeel 32 1
338
O(C)cleee(cc\C=N\Nc1[nH]nc(C)c1C(=0)Nclcc(NC(=O)C)cccl 33 1 339
Oclcce(Ne2ne(nec2C)Ne2eee(O)ec2)ecl 34 1 340
S(=0)(=0)(Nc1lcc\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(0)=0)C(=0)CCC3)ccl)CC
34 1 341
O=CIN(N=C(Nc2n[nH]Jc(c2)C)c2clcccc2)C(C)C 35 1 342
S(=0)(=0)(Nclcc2e([nH]nc2\C=C\c2cccee2)cel)Celeccecl35 1 343
slccecc1CC(=0)Nclec2e([nH]nc2\C=C/c2ccc(cc2)CN2CCN(CC2)C)ecl 35 1
344
slccec1CC(=0O)Ncelcec2e([nH]ne2\C=C\c2cc(ccc2)CN2CCN(CC2)C)ecl 35 1
345
Fclenc(nelNclcec(ce1)C(=O)Nclec(OC)cccl)Neleec(O)eel 36 1 346
O(C)clce(cec)CNIN=C(Nc2n[nH]c(c2)C)c2c(cccc2)C1=036 1 347
Fcleee(N2N=C(Nc3n[nH]c(c3)C)c3c(ccec3)C2=0)ccl 37 1 348
S1(=0)(=0)Cc2cc(Nc3nc(NcdceSnc[nH]cS5ccd)een3)ecc2Cl 38 1 349
Clclcee(NC(=0)Nc2sce(n2)CCNe2nenc3c2sce3)eccl 39 1 350
O=C(Nclccc(ecl)-clnn(ccl-clc2ec([nH]c2necl)-cleee(ccl)CN(C)C)CC)NCC 39
1 351
S(=0)(=0)(CC=C)clcc\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(0)=0)C(=0)CCC3)cc
1 39 1 352
Brelene2[nH]c(nc2c INTCCN(CC1)Cceleee(Cl)ecl)-cleec(OC)ecl 40 1 353
FC(F)(F)clnc(ncc1C(=O)NCCCNI1CCOCCI)/C(/C(=0O)N)=C\1/Nc2cc(C)e(ce2N/1)
C 40 1 354
Fclee2N\C(\Nc2cec 1 F)=C(/C(=O)N)\cInc(cenl)C(F)(F)F 40 1 355
S\ c2¢(N/C/1=C(\C(=O)N)/c1Inc(cc(nl)C(F)(F)F)-cInccccl)ccec2 40 1 356
S\1¢2cc(OCCCN3CCN(CC3)C)cee2N/C/1=C(\C(=0O)N)/cInc(cenl)C(F)(F)F 40 1
357
S\ c2cc(OCCN(C)C)ecee2N/C/1=CA\C(=O)N)/cInc(cen])C(F)(F)F 40 1 358
S\1¢2cc(OCCN3CCN(CC3)C)ecc2N/C/1=C(\C(=O)N)/cInc(ccnl)C(F)(F)F 40 1
359
S\l ¢2cc(Oc3ccene3)ece2N/C/1=C(\C(=O)N)/cInc(cen)C(F)(F)F 40 1 360
slc2c(nenc2NCCC(\C=C/C(Nc2[nH]c(C)e(n2)\C=C(\C(F)(F)F)/C)=C)=C)ccl 40
1 361
slc2c(necnc2NCCc2ccc(Ne3[nH]cdce(n3)cc(ccd)C(F)(F)F)cc2)eel 40 1 362
Fcleee(ecl)-c1nne(Ne2cec(Oc3nccec3-c3nc(nee3)NC)ec2)e2clecee2 41 1
363
olccec1C(=0O)N1Cc2¢([nH]ne2NC(=0)c2cee(cc2)C(CHC)C)C1 41 1 364
slcc(ncINC(=O)Nclcc(cecl)CHC)CCNelnenc2clscc2 41 1 365
Clclenc2[nH]e(nc2c INICCN(CC1)CC(=0O)Nclscenl)-clecce(N(C)C)ecl 42 1
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366
FC(F)(F)Cnlnc(c2CCc3c(nc(nc3)Nc3cceee3)-c12)C(=O)N 42 1 367
FC(F)(F)clee(Ne2ne(nec2)Ne2ee(NC(=0)C3CC3)cec2)ccecl 42 1 368
O(C)cleec(OC)cc1CC(=0)Nelec2e([nH]ne2\C=C\c2cccec2)eclC 42 1 369
O=C(Nclccc(eel)-clnn(ccl-clec2ec([nH]c2neel)-clece(ccl)CN1CCCCT)CC)NCC
42 1 370
O=C(Nclccc(eel)-clnn(ccl-cle2ec([nH]c2necl)-clece(cc1C)CN(C)C)CC)Neleceee
1 42 1 371
[nH]Inc-2¢(CCCc3c-2[nH]c2c3ccec2)clC 42 1 372
olc2nenc(NCCe3cce(NC(=O)Ncdeeeeed)cc3)c2e(cl-cleccecl)-clececc143 1
373
slc(ecnc1NcInenc2clcec(OC)c(OCCCNICCOCCI)e2)C 43 1 374
O(CCCNICCN(CC)CCO)clec2ec([nH]c2ccl)-c1¢2¢(CNC2=0O)cccl 44 1 375
slc(-c2nc(ncc2)Nc2eec(N3CCOCC3)ec2)ec(ncIN)C44 1 376
slc2c([nH]nc2NC(=0)c2ccc(N3CCN(CC3)C)ec2)ccIC(=0)NC(C)(C)clecceel 44
1 377
O=C(Nclccc(ecl)-clnn(ccl-cle2ec([nH]c2necl)-clecc(cel)CN(C)C)CC)Neleeeeel
45 1 378
slc2¢([nH]ne2NC(=0)c2ccc(N3CCN(CC3)C)ec2)eccl1C(=O)NC1CCCc2clcecc2 45
1 379
sInc(ccINC1=NC(=Cn2cIncc2-clen[nH]c1)C)CI(N2C[C@H](O[C@H](C2)C)C)C
Cl 45 1 380
sInc(ccINC1=NC(=Cn2clncc2-clen[nH]c1)CE#N)C 46 1 381
O=C(N1CCNCCl)clcce(cc ) )\C=C\C1=NN[C@H]2[C@H]1C=CC=C2 48 1
382
O=C(NICCNCCl)clccc(cc1)\C=C\cIn[nH]c2clccec2 48 1 383
slc2c([nH]ne2NC(=0)c2ccc(N3ICCN(CC3)C)ec2)cc1C(=0)NC(clcceecl)cleccecl
48 1 384
slc2¢([nH]ne2NC(=0)c2ccc(N3CCN(CC3)C)ec2)eccIC(=O)NCC 48 1 385
Fclenc(nelNclcee(cc1)C(=O)NCCC)Nclcee(O)ecl 49 1 386
Fclee(ce(F)cl)CNIN=C(Nc2n[nH]c(c2)C)c2c(ccec2)CI=0 49 1 387
FC(F)(F)clnc(nccl)/C(/C(=O)N)=C/1\Nc2cc(ccc2N\)C(=O)NCCCN 50 1
388
Fclenc(nelNclcec(ce1)C(=O)Nclee(cccl1)C)Neleee(O)eel 50 1 389
O=C(N)clnn(c-2c1CCclc-2nc(ncl)Nclccecec)C 50 1 390
S(=0)(=0)(N)clcc(Nc2nc(cen2)-c2¢3c(n(c2)CCC)enecc3)ceccl 50 1 391
S\1¢c2¢(N/C/1=C(\C(=O)N)/c Inc(C(F)(F)F)c(cn1)C(=O)NCCN1CCOCCl)ccee2 50
1 392
S\1¢c2¢(N/C/1=C(\C(=O)N)/c1nc(cc(OCCN3CCOCC3)n1)C(F)(F)F)ccee2 50 1
393
S\ c2cc(NC(=0)CN)ccc2N/C/1=C(\C(=O)N)/cInc(cen)C(F)(F)F 50 1 394
S\1c2ce(cee2N/C/1=C(\C(=O)N)/c1nc(cenl)C(F)(F)F)CC(=O)NCCCN1CCOCC1 50
1 395
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slcc(ncINC(=0O)Nclcc(OC)cecl)CCNelnenc2clscec2 50 1 396
s1cencINC(=O)CN1CCN(CC1)cle2ne([nH]c2ncc 1C#N)-cleccc(N(C)C)eel 50 1
397
sInc(ccINC1=NC(=Cn2cIncc2-clen[nH]c1)CNICCOCCI)C 50 1 398
Fclenc(nelNclcee(cel)C(=O)NC(C)C)Neleee(O)ecl 51 1 399
O1CCN(CCl)cleecc(Ne2ne-3¢(CCe4ce-3n(nc4C(=0)N)C)en2)ccl 51 1 400
[nH]Inc-2¢(CCc3c-2[nH]c2¢3ceec2)c1C 51 1 401
Clclene2[nH]c(nc2¢ INTCCN(CC1)CC(=0O)Nclscenl)-clece(OC)ecl 52 1
402
Fclee(Ne2nence3c2ec(ce3)CH#CO)eecl 52 1 403
slc(cncINC(=O)Nclcceec1)CCNelnenc2clscc2 52 1 404
slc2¢([nH]ne2NC(=0)c2ccc(N3CCN(CC3)C)ec2)cclC(=O)NC1CCc2clccec2 52
1 405
slcc(ncINC(=O)Nclceccecl)CCNcelnene2elsce2 52 1 406
O=C(N)clnn(c-2c1CCclc-2nc(ncl)Nclccc(N2CCN(CC2)C)ec1)C 53 1 407
O=C(Nclccc(ecl)-clnn(ccl-cle2ec([nH]c2necl)-clec(ccecl)CN(C)C)CC)Neleeeeel
53 1 408
slcc(ncINC(=O)Nclee(ce(cl)C(F)(F)F)CCNICCCI)CCNclnenc2elsec2 53 1
409
s1cencINC(=O)CN1CCN(CCl1)cle2ne([nH]c2ncc1C1CCI)-cleec(OC)ecl 53 1
410
Clclec2sc(nc2ecl)-clecc(Ne2nene3c2ec(OC)c(OCCCN2CCN(CC2)C)e3)ecl 54 1
411
Fclenc(nelNclcee(cel)C(=O)NCICCI1)Neclcee(O)ecl 54 1 412
Brclenc2[nH]c(nc2c IN1ICCN(CC1)CC(=0)Nclscenl)-clecc(N(C)C)ecl 55 1
413
Brelene2[nH]c(nc2c IN1ICCN(CC1)Ccleencel)-clecce(N(C)C)ecl 55 1 414
Clelenc2[nH]e(ne2cIN1CCN(CC1)Cclnoc(cl)C)-clcece(ccl)CN - 55 1 415
slc(ecnc1NcInenc2c1cc(OC)c(OCCCNICCOCCT)e2)CC(=O)N(CC)cleccecl 55 1
416
S(=0)(=0)(C)clccc(ccl)CNIN=C(Nc2n[nH]c(c2)C)c2c(ccec2)C1=0 56 1
417
S(=0)(=0)(CC)clcc\2¢(NC(=0)/C/2=C\c2[nH]c3¢c(c2CCC(0)=0)C(=0)CCC3)ccl
57 1 418
O=C(Nclccc(eel)-clnn(ccl-cle2ec([nH]c2neel)-clec(cccl)CN1CCCCT)CC)NCC
58 1 419
Fclenc(nelNclcec(ce1)C(=O)Nclee(F)cecl)Ncleee(O)ecl 59 1 420
OICCN(CC1)Cclcee(eccl ) C=IN[C@H]2N=CC=C([C@@H]2C=1)clcn(ncl-clcecc(
NC(=0O)Nc2ccecee2)ecl)CC 59 1 421
slc2¢([nH]ne2NC(=0)c2ccc(N3CCN(CC3)C)ec2)ccIC(=O)NC(C)C 59 1 422
FC(F)(F)clnc(nccl)/C(/C(=O)N)=C/1\Nc2cc(NC(=O)CN(CC)CC)ccc2N\l 60 1
423
FC(F)(F)clnc(ncel)/C(/C(=O)N)=C/1\Nc2cc(ccc2N\1)C(=O)NCICCNCC1 60 1
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424
FC(F)(F)c1nc(ncc 1C(=O)NCCCN1CCOCC1)/C(/C(=O)N)=C\1/Nc2c(N/1)cceec2 60
1 425
O(clIncececl-cle[nH]nc1N)clcec(Ne2nne(e3c2cccc3)-c2ecc(cc2)C)ecl 60 1
426
S\1¢c2¢(N/C/1=C(\C(=O)N)/cInc(ccnl)C(F)(F)F)cccc2C(=O)NCCCNI1CCOCC1 60
1 427
slc2c(ncl-clcece(Ne3nencdc3ec(OC)c(OCCCN3CCN(CC3)C)ed)ecl)ec(ce2)C(F)(F)
F 60 1 428
S\1c2cc(NC(=0)[C@H]3CCN(C3)C)ccc2N/C/1=CA\C(=O)N)/c1Inc(ccn1)C(F)(F)F
60 1 429
O(CCCNICCC(O)CCl)clec2ee([nH]c2ccl)-c1c2c(CNC2=0)cccl 61 1 430
S(=0)(=0)(N)c1cc\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(O)=0)C(=0)CCC3)ccl 61
1 431
O(clcee(NC(=0O)c2ccecec2Nce2eceec2)cclC)clneecel-clnc(necl)NC 62 1 432
O=C(Nclccc(cecl)-cl[nH]c2ncee(c2cl)-clen(ncl-clecc(NC(=O)Nc2cccee2)cc1)CC)
C 62 1 433
slc2cc(OC)cec2nel-cleecc(Ne2nenc3c2ec(OC)c(OCCCN2CCN(CC2)C)e3)ccl 62
1 434
S(=0)(=0)(Nc1cc\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(0)=0)C(=0)CCC3)ccl)Cec
Iccceecl 63 1 435
Clclcec(NC(=0)c2ccc(Ne3nc(nee3F)Ne3cec(O)ee3)ec2)ecl64 1 436
s1c2¢(nenc2NCCCOA\C=C(\F)/C(Nc2[nH]c(C)c(n2)\C=C(\C(F)(F)F)/C)=C)=C)ccl 64
1 437
slc2c(nenc2NCCe2cc(F)c(Nc3[nH]c4c(n3)cc(ccd)C(F)(F)F)ee2)ecl 64 1 438
O=CIN(N=C(Nc2n[nH]c(c2)C)c2clcccc2)Ccleceeel 65 1 439
S1C=Cn2c1nc(c2-cInc(nccl)Nelecc(N2CCOCC2)cecl)-clecc(NC(=0O)Cc2cccec2)cce
1 65 1 440
slc2c(ncl-clec(OC)e(Ne3nenc4c3cec(OC)c(OCCCN3CCN(CC3)C)cd)ecl)ecec2 65
1 441
slcececcCC(=0O)N1Cc2¢([nH]ne2NC(=0)c2ccc(N3CCN(CC3)C)ec2)C1 65 1
442
FC(F)(F)CNIN=C(Nc2n[nH]c(c2)C)c2c(cccc2)C1=0 66 1 443
slc2¢([nH]ne2NC(=0)c2ccc(N3CCN(CC3)C)ec2)ecc 1 C(=O)N[C@H](C)clcceeel 66
1 444
Fclenc(nelNclccecec1C)Neleee(O)ecl 67 1 445
O(C)clcee(ccl)C(=O)CNIN=C(Nc2n[nH]c(c2)C)c2c(ccecc2)C1=0 67 1 446
O=CIN(c2c(cc3[nH]c(nc3c2)-c2n[nH]c(c2)C)CI(C)C)CC 69 1 447
Brclec(ccelCeleeccel)C(=0)Nclnce(Ne2nene3c2cec(OC)c(OCCCN2CCOCC2)e3)c
nl 70 1 448
FC(F)(F)clnc(nccl)/C(/C(=O)N)=C/1\Nc2cc(cce2N\)C(=O)NCCCN(C)C 70 1
449
O1CCN(CCI1)Cclcc(ceel)-cl[nH]e2ncee(c2cl)-clen(ncl-clccc(NC(=O)NCC)ecl)C
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C 70 1 450

O=C(Nclc[nH]ncl-c1[nH]c2c(nl)cccc2)C 70 1 451

S\ c2¢(N/C/1=C(\C(=O)N)/c1Inc(cc(n1)C)C(OC)=O)cccc2 70 1 452

S\1c2ce(cee2N/C/1=C(\C(=O)N)/c1nc(OC)cenl)CN1ICCOCCI 70 1 453

O=CIN(N=C(Nc2n[nH]Jc(c2)C)c2clcccc2)CC(=O)clceccccl 71 1 454

O=CINc2c(cc3c4CCCcS5¢c(n[nH]c5C)-c4[nH]c3c2)C1(C)C 72 1 455

Clclenc2[nH]c(nc2¢ INTCCN(CC1)CC(=O)Nclce(Cl)eccl)-clece(N(C)C)ecl 75
1 456

Fclenc(nelNclcec(cc1)C)Neleee(O)eel 75 1 457

S1(=0)(=0)Cc2cc(Nc3nc(NedeceSne([nH]eS5ccd)C(F)(F)F)e(en3)CCC)ecc2Cl
75.099998 1 458

Fclenc(nelNclcec(OC)ecl)Neleee(O)ecl 78 1 459

Fclenc(nelNclcee(cc1)C(=O)Ncleecec10C)Neleee(O)ecl 78 1 460

Brclsc(ncl)Ncleee(ccl)C(O)=0O 79 1 461

Clclene2[nH]e(nc2¢ INTCCN(CCH[C@H](C)clccceel)-clece(N(C)C)ecl 79 1
462

slccec1CC(=0O)Ncelcc2e([nH]ne2\C=C/c2ccc(cc2)CN2CCN(CC2)C)eclC 79 1
463

slccecc1CC(=0)Nclec2e([nH]nc2\C=C\c2cc(ccc2)CN2CCN(CC2)C)eclC 79 1
464

Fclenc(nelNclceeecl)Nelecceel 80 1 465

S\ c2¢(N/C/1=C(\C(=O)N)/c1Inc(cc(n1)C)C)cccc2 80 1 466

S\1c2c(N/C/1=C(\C(=O)N)/c1nc(cc(n1)NCCN1CCOCC1)C(F)(F)F)ccee2 80 1
467

Brclenc2[nH]c(nc2c INTCCN(CC1)CC(=0O)Nclscenl)-cleccec181 1 468

Brclenc2[nH]c(nc2c IN1ICCN(CC1)Celnc(ocl)C(C)C)-clecc(OC)ecl 81 1
469

Brclenc2[nH]e(nc2¢ INICCN(CC1)Celne(oc1)C(C)C)-clecc(cc)CN1CCOCCI 81
1 470

S(=0)(=0)(NICCOCCI)clcce(NC2=NC=Cn3c2ncc3-c2cn[nH]c2)ccl 81 1
471

S(=0)(=0)(N)clccc(Ne2nc(cen2)-c2¢3c(n(c2)CCC)encc3)ecl 82 1 472

olc2nenc(N[C@H](CO)c3ceccec3)c2e(cl-cleceecl)-clece(NC(=0)C=C)ccl 82 1
473

slc2c(ncl-clcee(Oc3nencdc3ec(OC)c(OCCCN3CCN(CC3)C)ed)ecl)ccec2 82 1
474

sInc(ccINC1=NC(SCCN(C)C)=Cn2clncc2-clen[nH]c1)C 82 1 475

sInc(ccINC1=NC(=Cn2clncc2-clen[nH]c1)CCN)C 83 1 476

S(=0)(=0)(Nc1lcc\2c(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(OCC)=0)C(=0)CCC3)ccl)

clccececl 84 1 477

Brelene2[nH]e(nc2c INTICCN(CC1)[C@H](C)clcenccl)-clecc(N(C)C)ecl 85 1
478

Clclec2sc(nc2ecl)-clec(F)e(Ne2nence3c2ec(OC)c(OCCCN2CCN(CC2)C)e3)ecl 85
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1 479
O1CCN(CC1)CCCOclcce2nenc(Ne3enc(ne3)NC(=0)c3cee(ce3)CC)e2eccl1OC 85 1
480
sInc(ccINC1=NC(Sc2ccc(F)cc2)=Cn2clncc2-clen[nH]c1)C 85 1 481
S1(=0)(=0)Cc2cc(Nc3nc(NcdceS[nH]ne(NC(=0)c6ecc(cc6H)C(C)(C)C)eSced)e(en3)
C(F)(F)F)ccc2C186 1 482
Fcle(NC(=0)Cc2[nH]nc(Nc3nencdce3cc(OC)c(OCCCN(CCC)CCO)cd)c2)cceclF 87
1 483
Oclcc2ec([nH]c2ccl)-c1c2c(CNC2=0O)cccl 90 1 484
S\1¢c2¢(N/C/1=C(\C(=O)N)/cInc(C(F)(F)F)c(cn1)C(=0O)NCCCNI1CCOCCI1)ccec290
1 485
slc2c(ncl-clecece(Ne3nencdc3ec(OC)c(OCCCN3CCN(CC3)C)ed)cclO)ecec2 91 1
486
slccec1CC(=0O)Nclcc2e([nH]ne2\C=C\c2cccec2)cc INICCCC1 91 1 487
O=C(N)cln[nH]c-2c1CCclc-2nc(ncl)Nclcccecl 92 1 488
O=CIN(N=C(Nc2n[nH]c(c2)C)c2clccec2)Celecc(NC(=0)C)ecl 93 1 489
Clclecc(N2N=C(Nc3n[nH]c(c3)C)c3c(ccec3)C2=0)ccl193 1 490
S(=0)(=0)(NcInccenl)clecc(NC(=S)N2CCN(CC2)c2nenc3[nH]cdcc(OC)c(OC)cc4
c23)ccl 94 1 491
Clclee(NC(=0O)Nc2sce(n2)CCNce2nenc3c2sce3)ccclCl 96 1 492
Brclsc(ncl)Nelceee(ccl)C(=O)NCCOC 97 1 493
CICI=N[C@@H]2[C@H](NC=C2c2nc(ncc2)Nc2ce(S(=0)(=O)N)ccc2)C(=C1)C 98
1 494
O(C)clce(cecl)C(=0)CNIN=C(Nc2n[nH]c(c2)C)c2c(cccc2)C1=0 1001 495
O(CCCO)clec2ec([nH]c2ecl)-c1e2¢(CNC2=0O)cccl 1001 496
O=C(NcIn[nH]c2c1CN(C2)C(=0O)Nclc(cccc1CC)CC)cleee(cc1)C(CY(C)C 100 1
497
O=CINCc2clc(ccc2)-cl[nH]c2¢(cl)ceec2 1001 498
S(clecc(NC(=0)C2CC2)ccl)cIne(N2CCN(CC2)CCCC(=O)NO)cc(nl)Ncel[nH]nc(c
HC1001 499
S(clccc(NC(=0)C2CC2)ccl)cIne(N2CCN(CC2)CCCCC(=0O)NO)cc(n1)Ncl[nH]nc(
chC 1001 500
S(clccc(NC(=0)C2CC2)ccl)cIne(N2CCN(CC2)CCCCCC(=O)NO)ce(nl)Ncl[nH]n
c(cl)C 1001 501
S(clcce(NC(=0)C2CC2)ccl)clne(N2CCN(CC2)CCCCCCC(=0)NO)ce(nl)Ncl[nH]
nc(cl)C 1001 502
S(clecc(NC(=0)C2CC2)ccl)cIne(N2CCN(CC2)c2nec(en2)C(=0)NO)cc(nl)Ncl[nH
Inc(c1)C 1001 503
S(clecc(NC(=0)C2CC2)ccl)cIne(Ne2[nH]nc(c2)C)ee(n1 )NCCCCCC(=O)NO
1001 504
S(clecc(NC(=0)C2CC2)ccl)cIne(Ne2[nH]nc(c2)C)ee(nl )NCCCCCCC(=0)NO
1001 505
S(clccc(NC(=0)C2CC2)ccl)cIne(Ne2[nH]nc(c2)C)ee(nl )NCCNCCCCCCC(=0O)N
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O 1001 506
S\ c2¢(N/C/1=C(\C(=O)N)/c1nc(C(F)(F)F)c(cn1)C(=O)N1CCN(CC1)C)cccc2
1001 507
S\ ¢2¢(N/C/1=C(\C(=O)N)/cInc(OC)cenl)cccc2 1001 508
S\ ¢2c(N/C/1=C(\C(=O)N)/c1nc(ccnl)-clcceecl)ccec2 1001 509
S\1c2ce(N3C[C@@H](N)CC3)ccc2N/C/1=C(\C(=O)N)/cInc(cenl)C(F)(F)F 100 1
510
slc2c([nH]ne2NC(=0)c2ccc(N3CCN(CC3)C)ec2)cc1C(=0)Nclcccecl 1051
511
sInc(ccINC1=NC(SC(C)(C)C)=Cn2c¢lncc2-clen[nH]c1)C 1051 512
slc(enc1NclInenc2c1ec(OC)c(OCCCN1CCC[C@H]1CO)c2)CC(=0O)Nclec(OC)ceccl
1061 513
O=CIN(N=C(Nc2n[nH]c(c2)C)c2clccece2)Cclcec([N+](=0)[O-])ccl 109 1
514
O1CCN(CC1)CCCOclcc2nenc(Ne3eee(NC(=0O)cdecceed)cc3)c2ec1OC 1101
515
[nH]1Inc-2¢(CCc3c-2[nH]c2¢3ceec2)c1CICCT1 1101 516
slc2c(ncl-clcce(Ne3nencdc3cc(OCCCNICCN(CC3)C)e(OC)e4)ccl)eccec2 110 1
517
slc(ecnc1NcInenc2c1cc(OC)c(OCCCNICCC(CC1)CO)c2)CNC(=0)clce(F)cecel
111 518
O=C(Nclccc(eel)-clnn(ccl-clc2ec([nH]c2necl)-clec(ccc1C)CN(C)C)CC)Neleceee
1 1131 519
Clclenc2[nH]e(ne2cIN1CCN(CC1)CC(=O)Nclcecceel)-clece(N(C)C)ecl 1151
520
O=CIN(N=C(Nc2n[nH]c(c2)C)c2clcccc2)CC(C)C 1151 521
0O=C(C)clccc(Nc2ne-3¢(CCc4c-3n(ncdC(=0O)N)C)cn2)ccl 1161 522
S(=0)(=0)(Nc1lcc\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(=O)NC)C(=0)CCC3)ccl)e
lcceeel 1171 523
Brclenc2[nH]c(ne2c IN1ICCN(CC1)CC(=0O)Nclccencl)-clece(N(C)C)eel 118 1
524
FC(F)(F)clnc([nH]c1)-cIn[nH]ccI\C=C\clccencl 1201 525
slc2c(ncl-clecce(Ne3nencdc3ec(OC)c(OCCCNICCN(CC3)C)ed)ec10C)ccec2
1201 526
slcc(nc1C)CNIN=C(Nc2n[nH]c(c2)C)c2c(cccc2)C1=01201 527
slenc(C)c1CNIN=C(Nc2n[nH]c(c2)C)c2c(cccc2)C1=01201 528
O=C(Nclcc(cecl)-cl[nH]c2ncee(c2cl)-clen(ncl-clecc(NC(=0O)Nc2cccee2)ec1)CCO)
C 1261 529
O(C)clcee(Ne2ne-3¢(CCe4c-3n(ncd4C(=O)N)C)en2)ccl 1281 530
O=C(Nclccc(ecl)-clnn(ccl-clc2ec([nH]c2necl)-clec(cccl)CN(C)C)CC)NCC
1281 531
Fclenc(nelNclcec(OC)ecl)Neleee(OC)eel 1301 532
O=C(NcIn[nH]c2c1CN(C2)C(=0)Cclcccecl)clece(cc)C(CHC)C 1301 533
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O1CCN(CC1)CCOclcc2cec([nH]c2ccl)-c1c2c(CNC2=0)cccl 1351 534
Brclsc(ncl)Nclcee(ccl)C(=O)NC1401 535
Clclee(NC(=0)c2ccc(Ne3nc(nee3F)Ne3cec(O)ee3)cc2)eec1 1401 536
O=C(NcIn[nH]c2c1CN(C2)C(=0)Cclcccecl)clece(N2CCN(CC2)C)ecl 140 1
537
S(=0)(=0)(Nclcc2e([nH]ne2\C=C/c2ccc(NC(=O)N3CCN(CC3)C)cc2)ccIN1CCCC
HC 1401 538
S(=0)(=0)(Nclcc2e([nH]ne2\C=C\c2cc(NC(=O)N3CCN(CC3)C)cec2)ccIN1CCCC
C1401 539
O(clIncececl-clnc(nec1)NC)elcecc(Ne2nne(c3c2ccec3)-c2eceec2)ecl 1491 540
Oclcee(Ne2ne(cen2)C=2[C@H]3[C@H](NC=2)C=CC=C3)ccl 1501 541
Oclcce(Ne2ne(nec2CC)Ne2eec(O)ec2)ecl 150 1 542
BrC=1N2[C@H](NC=1)C(=NC(=C2)clcccncl)Nclccc(N2CCOCC2)ccl 1521
543
Breln2c(ncl)C(=NC(=C2)clccencl)Neleee(N2CCOCC2)ecl 1521 544
O(C)clce(Ne2ne-3¢(CCe4ce-3n(nc4C(=0)N)C)en2)cecl 158 1 545
sle(encINclInenc2celee(OC)c(OCCCNICCOCCT)e2)CC(=O)NCCC(C)C158 1
546
Fclenc(nelNclcee(cc1)C(=O)N)Ncleec(O)ecl 1601 547
Olc2cc(ccc20C1)C(=0O)NcIn[nH]c2c1CN(C2)C(=0)C(C)C 1601 548
[nH]Inc(c2cc(-c3cence3)c(N3CCCC3)ccl2)\C=C\clceceel 1601 549
olccec1C(=0O)N1Cc2¢([nH]ne2NC(=0)c2ccc(N3CCN(CC3)C)ec2)C1 160 1
550
olccec1C(=0)N1Cc2¢c([nH]nc2NC(=0)c2ccc(N3CC[NH+](CC3)C)cc2)C1 160 1
551
slc2c(ncl-clcc(Ne3ne(Ned4n[nH]c(c4)C)een3)ecel)ccec2 1601 552
O=C(N)clnn(c-2c1CCclc-2nc(ncl)Neclcceccl)CICCCCCT1 1691 553
slc2c(ncl-clcee(Oc3nencdc3ec(OC)c(OCCCN3CCCC3)e4)ccl)ecec2 1701
554
slnc(ccINC1=NC=Cn2clncc2-clcn(ncl)C)CICCN(S(=0)(=0)C)CC1 1701
555
O=C(NC)clnn(c-2¢1CCclc-2nc(ncl)Nclece(N2CCN(CC2)C)ecl)C 1751 556
O=C(C)clcc(Nc2ne-3¢(CCc4c-3n(nc4C(=0O)N)C)en2)cecl 176 1 557
Brclenc2[nH]c(ne2c INTCCN(S(=0)(=0)c2ccecc2)CCl)-clece(N(C)C)ecl 178 1
558
Fclee\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(0)=0)C(=0)CCC3)ccl 178 1 559
O(CCCNI1CCCCCl)elec2ec([nH]c2ecl)-c1ec2c(CNC2=0)cccl 1791 560
Fclenc(nelNclcec(ceel)C)Neleee(O)ecl 1801 561
Fclenc(nelNclcee(cc1)C(=O)Ncleee(ccl1)C)Neleee(O)eel 1801 562
O=CINc2c¢(cc3[nH]c(nc3c2)-c2n[nH]c(c2)C)CI(C)C 1801 563
slce(nc1NcInenc2¢1cc(OC)c(OCCCNICCOCCT)e2)C(=O)Nclceeeel 1821
564
CIC=IN2[C@H](NC=1)C(=NC(=C2)clcccnc1)Ncleccc(N2CCOCC2)ccel 190 1
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565

ClcIn2c¢c(ncl)C(=NC(=C2)clccencl)Ncleee(N2CCOCC2)ecl 1901 566

Fclee(NC(=0)Cc2[nH]nc(Nc3nencdce3cc(OC)c(OCCCN(CCO)CC)e4)c2)ccecl
1901 567

O(C)clcc2[nH]c(cc2ecl)-cIn[nH]c2cIncec2 1901 568

O1CCN(CC1)CCNC(=0)c1[nH]c2ncee(c2cl)-clen(nel-clececc(NC(=0O)Nc2cccec2)ee

HCC 1971 569

Fclene(nelNcleee(F)eel)Neleee(F)ecl 2001 570

Ic1cc2S\C(\Nc2ccl)=C(\C(=O)N)/cInc(ccnl)C(F)(F)F 2001 571

O(CCNICCCCCl)clec2ee([nH]c2ccl)-c1c2¢(CNC2=0)cccl 2001 572

S\ c2¢(N/C/1=C(\C(=O)N)/cInc(ccnl)C)cccc2 2001 573

S\ c2¢(N/C/1=C(\C(=O)N)/cIncc(cnl)CC)cccc2 2001 574

S\ c2ec([N+](=0)[O-])ccc2N/C/1=C(\C(=0O)N)/cInc(cecnl)C(F)YF)F 2001 575

[nH]1nc(c2cc(N)c(N3CCCC3)cc12)\C=C\clcceceel 2001 576

slc2c(ncl-clcce(Ne3nencdc3cc(OCCCNICCN(CC3)C)e(OC)c4)cclF)ecee2 200 1
577

O=C(NCCNICCN(CC1)C)cl[nH]c2ncce(c2el)-clen(nel-clece(NC(=0)Nc2cccec?)

ccl)CC 2031 578

O(C)clee2ne([nH]c2ccl)-c1c2¢(CNC2=0)cccl12051 579

O1CCN(CC1)clece(NC2=NC(=CN3[C@@H]2NC=C3C)c2cccnc2)ccl 208 1
580

O1CCN(CCl)clecc(NC2=NC(=Cn3c2ncc3C)c2ccenc2)ecl 2081 581

O=C/1Nc2c(cccc2)\C\1=C\c1[nH]c2c(c1CCC(O)=0)C(=0)CCC2 2081 582

Brclec\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(0)=0)C(=0)CCC3)ccl 2101
583

Brclenc2[nH]e(nc2c INICCN(CC1)CC(C)C)-clece(N(C)C)ecl 2101 584

Clclcc2[nH]e(nc2ccl)-cIn[nH]c2clec(OCcleccecl)ec2210 1 585

Oclcee(Ne2ne(cen2)C=2[C@H]3[C@@H](N=CC=C3)N(C=2)CCC)ccl 210 1
586

O=C(NCI1CCl)clnn(c-2c1CCclc-2nc(ncl)Nclcececl)C 2131 587

S(=0)(=0)(Nc1cc\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(=0)N2CCCC2)C(=0)CCC

3)ccl)cleceecl 2181 588

Fclee(NC(=0)Cc2[nH]nc(Nc3nencde3cc(OC)c(OCCCN(CCC)CCO)c4)ce2)ccecl
2201 589

slc2c(ncl-clce(F)c(Oc3nencdce3cc(OC)c(OCCCN3ICCN(CC3)C)c4)ccl)ceec?
2201 590

olc2nenc(N[C@H](CO)c3cccec3)c2e(cl-clececeel)-clecececl 2231 591

O=C(NCCCNI1CCN(CC1)C)cl[nH]c2ncee(c2cl)-clen(nel-clececc(NC(=0O)Nc2ccece

2)ccl)CC 2281 592

slc2c(ncl-clec(O)c(Ne3nencde3cc(OC)c(OCCCN3ICCN(CC3)C)cd)eel)ccec2
2301 593

slc2c(ncl-clcce(Ne3nencdc3ec(OC)c(OCCCN3CCN(CC3)C)ed)cclC)ecec2 230 1
594
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O=[N+]([O-]clecc2e([nHnc2\C=C\c2cccec2)cc INICCCC1 240 1 595
slccecc1CC(=0)Nclec2e([nH]nc2C#Cc2cccec2)eclC 2401 596
O=CIN(N=C(Nc2n[nH]c(c2)C)c2clccee2)clece(ccl)C(CYHC)C 2401 597
Clclce2ne([nH]e2nec1Cl)-clecc(N(C)C)ec1250 1 598
O1CCN(CC1)Cclece(ecl)-c1[nH]c2ncee(c2cl)-clen(ncl-cleccc(NC(=O)N(C)C)ccl)
CC 2501 599
OICCN(CC1)Cclcee(eccl)C=IN[C@H]2N=CC=C([C@@H]2C=1)clcen(ncl-clccc(
NC(E=O)N(C)C)ecl)CC 2501 600
slc2¢c(nenc2NCCn2nne(NC(=O)Nc3cce(cee3)C(F)(F)F)e2)eccl 2501 601
O=C/1Nc2c(cc(NC(=0)C)cc2)\C\1=C\c1[nH]c2c(c1CCC(O)=0)C(=0)CCC2252 1
602
Brclenc2[nH]c(ne2c INTICCN(CCl)clceccecl)-clece(N(C)C)ecl 258 1 603
Fclenc(nelNclee(OC)cecl)Neleee(O)ecl 2601 604
sInc(O)c(/C(=N/C(CO)C)/N)c1Nclecce(Oc2ececc2)ecl 2601 605
sInc(O)c(C(NC(CO)C)=N)cINclccc(Ne2eeceee2)eel 2651 606
FC(F)(F)clcee(Ne2ne-3¢(CCc4e-3n(nc4C(=0)N)C)en2)ccl 2701 607
O(C)clce(Ne2ne(ne(n2)NC(Ce2c3ccenc3[nH]c2)C(=0)N)Nc2cc3e(ncec3)ec2)cec10
C 2701 608
O=CIN(N=C(Nc2n[nH]Jc(c2)C)c2clcccc2)C 2701 609
O=CIN(N=C(Nc2n[nH]Jc(c2)C)c2clcccc2)Ccleencel 2701 610
O=CIN(N=C(Nc2n[nH]Jc(c2)C)c2clccce2)Cclnencel 2701 611
Oclcee(Ne2ne(cen2)C=2[C@H]3[C@@H](N=CC=C3)N(C=2)CC)ccl 2701
612
slcc(ncINC(=O)NCI1CCCCC1)CCNclnene2clsec2 2701 613
S(=0)(=0)(Cclccceel)clec\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(0)=0)C(=0)CCC
3)ccl 2711 614
Brclenc2[nH]c(nc2c IN1ICCN(CC1)C(=O)Nclceccel)-clececc(N(C)C)eel 277 1
615
Brclenc2[nH]c(ne2c IN1ICCN(CC1)CC(=0O)Nclcccecl)-clece(N(C)C)ecl 277 1
616
ClclcccccINC(=0O)Nclsce(nl)CCNcelnenc2clscc2 2801 617
Oclce(Ne2ne(cen2)C=2[C@H]3[C@H](NC=2)C=CC=C3)cccl 2801 618
[nH]Inc(c2clcec(CH#N)c2C)N\C=C/clccc(cc])CNICCN(CC1)C 2801 619
[nH]1nc(c2c1ccc(CH#N)c2CO\C=C\clcc(cec 1) CNICCN(CC1)C 2801 620
S(=0)(=0)(Nclcc\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(=0)N2CCOCC2)C(=0)CC
C3)ccl)cleceecl1 2811 621
ON)C(=O)clec(Ne2ne(cen2)C=2[C@H]3[C@@H](N=CC=C3)N(C=2)CC)cccl
2001 622
slc2c(ncl-clec(OC(F)(F)F)c(Nc3nencdc3ec(OC)c(OCCCN3CCN(CC3)C)ed)ccl)ece
c2 2901 623
FC(F)(F)clnc([nH]c1)-cIn[nH]ccI\C=C\clc2c(ccec2)encl 3001 624
O(C)clnc(necl)/C(/C(=O)N)=C\1/Nc2c(N/I)ccec2 3001 625
[nH]1c-2¢(CCc3c-2n[nH]c3)c2clccec2 3001 626

40



slc2c(ncl-clcece(Ne3nencdc3cc(OCCCNICCN(CC3)C)e(OC)c4)cc1O)ecec2 300 1
627
olc2nenc(NCCe3cce(NC(=0O)cdcecced)cc3)c2e(cl-cleccecl)-cleceeel 304 1
628
O=C(NC)clnn(c-2¢1CCclc-2nc(ncl)Ncleccecl)C 3121 629
Fclee(cecl)C(=0)NclInce(Ne2nene30c4cc(OC)ccc4CNe23)enl 3201 630
slc2c(ncl-clcece(Ne3ne(Nedn[nH]c(c4)C)een3d)ec10C)ecec2 3201 631
Brclsc(ncl)Ncleee(cel)C(=O)NC(COC)C3301 632
Fcleee(cc1)C(=0O)NclIncc(Ne2nene30c4cc(OC)ccc4CNe23)enl 3301 633
01¢2nenc(N3CC(NC(C3)C)C)c2e(cl-cleccecl)-clececcecl 3341 634
O(C)clec2ee([nH]c2ecl)-c1c2c(CNC2=0)cccl338 1 635
O=CINCc2clc(ccc2)-cl[nH]cccl 3381 636
OCcl[nH]nc-2¢1CCclc-2[nH]c2clccec2 3401 637
slc2c(ncl-clee(C)e(Ne3nencde3cc(OC)c(OCCCNICCN(CC3)C)e4)ecl)ecec?
3401 638
[nH]1nc(c2clcce(-clee(N)ceel)c2CNC=C/clccc(ccl )CNICCN(CC1)C 3501
639
[nH]1nc(c2clcce(-clee(cc(N)el)C)e2CNC=C\clce(cccl)CNICCN(CCI)C 350 1
640
slc2c(ncl-clcece(Ne3nencdc3ec(OC)c(OC)cd)ecl)ecec2350 1 641
O(C)clce(cec10)-clec\2¢(NC(=0)/C/2=C\c2[nH]c3¢c(c2CCC(0)=0)C(=0)CCC3)cc
1 3571 642
Brclsc(ncl)Neleecc(NC(=0)C)ccl3601 643
Fcle(NC(=0)Cc2[nH]nc(Nc3nencdce3cc(OC)c(OCCCN(CCO)CC)e4)c2)cceclF
3601 644
Fclee\2¢(NC(=0)/C/2=C\c2[nH]c(C)c(C(=0)C)c2CCC(O)=0)ccl 3621 645
OCCNC(=0)cInn(c-2c1CCclec-2nc(ncl)Nclccececl)C 3641 646
Brclenc2[nH]c(nc2c IN1ICCNCC1)-clece(N(C)C)ecl 3651 647
O=C(Nclccc(ecl)-clnn(ccl-clc2ec([nH]c2nccl)-clec(ccc1)CN1CCCCI)CC)N(C)C
3661 648
slc2c(ncl-clecece(Ne3ne(Nedn[nH]c(c4)C)een3)ecl)cecec2 3701 649
O=C(NCclcccecel)clnn(c-2¢1CCcle-2ne(ncl)Nelcececl)C 3741 650
OC(Cnlnc(c(cl)-clc2ec[nH]e2nccl)-clececc(NC(=0O)Nc2cccec2)ecl)CO 377 1
651
slceceel-clene(nclNcelee2ne([nH]c2ecel)C(F)(F)F)Nelee2e(CS(=0)(=0)C2)ccl
3831 652
Olc2ce(ccc20C1)C(=O)NcIn[nH]c2c ICN(C2)C(=O)NC(C)C 3901 653
[nH]1nc(N)c2clcc(cc2)-clnc(nccl)N 3901 654
slc2c(ncl-clec(F)c(Ne3nencde3cc(OCCCN3ICCN(CC3)C)e(OC)c4)ccl)ceec2
3901 655
O(C)clcc2e(nenc2Ne2ecc(NC(=0)c3cecee3)ec2)cc10OC393 1 656
s1nc(cc INC1=NC(S(=0)(=0)C)=Cn2clncc2-clen[nH]c1)C 603 0 657
O=C(N)clnn(c-2c1CCclc-2nc(ncl)NclccecclC)C 6050 658
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O(C)clcececcINclne-2¢(CCe3c-2n(nc3C(=0O)N)C)enl 6070 659

CICI=N[C@@H]2[C@H](NC=C2c2nc(ncc2)Nc2ccc(S(=0)(=0)N)cc2)C(=C1)C
6200 660

[nH]1nc(c2cc(NCe3nceee3)c(N3CCCC3)ccI2)\C=C\clccceel 6200 661

O1CCN(CCl)clec(Ne2ne-3c(CC(c4c-3n(nc4C(=0O)NC)C)(C)C)en2)cecl 625 0
662

O1CCN(CC1)CCCOclcc2nenc(Ne3ncc(NC(=0O)c4ccceccd)en3)c2cc10C 629 0
663

O=C(Nclccc(ecl)-clnn(ccl-clc2ec[nH]c2nccl)CC)Nelceceel 6310 664

O1CCN(CCI1)Cclee(Ne2nc-3¢(CC(c4ce-3n(nc4C(=O)NC)C)(C)C)en2)ceel 6380
665

Fclenc(nelNclcee(cc1)C(=O)N(C)C)Nclcee(O)ecl 6400 666

O=C(Nclcc2e([nH]nc2C2CC2c2cccec2)ccl)Celeccecl 6400 667

olc2nene(NCCe3cce(N)ce3)c2c(cl-cleceecl)-clececc1 6400 668

olc2nene(NCCe3ccc(O)cc3)c2e(cl-clececcl)-cleccec1 640 0 669

slnc(ccINC1=NC=Cn2clncc2-clen(ncl)C)C(C)C 6400 670

O1CCN(CCl)clcecc(Ne2ne-3¢(CC(c4c-3n(nc4C(=0)NC)C)(C)C)en2)ccl 649 0
671

Brclenc2[nH]c(nc2c INICCN(CC1)CCICCl1)-cleec(OC)ecl 6500 672

O=CINN=C(Nc2n[nH]c(c2)C)c2clcccc2 6500 673

O(C)clcee(ccl)C(=O)NclIn[nH]c2cICN(C2)C(=O)C 6600 674

O=C(N1CCC(Nc2nc-3c(CCc4c-3n(nc4C(=0)N)C)cn2)CCl)clcecceccl 6700
675

O=C(N)clnn(c-2c1CCclc-2nc(ncl)NCclecec(NC(=0)C)ccl)C 6720 676

Fclenc(nelNclcec(cee1)C)Nelec(cecl)C 6800 677

Clclec(Ne2nenc3ce2cc(OCCCN2CCN(CC2)C)e(0OC)c3)cecl-clsc2e(nl)ceec2690 0
678

O1CCN(CC1)CCCOclcc2nene(Ne3enc(ne3)NC(=0)c3cenece3)c2ec10C 690 0
679

Oclce(Ne2ne(cen2)C=2[C@H]3[C@@H](N=CC=C3)N(C=2)CC)cccl 7100
680

O(C)clcee(cc \C=N\Nc1[nH]nc(C)c1C(=O)Nclccc(NC(=0)C)ccl 7190 681

O=C/1Nc2c(cc(NC(=0)c3cccee3)cc2)\C\1=C\c1[nH]c2c(c1CCC(O)=0)C(=0)CCC2
7200 682

FC(F)(F)clcee(ccl)C(=0)CNIN=C(Nc2n[nH]c(c2)C)c2c(ccec2)C1=0 7200
683

O=C/1Nc2c(cc([N+](=0)[O-])cc2)\C\1=C\c1[nH]c2c(c1CCC(O)=0)C(=0)CCC2
7240 684

Brclsc(ncl)Nclee(cecl)C(=O)NC740 0 685

FC(F)(F)clee2ne([nH]c2nc1)-clccec(N(C)C)ecl 7400 686

01¢2necnc(NCCOCCO)c2¢(cl-clceccel)-clecceecl 7600 687

FC(F)(F)clec(ceel)C(=0O)NclInn(c2clcecc(Oclc3ec(OC)c(OC)cc3necel)c2)C 764 0
688
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OCCnlnc(c(cl)-clc2ec[nH]c2nccl)-cleccc(NC(=O)Nc2ceeee2)eel 7920 689
olc2nenc(N[C@H](CO)C)c2e(cl-cleececl)-cleccecl 7920 690
01¢2necnc(NCCC(OCC)=0)c2c(cl-cleccecl)-cleccecl 7960 691
Clclncec2cIn(cc2-cInc(nec1)Nelee(O)cecl)CC 8000 692
Fcle(NC(=0)Cc2[nH]nc(Nc3nencde3cecc(OCCCN(CCO)CC)cd)c2)cceclF - 800 0
693
slc2c(ncl-clec(O)c(Ne3nencde3cc(OCCCN3CCN(CC3)C)e(OC)c4)eel)ccec2
8000 694
ClclIncec2cln(cc2-cInc(nccl)Nelee(S(=0)(=O)N)ccc1)CCC 8000 695
O(C)clcee(cc \C=N\Nc1[nH]nc(C)c1C(=O)Nclcceec1 804 0 696
O1C(0OC)(C=CC10C)CNclIncnc2oc(c(cl2)-clcecccl)-cleccecl 8270 697
O(C)clee(cec)CNC(=0O)cle(n[nH]cINWN=C\clccc(OC)ccl)C 8380 698
slc2c(ncl-clecece(Ne3ne(N4CCN(CC4)C)een3)ecl)ccec2 8400 699
O=C(NC)clnn(c-2¢1C(Cclc-2nc(ncl)Nclcece(N(C)C)ecl)(C)C)C 8550 700
[nH]Inc-2¢(Cc3c-2[nH]c2c3ccec2)c1C 8700 701
s1cencINC(=0O)CN1CCN(CC1)cle2nc([nH]c2nccl)-clcecc(N(C)C)ecl 870 0
702
slc(encINclInce(ccl)CNTICCN(CC1)C(=O)NC)C#N 8800 703
S(=0)(=0)(C)clccc(ccl)CNelne-2¢(CCe3c-2n(nc3C(=0O)N)C)enl 8900 704
Brelsc(ncl)Nelee(OC)ecel 9000 705
Brclsc(ncl)Nceleee(Oc2cenec2)eccl 9000 706
S\ c2¢(N/C/1=C(\C(=O)N)/c1Inc(cc(n1)C)C(0)=0O)cccc2 9000 707
[nH]1c2c(ncl-cIn[nH]ccl)ceeec2 9100 708
FC(F)(F)clece(Ne2ne(Ne3ce(NC(=0)C4CC4)cce3)cen2)cecl 9310 709
olc2nene(NCc3ceec(N)ce3)c2e(cl-cleccecl)-cleccececl 9450 710
O(C)clec(NC(=0)c2c(n[nH]e2N\WN=C\c2ccc(OC)cc2)C)eccc10C960 0 711
O(clcee(NC(=0)c2cc(Oc3ceceec3)cec2)eclC)elnececl-clnc(nec)NC 964 0
712
OCCCnlnc(c(cl)-clc2ec[nH]c2neel)-clece(NC(=O)Nc2eccee2)ecl 9690 713
O1c2c(cc(0OC)cc2)CNe2eInene2Ncelene(ncl)NC(=O)cleceecl 9700 714
olc2nenc(NC[C@H](0)C)c2e(cl-clcccecl)-clecccecl 9730 715
Brclsc(ncl)Neleee(ccl)C(=O)N(CCOC)C9800 716
Iclce(F)e(Ne2e(F)e(F)e(cc2C(O)=0)CNCc2ccc(S(=0)(=0)C)cc2)ccl 1000 0
717
O(clIncececl-cInc(nec1)NC)elec(C)e(NC(=O)c2ccecec2Ne2eccec2)ecl 1000 0
718
O=C(NC)clnn(c-2c1C(Cclc-2nc(ncl)Nclec(N2CCN(CC2)C)cecl)(C)C)C 1000
0 719
O=CIN(N=C(Nc2n[nH]Jcc2)c2clccee2)elece(ccl)C 1000 0 720
Oclcc\2¢(N/C(=C\3/cdcc([N+](=0)[O-])ccc4NC/3=0)/C/2=N\O)cc1 1000 0
721
O=C(N)clnn(c-2c1CCclc-2nc(ncl)NCclcccecl)C 1004 0 722
Fclee(Oc2nenc3c2n(cc3)C)ecccINC(=O)Nclcc(cecl)C(F)(F)F 1050 0 723
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Oclcee(Ne2ne(een2)C=2[C@H]3[C@H](N(C=2)C)C=CC=C3)ccl 1050 0
724

O=C(NC)clnn(c-2¢1C(Cclc-2nc(ncl)Nclececc(N2CCN(CC2)C)ecl)(C)C)C 1051
0 725

O(C)clece(cc)\C=N\Nc1[nH]nc(C)c1C(=O)NCCclc2¢c([nH]cl)ccec2 1071 0
726

O(C)cleccccINC(=0)clc(n[nH]cIN\N=C\clccc(OC)ccl)C 1087 0 727

Brelsc(ncl)Ncelec(eecl)C 1100 0 728

Brclsc(ncl)Ncleecceel 1100 0 729

Clclsc(ncl)Nclcee(F)ec11100 0 730

Fclee(cec1)C(=0)NclIncc(Ne2nene30c4c(cc(OC)cc4)CNe23)enl 1100 0
731

[nH]1c2c¢(ccl-cIn[nH]c(c1)C)ceec2 1100 0 732

[nH]Inc-2¢c(-c3c-2[nH]c2¢c3ccec2)c1C 1100 0 733

slc2c(ccl-clec(cc3cl[nH]ne3)-cle3nc(nce3n(c1)CCN)N)ceec2 1100 0 734

O(C)clce(cecl)CNelne-2¢(CCe3c-2n(ne3C(=0)N)C)enl 1144 0 735

O=[N+]([O-])clec(Ne2ne(cen2)C=2[ C@H]3[C@@H](N=CC=C3)N(C=2)CCC)cccl
1160 0 736

FclcececlNcIne-2¢(CCe3c-2n(nc3C(=0O)N)C)cnl 1181 0 737

O=C(NC)clnn(c-2¢1C(Cclc-2nc(ncl)Nclcee(ccc )CNICCN(CC1)C)HC)O)C 1184
0 738

O(C)clceecc1CCNelne(ne(nl)NCCcelce2ccenc2[nH]c1)N(CCCO)YC 1200 0
739

0O1c2cc(0OC)c(OC)cc2CNe2cInenc2Ncelenc(nel)NC(=O)clcee(ccl)C 1200 0
740

slc2c(ncl-clcece(Ne3nencdc3cc(OCCCNICCN(CC3)C)e(OC)c4)ccl)ee(ce2)C(F)(F)

F 1200 0 741

slc2c(nenc2NCCe2ccc(NC(=O)Nc3cee(cec3)C(F)(F)F)cc2)eccl 1200 0 742

slc2c(nenc2NCCn2cc(nc2)NC(=0)Nc2ce(cec2)C(F)(F)F)eel 1200 0 743

Brclsc(ncl)Nclee(cecl) C(=O)NCCOC 1220 0 744

S(=0)(=O)(N1CCC(CC1)C(=O)N1CCC(Nc2nc-3¢(CCc4c-3n(nc4C(=0O)N)C)cn2)CC

HC 1237 0 745

O=C(Nclccc(ecl)-clnn(ccl-clc2ec([nH]e2necl)-clec(cece1)CN(C)C)CCIN(C)C
1259 0 746

Fclec\2¢(NC(=0)/C/2=C/2\Nc3c(cccc3)\C\2=N/O)ccl 1270 0 747

Clclncec2cIn(cc2-cInc(necl)Nelec(S(=0)(=0)N)ccc1)CC 1280 0 748

O=C(N)clnn(c-2c1CCclc-2nc(ncl)NCclecc(N2CCN(CC2)C)ecl)C 1287 0
749

S(=0)(=O)(N1CCC(CC1)C(=O)N1CCC(Nc2nc-3¢(CCc4c-3n(nc4C(=0O)N)C)cn2)CC

I)clcceeel 1288 0 750

slc2c(ncl-clec(OC)e(Ne3nencdc3cc(OCCCN3CCN(CC3)C)e(OC)c4)ccl)eeec2
1300 0 751

slc2c(ncl-clcece(Ne3ee(nee3)Ne3n[nH]e(c3)C)ecl)ceec2 1300 0 752
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O(CC)C(=O)N1CCC(CC1)C(=O)N1CCC(Nc2ne-3¢(CCc4c-3n(nc4C(=0)N)C)cn2)C
Cl 1308 O 753
FC(F)(F)clece(NC(=0)C=2C(n3c4c(nc3NC=2C)ccccd)c2ocec2)ccl 1320 0
754
O=[N+]([O-])clec(Ne2ne(cen2)C=2[ C@H]3[C@@H](N=CC=C3)N(C=2)CC)cccl
1340 0 755
O(C1CCN(CC1)C)cleee(Ne2ne-3¢(CC(c4e-3n(ncdC(=0)NC)C)(C)C)en2)ccl
1343 0 756
O(C)clcee(cc \C=N\Nc1[nH]nc(C)c1C(=O)NCCclccceel 1350 0 757
O=C(N)clnn(c-2c1CCclc-2nc(ncl)Nclceeecc)C(C)C 1392 0 758
Brclsc(ncl)Ncelceee(Oc2cceec2)ecl 1400 0 759
P(OCCN(CCCOclcc2nenc(Ne3n[nH]e(c3)CC(=O)Nc3ce(F)cee3)e2ecl)C)(0)(0)=0
1400 0 760
sle(enc INC=INC=2[C@H](N=1)C=CCC=2)CCNCI=NC=N[C@H]2[C@H]1SC=C
2 1400 0 76l
slc(enc1Ncl[nH]e2c(nl)cccc2)CCNelnenc2clscc21400 0 762
slc(enc1Nclnee(ccl)CNICCOCCI)CE#N 1400 0 763
Fclee(NC(=0)Cc2[nH]nc(Nc3nenc4e3ccc(OCCCN(CCO)CC)c4)c2)cecl1 1400 0
764
O=C(NC)clnn(c-2¢1C(Cclc-2nc(ncl)Nclce(N(C)C)eecl)(C)C)C 1437 0
765
Fcleee(NC(=0)c2e(n[nH]c2N\N=C\c2ccc(OC)cc2)C)ccl 1447 0 766
O(C)clcee(ccl)CNelne-2¢(CCe3¢-2n(nc3C(=0)N)C)enl 1447 0 767
Brclsc(ncl)Ncleee(ccl)C(=O)NCCO 1480 0 768
O(C)cleee(cc\C=N\Nc1[nH]nc(C)c1C(=O)NCCclccencl 1484 0 769
Brelsc(ncl)Nelec(eecl)C#N 1500 0 770
slc2c(ncl-clcece(Ne3ne(NC)een3)ecl)ccec2 1500 0 771
O(clcee(NC(=0)c2cceec20c2cececc?)cclC)elncceccl-clne(nec)NC 1544 0
772
Clclcce(cecl)C(=0O)Nclce(C)e(Oc2neecc2-c2nc(nec2)NC)ecl 1546 0 773
O(C)clcee(cc N\C=N\Nc1[nH]nc(C)c1C(=O)Nclccc(N(C)C)ecl 1568 0 774
O(C)clcee(ccl)CCNC(=0)cle(n[nH]cIN\N=C\c1ccc(OC)ec1)C 1580 0 775
O(C)clcee(cc \C=N\Nc1[nH]nc(C)c1C(=O)NCclccceecl 1580 0 776
O(CI1CCN(CC1)C)clee(Ne2ne-3¢(CC(c4e-3n(ncdC(=0)NC)C)(C)C)en2)cecl
1584 0 777
S(=0)(=0)(NICCN(CC1)CI1CCN(CC1)cleec(OC)c(Ne2nc(cen2)-c2n3ce(nc2-c2cc(cce
2)C(=0)Nc2c(F)ccec2F)C=CC=C3)ccl)C 1600 0 778
slnc(ccINC1=NC=Cn2clncc2-clcn(ncl)C)CICCNCCI1 1600 0 779
slc2c(ncl-clecce(Ne3nencdc3cc(OCCCN3ICCN(CC3)C)e(OC)e4)cc10C)cccec2
1600 0 780
O=C(NC)clnn(c-2¢1C(Cclc-2nc(ncl)Nclcee(cc)CNICCN(CC1)C)HC)O)C 1615
0 781
O(C)clcee(ccl)CNC(=O)cle(n[nH]cINWN=C\clccc(OC)ccl)C 1623 0 782
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S(=0)(=0)(N1CCOCCI)clcc(Nc2ne(cen2)-c2¢3c(n(c2)CCC)encc3)ccclC 1650
0 783

Brcleee(cel)CNelne-2¢(CCc3e-2n(nc3C(=0)N)C)enl 1688 0 784

Brelsc(ncl)Ncleee(OC)ecl 1700 0 785

Brclsc(ncl)Ncleee(ccl)C(=0)C 1700 0 786

O=C(Nclcc2e([nH]nc2CCc2ccccc2)ccl)Ccleccecl 1700 0 787

O=C(Nclccc(ecl)-clnn(ccl-clec2ec([nH]c2nccl)CN(C)C)CC)Ncelceeeecl 1701 0
788

O(C)clcee(cc1 \C=N\Nc1[nH]nc(C)c1C(=O)NCclcc(NC(=0)C)cccl 1746 0
789

O=C/1Nc2c(ccce2)\C\1=C\c1[nH]c2c(c1CCC(OCC)=0)C(=0)CCC21780 0
790

O1c2¢(CNc3clnenc3Nelenc(ncl )NC(=O)clccececl)ecec2 1900 0 791

olccccl-cInc(NC(C)C)c2ee(cee2nl \C=C\C(O)(C)C 1900 0 792

slccec1CC(=0O)Nclcec2[nH]ne(c2¢1C)\C=C/clccc(cc1)CNICCN(CC1)C 1900
0 793

slccec1CC(=0O)Nclcec2[nH]ne(c2¢1C)H\C=C\clce(cccl)CNICCN(CC1)C 1900
0 794

O=C(N)clnn(c-2c1CCclc-2nc(ncl)NCclcenecl)C 1923 0 795

O(C)clcee(cc N\C=N\Nc1[nH]nc(C)c1C(=O)NCCclnc[nH]Jc1 1937 0 796

O(C)clcee(cc \C=N\Nc1[nH]nc(C)c1C(=O)NCCCclccceecl 1942 0 797

O=C(N)clnn(c-2c1CCclc-2nc(nc1)NC1ICCCCI)CICCN(CC1)C(=0)C 1970 0
798

Fclee\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(OCC)=0)C(=0)CCC3)ccl 1980 0
799

Brelsc(ncl)Nelneeceel 2000 0 800

Fc1c2NC(=0)/C(/c2cccl)=C/1\Nc2c(cccc2)\C\I=N\O 2000 0 801

Iclce(F)c(Ne2e(F)e(F)e(cc2C(0)=0)CNC(=0)[C@@H](N)CC(=O)N)ccl 2000
0 802

Brclsc(ncl)Nclcee(ccl)C#N 2100 0 803

Fclcecec1CCNelne(ne(nl)Ncelec2e(neec2)ccl)Nelec(OC)e(ccl)C 2100 0
804

O1CCN(CCl)clcce(NC2=NC(=CN3[C@@H]2NC=C3)c2ccenc2)ccl 2120 0
805

O1CCN(CCl)cleec(NC2=NC(=Cn3c2ncc3)c2ccenc2)ecl 2120 0 806

O=C(N)clnn(c-2c1CCclc-2nc(ncl)NCclec(N2CCN(CC2)C)cccl)C 2136 0
807

O1c2c3c4c(cc20CT)C(=0)Ncdccle3ccecclO 2140 0 808

O=C(NcIn[nH]c2c1CN(C2)C(=0)C)clccc(cc1)C 2140 0 809

FC(F)(F)Cnlnc(c(cl)-clc2ec[nH]c2nccl)-cleccc(NC(=O)Nc2cceec2)eel 2150 0
810

S(=0)(=0)(Nclcc\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCCN2CCCC2)C(=0)CCC3)ccl

)cleceeel 2170 0 811
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S(=0)(=0)(Nclcc\2¢(NC(=0)/C/2=C\c2[nH]c3¢c(c2CCCN(C)C)C(=0)CCC3)ccl)clc
ccecl 2190 0 812
O1c2¢(CNc3clnenc3Nelenc(ncl )NC(=O)clcccecl)e(OC)ecc2 2200 0 813
Brclsc(ncl)Nclee(ceecl)C(OCC)=0 2250 0 814
S(=0)(=0)(N1CCc2clccec2)clec\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCCN(C)C)C(=
0)CCC3)ccl 2270 0 815
Brelsc(ncl)Ncelcee(ecel)C(=O)NCCN1ICCOCCI 2300 0 816
0O=C/1Nc2c(cccc2)\C\1=C/1\Nc2c(ccec2)\C\1=N\OC(=0)C 2300 0 817
O=C(N)clnn(c-2c1CCclc-2nc(ncl)NCclccencl)C 2306 0 818
O=C(N1Cc2¢c([nH]nc2NC(=0)Cc2ccccc2)C1)C 2310 0 819
O(C)clcce(-n2ne(c3CCc4c(nc(ncd)NC4CCCC4)-c23)C(=O)N)ccl 2312 0
820
S(=0)(=0)(N1CCc2clccee2)clec\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCCN(CC)CC)C
(=O)CCC3)ccl 2340 0 821
Clclcee(cel)C(=0O)Nclee(C)e(Oc2nccec2-c2nc(ncc2)NC)ecl 2342 0 822
O=C(N)clnn(c-2c1CCclc-2nc(ncl)Nclccecel)-clecccecl 2360 0 823
Brclsc(ncl)Ncleee(ccl)C(F)(F)F 2400 0 824
Clcle2ne([nH]e2neel)-clecce(N(C)C)ecl 2400 0 825
O1CCN(CCI1)CCNCcl[nH]c2ncee(c2cl)-clen(nel-cleccc(NC(=0O)Nc2cceec2)ecl)C
C 2445 0 826
S(=0)(=0)(Nclcc\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCCN(CC)CC)C(=0)CCC3)ccl)
clccceel 2450 0 827
ClclIncec2cln(cc2-cInc(nccl)Ncleee(O)ecl)CC 2460 0 828
Fclee(NC(=0)Cc2[nH]nc(Nc3nenc4ce3ccecd)c2)ececcl  2478.6001 0 829
O=C(N)clnn(c-2c1CCclc-2nc(ncl)NclcccccIN)C 2497 0 830
O=C(Nclccc(NC2=NC(=CN3[C@@H]2NC=C3)c2cccnc2)ccl)C 2500 O
831
O=C(Nclccc(NC2=NC(=Cn3c2ncc3)c2ccenc2)ecl)C 2500 0 832
slc(ecnc1Nclnccecl)CH#N 2500 0 833
slcc(ccINC1=NC=Cn2clncc2-clen(ncl)C)C 2500 0 834
slcc(ncINC(=0)clec(cecl)C(F)(F)F)CCNclnenc2elscc2 2500 0 835
Brclsc(ncl)Ncleccec1OC 2700 0 836
olccecl-cIne(NC(C)C)c2ec(cee2nl ) CHCCO 2700 0 837
Clclec2nene(Ne3cece(ce3)-c3scdc(n3)ccecd)c2ec1C2700 0 838
slc2c(ncl-clcce(Ne3nenc4ce3sccd)ecl)ceec2 2800 0 839
OCCNCcl[nH]c2ncee(c2cl)-clen(nel-cleccc(NC(=0O)Nc2cceec2)ec1)CC2819 0
840
Brelsc(ncl)Ncelcee(eel)C 2840 0 841
O=C(N)clnn(c-2c1CCclc-2nc(ncl)Nclccececcl)CCNICCCCC1 2848 0 842
O(C)clee(cecl)CCNC(=0)cle(n[nH]cIN\N=C\c1lccc(OC)ec1)C 2895 0 843
Brcleee(Ne2se(Br)en2)ecl 2900 0 844
O(C)clece(NC2=NC(=CN3[C@@H]2NC=C3)c2ccenc2)ccl 2900 0 845
O(C)clcece(NC2=NC(=Cn3c2ncc3)c2ccenc2)ecl 2900 0 846
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O=C(N)clnn(c-2c1CCclc-2nc(ncl)NclcccccINC)C 2900 0 847

O=C(NCCCC)clcc(NC(=0)CCCCCNc2nenc3[nH]ene23)cecl 2900 0 848

O=C(NC)clnn(c-2¢1C(Cclc-2nc(ncl)Nclce(ccc)CN(C)CHC)C)C 2940 O
849

Brclsc(necl)Ncleee(Cl)ecl 3000 0 850

Brelsc(ncl)NclceeceeelC 3000 0 851

Clclnenc2[nH]e3cc(OC)e(OC)cc3cel12 3000 0 852

Iclce(F)e(Ne2e(F)c(F)e(cc2C(O)=0O)N\C=N\NC(=0)c20c(cc2)CO)cc13000 0
853

olccec1ClIn2c¢3c(nc2NC(C)=C1C(=0O)Nclccc([N+](=0)[O-])ccl)cecee3 3000 0
854

O=C(N(O)C)clnn(c-2c1CCclc-2nc(ncl )NCICCCC1)C 3057 0 855

O=C(NcIn[nH]c2c1CN(C2)C(=0O)C)clccceel 3110 0 856

S(=0)(=O0)(N1CCC(CC1)C(=O)N1CCC(Nc2nc-3¢(CCc4c-3n(nc4C(=0)NC)C)cn2)C

Cl)cleccecl3112 0 857

O(C)cle(0C)ce(cc10C)C=ICNC(=0)C=1clc2¢([nH]cl)ccee2 3200 0 858

O(C)cle(0C)ce(cc10C)C=ICNC(=0)C=1clc2c(n(c1)C)cccc2 3200 0 859

s1c2c(nenc2NCCe2ccc(NC(=0)c3ce(cee3)C(F)(F)F)ec2)cc13200 0 860

slc2c(ncl-clecece(N(C)e3nencde3ec(OC)c(OCCCN3CCN(CC3)C)ed)cc10C)cecc?2
3300 0 861

O=C(NCC)Cnlnc(c(cl)-clc2ec[nH]c2nccl)-clccc(NC(=O)Nc2ceceee2)eel 3392
0 862

Clclec2e([nH]ecc2C(=0)c2¢(F)c(NS(=0)(=O)CCC)ccc2F)ncl 3400 0 863

O(C)clc2e([nH]nc2C)nc2clec(OC)cc2 3500 0 864

O1c2c(cc(OC)cc2)CNe2eInene2Ncelene(ncl)NC(=O)cleec(ccl)C 3500 0
865

S(=0)(=O0)(N1CCC(CC1)C(=O)N1CCC(Nc2nc-3¢(CCc4c-3n(nc4C(=0)NC)C)cn2)C

CI)C 3500 O 866

Brelsc(ncl)Nclecencl 3600 0 867

O(C)clceecc1CCNelne(ne(nl)NC(Celc2ecenc2[nH]e1)C(=O)N)Nclcc2e(ncec2)ecel
3700 0 868

O1c2¢(CNc3clnenc3Nelenc(nel )NC(=O)clccc(ccl)C)ecec2 3700 0 869

S(=0)(=0)(N(C)C)clcece(NC2=NC=Cn3c2ncc3-c2cn(nc2)C)cc1 3700 0 870

O=C(Nclccc(NC2=NC(=CN3[C@@H]2NC=C3)c2cccnc2)ccl)clceccecl 3750 0
871

O=C(Nclccc(NC2=NC(=Cn3c2ncc3)c2ccenc2)ecl)cleccecl 3750 0 872

O(C)clceecc1CCNelne(ne(n1)NC(Celc2ecene2[nH]e1)C(=O)N)N(CCCC)C 3800
0 873

slc(ecnc1Nclnee(cc1)CNICCN(CCI)C)CH#N 3800 0O 874

O=C(N(O)C1CCCCC1)clnn(c-2¢1CCclc-2nc(ncl )NCICCCC1)C 3839 0
875

O=C(Nclccc(ecl)-cl[nH]nccl-clc2cc[nH]e2ncc1)Nclceceeel 3848 0 876

O=C(Nclccc(ecl)-cIn[nH]ccl-clc2ec[nH]c2nccl)Nelcccecl 3848 0 877
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S(=0)(=0)(N(CCC)CCC)clcee(ccl)C(=0O)NclInce(Ne2nenc3c2ec(OC)c(OCCCN2C
COCC2)c3)enl 3900 0 878
S(=0)(=0)(N(CCC)CCC)clncc(cnl)C(=0O)NcIncc(Ne2nene3c2ec(OC)c(OCCCN2C
COCC2)c3)enl 3900 0 879
Iclce(F)e(Ne2e(F)c(F)e(cc2C(O)=0O)\C=N\NC(=0)CS(=0)(=0)c2ccc(Cl)cc2)ccl
4000 0 880
O=C/1Nc2c(cccc2)\C\1=C/1\Nc2c(cccc2 \C\I=N\O 4000 0 881
slc2c(ncl-clcc(F)c(Nc3nencdce3sced)ccl)ccec2 4000 0 882
O=C(N)clnn(c-2c1CCclc-2nc(ncl )NCICCCCl)-clecccecl 4050 0 883
O(C)clcc2[nH]c(nc2ccl)-cIn[nH]ccI\C=C\clcc(cncl)C#N 4200 0 884
OICCN(CC1)cleec(NC2=NC(=CN3[C@@H]2NC=C3c2cccnc2)c2ccenc2)ccl
4200 0 885
O1CCN(CCl)clecc(NC2=NC(=Cn3c2ncc3-c2ccenc2)c2cecenc2)ecl 4200 0
886
O=C(Nc1n[nH]c2c ICN(C2)C(=O)NCCCC)Cclcec(N2CCCC2)ccl 4200 0
887
Oclcee(Ne2ne(cen2)C=2[C@H]3[C@H](N(C=2)c2ccccc2)C=CC=C3)ccl 4200
0 888
O=C/1Nc2c(cccc2)\C\1=C/1\Nc2c(cccc2)\C\I=N\OC 4300 0 889
[nH]1c2nccee2nel-clece(N(C)C)ecl 4300 0 890
[nH]1c2nccee2nel-clece(ccl)-clnccecl 4400 0 891
[nH]1c2nccee2nel-cleee(ccl)CINCCCC1 4400 0 892
slc(ecnc1NcInec(cc1)CNICCN(CC1)CC)CHE#N 4400 0 893
slc2c(ncl-clec(C)e(Ne3nencdc3ec(OC)c(OC)cd)ecl)eccec2 4400 0 894
S(=0)(=0)(Nclce(ceel)C=1N=C(Nc2ccc(OC)cc2)[C@@H]2N(C=1)C=CN2)clcccn
cl 4500 O 895
S(=0)(=0)(Nclcc(cccl)C=IN=C(Nc2ccc(OC)cc2)c2n(C=1)ccn2)clccencl 4500
0 896
Brclsc(ncl)Ncleee(cel)C(=O)NCCN(CC)CC 4520 0 897
O=C(N(O)Cclcccecl)elnn(c-2¢1CCclc-2nc(ncl)NCICCCC1)C4564 0 898
OCCNclnc-2¢(CCc3c-2n(nc3C(=0O)N)C)enl 4597 0 899
[nH]1c2nccee2nel-clece(N2CCCC2)ecl 4600 0 900
O=C(N)clnn(c-2c1CCclc-2nc(ncl)NCclnccecl)C 4643 0 901
Oclce(Ne2ne(cen2)C=2[C@H]3[C@H](N(C=2)c2ccccc2)C=CC=C3)cccl 4670
0 902
O=C(N)cInn(c-2c1CCclc-2nc(nc1)NCICCN(CCI1)C(=O)N1CCN(CCI1)C)C 4708
0 903
Fclee(ceel)C(=O)Neln[nH]c2c1CN(C2)C(=0)C 4850 0 904
slcc(nc1CC(=0)Nclcc(cecl)C(F)(F)F)CCNelnenc2clscc2 4900 0 905
Clclee2ne([nH]c2ncl)-clccec(N(C)C)ecl 4970 0 906
Brclsc(ncl)Nclc2c(cecl)eceec2 5000 0 907
O(C)clc2c3ec(0O)cee3cc3NC(=0)c(cc10)ec23 5000 0 908
O1c2cc(N(CC)CC)cec2CNe2cInenc2Nelenc(nel )NC(=O)clcccecl 5000 0
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909

O(C)clcee(ccl)C(=0)Ncleeccec1C(=O)NC(Cceleee(O)ecl)C(=0O)Nclcee(cc1C)C
5090 0 910

O(C)clceecc1CCNelne(ne(n1)NC)Nclec2e(neec2)ecl 5100 0 911

O=C(Nclccc(ecl)-clnn(ccl-clec2ec([nH]c2necl)CNCCCNICCN(CC1)C)CC)Nelcee

cccl 5111 0 912

O=C(Nclccc(ecl)-clnn(ccl-cle2ec([nH]e2nec 1 )CNCCN1CCN(CC1)C)CC)Ncleecee

cl 5111 0 913

Brelsc(ncl)Neleee(ccl)C(=O)NCCN(C)C 5250 0 914

O(C)clcee(cc \C=N\Nc1[nH]nc(C)c1C(OCclcccecl)=O 5250 0 915

O(C)clcc2e(nenc2Ne2ecc(N3Ce4c(C3)ccecd)cc2)cc1OC - 5300 0 916

Brclsc(ncl)Neleee(ccl)C(=O)NCCNICCCCI 5320 0 917

slc(encINclInce(ccl)CNICCN(CC1)CCO)CH#N 5400 0 918

O=C(Nclccc(ecl)-clnn(ccl-cle2ec([nH]c2nec1 )CNCCN(C)C)CC)Nceleceeeel
5477 0 919

O(C)cleece(NC2=NC(=CN3[C@@H]2NC=C3)c2cc(N)ccc2)ccl 5480 0 920

O(C)cleece(NC2=NC(=Cn3c2ncc3)c2cc(N)cec2)ecl 5480 0 921

Brelsc(ncl)NC(=O)clcceeel 5500 0 922

Brelsc(ncl)NelcececlF 5500 0 923

Clclece(NC2=NC(=CN3[C@@H]2NC=C3)c2cccnc2)ccl 5500 0 924

Clcleec(NC2=NC(=Cn3c2ncc3)c2ccenc2)ccl 5500 0 925

slc2c(ncl-clcc(Ne3ne(ncde3cc(OC)c(OC)c4)Ne3n[nH]e(c3)C)cccl)ecec2 5500
0 926

O=C(Nclccc(ecl)-cln(necl-cle2ec[nH]c2nccl)CC)Nelceeecl 5600 0 927

olccecl-cInn2¢(NC3=C(CN(Cc4cccec4OC)C3=0)C2=0)c1 5600 0 928

O=C(N)Cnlnc(c(cl)-clc2cc[nH]c2nccl)-clccc(NC(=O)Nc2cceec2)ecl 5676 0
929

Brclsc(ncl)Ncleee(cecl)C(OCC)=0O 5700 0 930

Clclec2nccc(Ne3ece(ce3)-c3sc4c(n3)ccecd)c2ecl 5700 0 931

O(C(=0O)c1[nH]nc-2¢1CCclc-2[nH]c2c1ccec2)CC 5700 0 932

Clclee(NC(=0)C=2C(n3c4c(nc3NC=2C)ccccd)c2occc2)ccclF 5730 0 933

O=C(Nclccc(ecl)-cln(necl-clc2ec[nH]c2nccl)C(C)(C)C)Neleccecl 5770 0
934

slc2c(ncl-clcce(Ne3nenc4[nH]enc34)cc10C)ceec2 5800 0 935

S(=0)(=0)(Nclccc(cc1)CCNelnenc2oc(c(c12)-cleccecl)-cleccec])cleceee] 5831
0 936

Oclce(Ne2ne(cen2)C=2[C@H]3[C@H](N(C=2)C)C=CC=C3)cccl 5840 0
937

s1cencINC(=O)CN1CCN(CCl1)clnenc2elcc(OC)c(OC)e2 5900 0 938

slc2c(ncl-clcce(Ne3ne(ncde3cc(OC)c(OC)ec4)Ne3n[nH]c(c3)C)ecl)ecec2 6000
0 939

OCCnlnc(c2CCc3c(nc(nc3)NC3CCCC3)-c12)C(=O)N 6040 0 940

Fcleee(NC(=0)C=2C(n3c4c(nc3NC=2C)ccccd)c2occc2)ccl6150 0 941
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O1CCCClnlnc(c(cl)-clc2ec[nH]c2neel)-clece(NC(=O)Nc2eecec2)ecl 6195 0
942
OICCC[C@@H]1Cnlnc(c(c1)-clc2ec[nH]c2nccl)-cleccc(NC(=O)Nc2cceee2)ccl
6195 0 943
O(C)cleccccCCNelne(ne(nl1)NC(Cele2ecenc2[nH]c1)C(=O)N)N([C@@H](C)cle
ccecl)C 6300 0 944
Clele([C@H](Oc2cc3cc(enc3ec2)\C=C\C(=O)N)C)c(Cl)ccclF 6400 0 945
Clclcec(Ne2nenc3ce2cc(OC)e(OC)c3)ccclF 6500 0 946
O(C)c1c(OC)ee(cc1OC)C1=C(CNCI1=0)c1c2c(n(c1)COclcceecl)ceec2 6500 0
947
O(C)clcee(ccl)-cl[nH]c2ncecee2nl 6600 0 948
S(=0)(=0)(Nclce(ceel)C=1N=C(Nc2ccc(OC)cc2)[C@@H]2N(C=1)C=CN2)c1ccc(
OC)ccl 6700 0 949
S(=0)(=0)(Nclcc(ceel)C=IN=C(Nc2ccc(OC)cc2)c2n(C=1)ccn2)clcec(OC)ccl
6700 0 950
nl2c(nccl)C(=NC(=C2)clccencl)Ncleececl 6700 0 951
nlce(cecl)C=1N=C(Nc2ccccc2)[C@@H]2N(C=1)C=CN2 6700 0 952
Clclcc(ee(-n2ne(c3c2ec(ne3)N[C@@H](C)c2eccec2)C)el)-clecccc INC(=0)C
6800 0 953
O1CCN(CC1)C(=0)CnlInc(c(cl)-clc2ec[nH]c2nccl)-clccc(NC(=O)Nc2cceec2)ccl
6810 0 954
[nH]1c2ncc(ce2necl-clece(N(C)C)ecl)C 6900 0 955
nlc(cenc1Ncelec(cecl)CHN)C=1[C@H2[C@@H](N=CC=C2)N(C=1)CC 6990
0 956
[nH]1c2ncce(c2ncl-clece(N(C)C)ecl)C 7000 0 957
O(C)clece(NC2=NC(=CN3[C@@H]2NC=C3)c2cc(NC(=0)Nc3ccccc3)ccc2)ccl
7200 0 958
O(C)cleece(NC2=NC(=Cn3c2ncc3)c2cc(NC(=0)Nc3cccee3)cec2)ccl 7200 O
959
slce(ncINC(=O)N(C)cleccecl)CCNelnenc2clscc2 7200 0 960
O(C)clece(NC2=NC(=CN3[C@@H]2NC=C3)c2cc(NC(=0)COC)ccc2)ccl 7310
0 961
O(C)clece(NC2=NC(=Cn3c2ncc3)c2cc(NC(=0)COC)ccc2)ecl 7310 0 962
olccec1Cln2c3¢(nc2NC(C)=C1C(=0)Nclccc(OC)eccl)ccee3 7580 0 963
Brelsc(ncl)Nclcencel 7800 0 964
O(C)clece(NC2=NC(=CN3[C@@H]2NC=C3)c2cc(NC(=0)Nc3ccc(OC)ce3)cec2)ce
1 7900 0 965
O(C)cleece(NC2=NC(=Cn3c2ncc3)c2ecc(NC(=0)Nc3cec(OC)cc3)ecc2)ccl 7900
0 966
olccecl-cInn2¢(NC3=C(CN(Cc4ccc(OC)cc4)C3=0)C2=0)cl 8000 0 967
slc2c(ncl-clcece(Ne3nenc4[nH]ccc34)ccl)ecec2 8000 0 968
OC1CCC(NC(=0)c2cc3Cc4c([nH]nc4-c4ccc(ccd)-cdecc(O)ccd)-c3cc2)CC1 8090
0 969

51



Fcleee(NC(=0)C=2C(c3c(n[nH]c3)NC=2C)c20ccc2)ccl 8100 0 970
O=C(Nclccc(ecl)-clnn(ccl-clc2ec[nH]c2nccl)C(C)(C)C)Neleccecl 8155 0
971
O=C(Nc1n[nH]c2cICN(C2)C(=0)C)clcee(ccl)CH#N 8500 0 972
O=C(C)clcc(cccl)-clee2ne([nH]c2nel)-clccc(N(C)C)ecl 9000 0 973
Brclsc(ncl)Ncleee(NC(=O)c2cccec2)ccl 9200 0 974
olccec1Cle2e(n[nH]c2)NC(C)=C1C(=0O)Nclccc(OC)ccl 9250 0 975
Brclsc(ncl)Nclee(F)cec19300 0 976
slc2c(ncl-clec(C)e(Ne3nencde3cc(OCCCNICCN(CC3)C)e(OC)c4)cecl)ecec2
9400 0 977
O(C)clee2e(nenc2N2CCN(CC2)Cce2c3c(ccc2)ccee3)ecclOC 9600 0 978
O(C)cleece(NC2=NC(=CN3[C@@H]2NC=C3)c2nn(cc2)C)ccl 9700 0 979
O(C)cleece(NC2=NC(=Cn3c2ncc3)c2nn(cc2)C)ecl 9700 0 980
O(C)cle(OC)ce(cc10C)C1=C(c2c3c([nH]c2)cecc3)C(=O)NCI=0 9900 0
981
Brelsc(ncl)NC(=O)Nclcceecl 10000 O 982
Brclsc(nel)Nclec(cec)C(F)(F)F 10000 0 983
FC(F)(F)clnc([nH]c1)-cIn[nH]ccI\C=C\clcc(encl)CNCC 10000 0 984
[nH]1c2nccee2nel-clee(N(C)C)eecl 10000 0 985
nl2c¢(nccl-clen(necl)C)C(=NC=C2)Nclcc(N(C)C)cecl 10000 0 986
slce(ncINC(=0)Cclcc(cecl)C(F)(F)F)CCNelnenc2clscc2 10000 0 987
slcc(ncINC1=NC=Cn2clncc2-clcn(ncl)C)C 10000 0 988
slnc(ncINC1=NC=Cn2clIncc2-clen(ncl)C)C 10000 0 989
Oclcc(O)cecl-cleec(ecl)-c1[nH]nc(Nc2cee(cc2)CNC(C)C)el 10050 0 990
O(C(=0)clc(n[nH]JcIN\WN=C\clcc2c¢([nH]cc2)cc1)C)CC11505 0 991
Oclcce(ccl)CC(NC(=0O)cleccecIN)C(=O)Nceleec(eccl)C 11940 0 992
[nH]1c2¢(ncl-clcecec(N(C)C)ecl)eenc2 12500 0 993
Brelsc(ncl)Nelcee([N+](=O)[O-])ccl 13000 0 994
O(C(=O)clc(n[nH]cIN\N=C\c1c2¢c([nH]cc2)cccl)C)CC13740 0 995
O=CIN(N=C(Nc2n[nH]c3c2cccc3)c2clcecc2)cleceecl 14000 0 996
O=CINCc2clc(ccc2)C(=O)N 14340 0 997
Clclee(NC(=0)C=2C(c3c(n[nH]c3)NC=2C)c2o0ccc2)ccclF 15000 0 998
olccecl-cInn2¢(NC3=C(CN(Cc4cccecd)C3=0)C2=0)cl 15100 0 999
O(C)cleee(ce1 \C=N\Nc1[nH]nc(C)c1C(OCC)=O 15140 0 1000
olccecl-cInn2¢(NC3=C(CN(Cc4cc(OC)ccc4)C3=0)C2=0)cl 15200 0 1001
O(C)cle(0C)ce(cc10C)C1=C(CNC1=0)clc2c([nH]cl)ccee2 16000 0 1002
O(C)clcc(cccl)-cl[nH]c2nceee2nl 16000 0 1003
O(C)clcee(ccl)C=1CNC(=0)C=1clc2c([nH]cl)ccec2 16000 0 1004
O(C)cleec2e(nenc2N2CCN(CC2)CC(=O)N(C)c2ceeec2)ec1OC 16500 0 1005
O(CC)clec2e(ne(nc2C)Ne2ne(O)c3c(n2)ccec3)ccl 16720 0 1006
O=C(NCCCC)clcc(NC(=0O)CCCCCCNc2nenc(N)c2)ceel 17000 0 1007
Brclsc(ncl)Neleec(OC(F)(F)F)ecl 17200 0 1008
Oclcc(cecl)-clec2ne([nH]c2nel)-clecc(N(C)C)ec118000 0 1009
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olccecl-cInn2¢(NC3=C(CN(Cc4cc(NC(=0)C)ccc4)C3=0)C2=0)c1 18300 0
1010
O(CC(0)Cnlc2e(ncIN\WN=C\clccccc10)N(C)C(=O)NC2=0)clccc(OC)ecl 18400
0 1011
Fcl1e2NC(=0)/C(/c2cccl)=C/1\Nc2c(ceee2)\C\I=N\OC(=0)C 20000 0 1012
O(C)clccee(ccl)-clee2ne([nH]c2nel)-clccc(N(C)C)eel 20000 0 1013
s1c2c(nenc2NCCe2cc(NC(=O)Nc3cee(cee3)C(F)(F)F)ecc2)ecl 20000 0 1014
S(=0)(=0O)(NclInccenl)cleec(N)eccl 21000 0 1015
O(Cclcceccl)clec2ec([nH]c2ccl)-c1e2¢(CNC2=0)cccl 21230 0 1016
Clele([C@H](Oc2cc3cc(enc3ec2)C2CC2C(=0)N)C)e(Cl)cecl F 22000 0 1017
O(C)cleec2e(nenc2N2CCN(CC2)C(C)c2ceccec2)ecc1OC 25000 0 1018
slcne(-c2nesc2)cINC(=0)Cclc2e(cecl)enec2 27000 0 1019
O(C)c1c(0OC)ee(cc1OC)C1=C(CNC1=0)clc2c(n(c1)COCC)cccc2 29000 0
1020
O(C)clcceccl-cl[nH]e2nceee2nl 29000 0 1021
O(C)cle(OC)ce(cc10C)C1=C(CNC1=0)c1c2c(n(c1)COC(C)(C)C)cccc2 30000 0
1022
O(C)cle(OC)ce(cc10C)C1=C(CNC1=0)c1c2c(n(c1)COC(C)C)ccec2 33000 0
1023
O(C)clee2e(nenc2N2CCN(CC2)CCOc2ccccc2)cclOC 35000 0 1024
Fcleee(cc1)CNICCN(CCl)clnenc2clec(OC)c(OC)c2 40000 0 1025
Clelecc(NC(=0)C=2C(C3=C(NC=2C)CC(CC3=0)(C)C)c2ccccc2)ccl 40340 O
1026
O(C)cle(OC)ce(cc10C)C1=C(CNC1=0)c1c2c(n(c1)CC(O)CO)cccc2 47000 0
1027
Clclec(IN+](=0)[O-])ecc INC(=0O)clcc(Clheec1O 54100 0 1028
O(C)cleec2e(nenc2N2CCN(CC2)CCc2cccec2)cc1OC 76000 0 1029
O(C)clee2[nH]c(ce2ecl)C(=0)C1CCC(CCI)C(C(=O)NCCC=1CCCCC=1)C 86150
0 1030
O(C)clee2e(nenc2N2CCN(CC2)CC(=O)N2CCCC2)cc1OC 98000 0 1031
O(CCO)cleec(Ne2ne3N(C)C(=O)NC(=0)c3n2CC(=0)Nc2cec(OCC)ec2)ccl 98700
0 1032
Brc1c2NC(=0)/C(/c2cccl)=C/1\Nc2c(ceec2 \CV\I=N\O 100000 0 1033
Clelee(Ne2nene(N)e2C(=O)NCCN2CCCCC2)cecl1OCclcccecl 100000 0 1034
slc(-c2nc(ncc2)Nc2ec(OC)c(OC)c(OC)c2)e(nc1C)C  0.40000001 1 1035
S(clecc(NC(=0)CC)ccl)cInc(Ne2n[nH]c(c2)C)c2e(nl)cecec2 1 1 1036
OC(CCCC(NcInc(Nec2n[nH]e(c2)C)ec(C)eICHN)C)(C)C 1200 0 1037
Clclee(Sce2ne(Ne3n[nH]c(c3)C)c3c(n2)ceee3)ecclCl 2 1 1038
S(clccc(NS(=0)(=0)C)ccl)clnc(Ne2n[nH]e(c2)C)c2e(nl)ccec22 1 1039
Clclce(ClheeclSclnc(Ne2n[nH]e(c2)C)c2¢(nl)ccec2 2 1 1040
S(clecc(NC(=0)C)ccl)clnc(cc(nl)Ncln[nH]e(c1)C)-cleccecl  2.4000001 1
1041
S(clecc(NC(=0)CC)ccl)elnc(N2CCC2)cc(nl)NecIn[nH]c(c1)C 2.4000001 1
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1042
Clcle(Sce2nc(Ne3n[nH]e(c3)C)c3e(n2)ccec3)ceeclCl 3 1 1043
S(clccc(NC(=0)CC)ccl)clnc(ce(nl)Neln[nH]c(c1)C)-clcecenc13.9000001 1
1044
Clclee(Sce2ne(Ne3n[nH]ce(c3)C)c3e(n2)cecee3)ceel 4 1 1045
S(clecc(NC(=0)C)ccl)clnc(Nc2[nH]nc(c2)C)c2c(nl)ccec24 1 1046
ClclccceclSclne(Ne2n[nH]c(c2)C)e2e(nl)eccec2 5 1 1047
Clclccee(Cl)e1ScIne(Ne2n[nH]e(c2)C)e2c(nl)ccec2 5 1 1048
S(clccc(NC(=0)CC)ccl)elnc(ce(nl)Neln[nH]c(c1)C)C 5.0999999 1 1049
Clclcee(Sce2nc(Ne3n[nH]e(c3)C)c3e(n2)ccee3)ecl 6 1 1050
S(CCCCCCO)cInc(Ne2n[nH]c(c2)C)ec(C)c1CH#N 8.5 1 1051
S(clccc(NC(OC(CYC)C)=0)ccl)clnc(Ne2n[nH]e(c2)C)c2e(nl)ccec2 9 1
1052
O(clInccecl-clne(nec1)NC)elc2e(ccec2)c(NC(=O)Nc2ceceec2)eel 52 1 1053
slc(encINC(=O)Nclce(ceccl)CCN1CCC1)CCNelnenc2elscc2 53 1 1054
O1CCN(CC1)Cclcee(eel)-c1[nH]ec2ncee(c2cl)-clen(ncl-cleccc(NC(=O)Nc2eceec?)
cc)CC 59 1 1055
Brclece(ccc1C)C(=0O)Nclnce(Ne2nenc3c2ec(OC)c(OCCCN2CCOCC2)ce3)enl 70
1 1056
O1CCN(CCI1)Cclcc(ceel)-c1[nH]c2ncee(c2cl)-clen(ncl-clecc(NC(=O)Nc2ceceeec?)
ccl)CC 94 1 1057
S(=0)(=0)(N(Cclcenccl)clnce(Ne2ne3n(nee3en2)C2CCCCCC2)ecl)C 95 1
1058
Clelee(NC(=0O)Nc2sc(cn2)CCNe2nene3ce2sce3)ceclCl 96 1 1059
S(=0)(=0)(C=1C=Nc2n(nc(c2)C)C=1clcccccl)clcccecl 1011 1060
S(=0)(=0)(C=1C=Nc2n(ncn2)C=Iclcccccl)clcccccl 1041 1061
O1CCN(CC1)CCCOclcc2nenc(Ne3eee(NC(=0)cdecceed)cc3)c2ec1OC 110 1
1062
S(=0)(=0)(N(CCO)clncc(Nc2ne3n(nee3en2)C2CCCCCC2)ec1)C 1101 1063
Clclcee(ecl)-c1nn2¢(N=CC(S(=0)(=0)c3ccccc3)=C2c2cccec2)cl 1201 1064
Fcleee(ccl)CIN(CCCINclne(encl)C(=0)clc2c(nenc2N)n(c1)C(C)C)C=0 140 1
1065
olc2c(nc1Nclc3c(ceee3)c(Oc3ncece3-c3nc(nec3)NC)ecl)eeee2 1411 1066
S(=0)(=O)(N(CCN1CCOCC1)cInce(Ne2ne3n(nee3en2)C2CCCCCC2)ecl)C 150 1
1067
O=C(Nclc(ccec1CC)CC)clnn(c-2¢c1CCcle-2ne(ncl)Nelceeecl)C 1521 1068
S(=0)(=0)(Nclcc(cccl)-cln[nH]c(Ne2ne(nc(N3ICCN(CC3)CCO)c2)C)cl)cleccecl
1701 1069
S(=0)(=0)(N(CCN)clncc(Nc2ne3n(nee3en2)C2CCCCCC2)ec)C 1801 1070
Fclee(NC(=0)Cc2[nH]nc(Nc3nencdce3cc(OC)c(OCCCN(CCO)CC)e4)c2)ccecl
1901 1071
S(=0)(=0)(Nclcc(cccl)-cIn[nH]c(NC(=0)c2ccc(cc2)CN2CCOCC2)cl)clecececl
2201 1072
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O(clInceecl-clnc(nec1)NC)elc2e(ccec2)c(NC(=O)NC(C)(C)C)eccl 2251 1073
S(=0)(=0)(N(CCN(C)C)clncec(Ne2ne3n(nee3en2)C2CCCCCC2)ecl)C 260 1
1074
slc(encINC(=O)NC1CCCCCI1)CCNclnene2clsec2 2701 1075
CleleccccINC(=0O)Nclsc(ecnl)CCNelnene2clscc2 2801 1076
S(=0)(=0)(Nclcc(cecl)-cIn[nH]e(Ne2ne(nc(N3ICCN(CC3)C)c2)C)cl)elccccecl
2901 1077
S(=0)(=0)(Nclcc2e(C=Cc3ncc(cc3C2=0)-c2cn(nc2)C)cc)N(CC10CCOCT)C
2901 1078
O(clInceecl-clnc(ncc1)NCCCIN(CCC1)C)elc2e(cccc2)c(Ne2[nH]c3ce(n2)ceee3)ccl
3271 1079
O(clInceecl-clnc(nccl)NCCICCN(CC1)CC)clc2e(ccee2)c(Ne2[nH]e3c(n2)ccee3)ee
1 3321 1080
S(=0)(=0)(Nclcc(cecl)-cIn[nH]c(NC(=0)c2ccc(N3CCN(CC3)C)cc2)cl)cleeceed
3401 1081
S(=0)(=O)(N(CCN1CCCCl)clnce(Nc2ne3n(nce3en2)C2CCCCCC2)ecl)C 350 1
1082
Fcle(NC(=0)Cc2[nH]nc(Nc3nenc4ce3cc(OC)c(OCCCN(CCO)CC)c4)c2)cceclF
3601 1083
O(C)clce(cecINelnc-2¢(CCe3c-2n(nec3C(=0O)Nc2ce(ccec2CC)CC)C)enl)C(=O)NIC
CCN(CC1)C3721 1084
slc2c(ncINcle3ce(ceee3d)e(Oc3ncccc3-c3nc(nce3)NC)ecl)ceec2 3801 1085
S(=0)(=0)(Nclcc(cecl)-cIn[nH]c(NC(=0)c2ccc(N3CCOCC3)cc2)cl)clccceccel
3901 1086
O=C(NCCclcccccl)elnn(c-2¢1CCclc-2nc(ncl)Nceleecceel)C 6770 1087
S(=0)(=0)(Nclcc(cecl)-cln[nH]c(Ne2nc(ne(NCCCN3CCOCC3)c2)C)cl)cleccecl
6800 1088
O(C)clce(cecINelnc-2¢(CCce3c-2n(nec3C(=0)Nc2c(ccecc2CC)CC)C)enl )C(=0)NCC
N(C)C 7500 1089
Fclcee(ccINC(=O)Ncleee(cel)-clc2e([nH]ne2N)cec1)C 7600 1090
O(C)clce(cecINelne-2¢(CCe3c-2n(nec3C(=0O)Nc2c(ccec2CC)CC)C)enl)C(=0O)N
7680 1091
Fcle(NC(=0)Cc2[nH]nc(Nc3nencde3ccc(OCCCN(CCO)CC)e4)c2)cceclF - 1400
0 1092
0=C(clc2c(ncne2N)n(c1)C(C)C)cInc(NC2CCN(C(=0)C)C2c2ccccc2)encl 820 0
1093
O=C(NC1CCCCl)clec(-n2c3nc(ncc3cc2)Ne2ec(N3CCN(CC3)C)eec2)cecl 820 0
1094
S(=0)(=0)(Nclcc(cecl)-cIn[nH]c(NC(=0)c2cc(N3CCN(CC3)C)cec2)el)clecceed
8500 1095
S(=0)(=0)(Nclcc(cccl)-cIn[nH]c(NC(=0)c2ccc(N3CCN(CC3)C)ec2)cl)cleec(OC)
ccl 1000 0 1096
S(=0)(=0)(Nclcc(cccl)-cIn[nH]c(NC(=0)c2ccc(N3CCN(CC3)C)ec2)cl)CC 1640
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0 1097
S(=0)(=0)(Nclcc(cccl)-cIn[nH]c(NC(=0)c2ccc(N3CCN(CC3)C)ec2)el)C(C)C
1000 0 1098
S(=0)(=0)(Nclcc(cecl)-cIn[nH]c(NC(=0)c2cc(N3CCOCC3)ccc2)cl)clceceel
1000 0 1099
slc2c(ne(ne2N2CCOCC2)-c2enc(nc2C)N)ec1C(O)(C)C10000 0 1100
O1C2CC(N(C2)CCn2nc3c(ccec3-c3ncde(nc3O)ccec14)c20)C 1000 0 1101
O(clIncececl-clne(nec1)NC)elc2e(ccec2)c(Ne2[nH]c3c(n2)cenc3)cc11067 0
1102
Fclee(cec1)C(=0O)NclIncc(Ne2nene30c4cc(OC)c(OC)ecc4CNe23)enl 1100 0
1103
S(=0)(=0)(Nclcc(cecl)-cIn[nH]c(NC(=0)c2ccc(OCCN3CCCC3)cc2)cl)cleeceed
1170 0 1104
O=C(Nclccc(ccl)-clnn(ccl-clc2ec([nH]c2neel)-clec(ceccl)CN(C)C)CCIN(C)C
1259 0 1105
FC(F)(F)Oclecc(cee1NcIne-2¢(CCe3e-2n(nc3C(=0)Nc2c(ccec2CC)CC)C)enl)C(=0)
NCCN(C)C 1376 0 1106
O(C)clce(ceccINelne-2¢(CCce3c-2n(nec3C(=0O)Nc2c(ccec2CC)CC)C)enl)C(=0)NC1
CCN(CCI1)C1450 0 1107
S(=0)(=0)(Nclcc(cecl)-cIn[nH]c(NC(=0)c2ccc(N3ICCN(CC3)C)ec2)cl)CCC
1640 0 1108
O(clInceecl-clnc(nec 1 )NCC(CN(C)C)(C)C)clc2e(ccec2)c(Ne2[nH]e3c(n2)ccee3)ee
1 1658 0 1109
Clclee(S(=0)(=0)Nc2cce(cee2)-c2n[nH]c(NC(=0)c3ccc(NACCN(CC4)C)ee3)c2)ece
1 1710 0 1110
Olc2c-3c¢(cc(0)c20)C(0Oc2c-3¢(cc(0)c20)CI1=0)=0 2480 O 1111
slc(ecncINC(=O)clec(cecl)C(F)(F)F)CCNclnenc2elsec2 2500 0 1112
Fclee(NC(=O)Nc2cce(Ne3nencdce3cecc(OCC3CCN(CC3)C)cd)ec2)eecl 2680 0
1113
S(clccc(NC(=0)CC)ccl)elnc(ce(nl)Neln[nH]c(c1)C)C(CH(CO)C10 1 1114
Clclcc(ccel)[C@H](NC(=0O)c1[nH]cce(c1)-c1nc(ncc1C)Nc1c20CCOc2cccl)CO 11
1 1115
slc(-c2nc(ncc2)Nc2eee(N3ICCN(CC3)C(=0)C)ec2)e(ncINC)C 12 1 1116
slc(-c2nc(ncc2)Nc2ecc(N3CCOCC3)ec2)c(necINCC)C 14 1 1117
OCC(NC(=O)c1[nH]cc(c1)-cInc(ncc1C)Neleeeeel)cleceeel 15 1 1118
Clclcec(cec1)C(NC(=0)c1[nH]cc(cl)-cInc(ncc1C)Ne1c20COc2cccl)CO 15 1
1119
S(clec(OC)c(OC)cel)eInc(Ne2n[nH]e(c2)C)c2e(nl)ccecc2 17 1 1120
[nH]Inc(Ne2nc(nc3c2ccec3)N(C)c2eccec2)eclC 17 1 1121
S(clccc(NC(=0)C)ccl)clnc(cc(nl)Ncln[nH]e(c1)C)C 18 1 1122
slc(-c2nc(ncc2)Nc2eee(N3CCOCC3)ec2)c(ncINC)C 19 1 1123
S(clcccecl)clne(Ne2n[nH]c(c2)C)e2e(nl)cecec2 20 1 1124
[nH]Inc(Nc2nc(nc3c2ccee3)Nc2eceee2)eclC 24 1 1125
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S(clccc(NC(=0)C)ccl)clnc(Nce2n[nH]cc2)c2c(nl)ccec2 24 1 1126
slc(-c2nc(ncc2)Nc2eee(N)ce2)e(nclC)C 31 1 1127
Fclc(NC(=0)Cc2[nH]nc(Nc3nenc4c3cc(OC)c(OCCCN3CCC[C@H]3CO)c4)c2)ccce
IF 9500 1128
Fcle(NC(=0)Cc2[nH]nc(Nc3nencde3cc(OC)c(OCCCN3CCN(CC3)CCO)cd)c2)cece
IF 55 1 1129
[nH]Inc(ccINclInc(nc2clceec2)-cleccecl)C 58 1 1130
Fclee(NC(=0)Cc2[nH]nc(Nc3nenc4ce3cc(OC)c(OCCCN(CCO)C)cd)c2)ceel 65 1
1131
slc(-c2nc(ncc2)Nc2ee([N+](=0)[O-])cec2)c(ncIN)C 73 1 1132
[nH]Inc(Nc2nc(nc3c2ecee3)-c2cencc2)eclC 81 1 1133
S(clccc(NC(=0)C)ccl)clnc(Nce2n[nH]c(c2)C)cenl 86 1 1134
Fclcc(NC(=0)Cc2[nH]nc(Ne3nencdc3cec(OC)c(OCCCN3CCC[C@H]3CO)c4)c2)cce
1 1400 0 1135
Clclec(cee)[C@H](NC(=0O)c1[nH]cce(c1)-cInc(ncc1C)Neleeee(OC)c10C)CO
2001 1136
Fcle(NC(=0)Cc2[nH]nc(Nc3nencdce3cc(OC)c(OCCCNICCC(0)CC3)c4)c2)cceclF
2201 1137
Fclee(NC(=0)Cc2[nH]nc(Nc3nenc4e3cc(OC)c(OCCCNICCC(CC3)CO)cd)c2)ec(F)
cl 2301 1138
Fcle(NC(=0)Cc2[nH]nc(Nc3nenc4ce3cc(OC)c(OCCCN3ICCC(CC3)CCO)c4)c2)ccce
IF 2801 1139
Fcle(NC(=0)Cn2nce(Ne3nenc4c3ce(OC)c(OCCCN3CCCC3CO)cd)c2)cccclF
3401 1140
Fcle(NC(=0)Cc2[nH]nc(Nc3nencdce3cecc(OCCCN(CCC)CCO)cd)c2)cceclF 87 1
1141
FC(F)(F)clce(NC(=0)c2cc(C#Cce3n(C)e(ne3)C(=O)NC)c(cc2)C)eccc ICNTICCN(CC1
)CCO 3000 O 1142
O(C)clcececcINclIne-2¢(CCe3c-2n(nc3C(=0)Nc2c(cccc2CC)CC)C)enl 3168 0
1143
Clclcece(NC(=0O)Nc2cee(Oc3ee(nec3)C(=0O)NC)ec2)ec1C(F)(F)F - 3800 0
1144
Oclc(cee(0)c10)C1=CC(=0)c2c(C1=0)c([N+](=O)[O-])ccc2 4800 0 1145
slc(ecnc1CC(=0)Nclcc(cecl)C(F)(F)F)CCNelnene2clsce2 4900 0 1146
Clclece(S(=0)(=0)Nc2cc(cec2)-c2n[nH]c(NC(=0)c3ccc(N4CCN(CC4)C)ee3)c2)ce
1 4990 0 1147
O=C(NC)clnn(c-2¢1C(Cclc-2nc(ncl)Nclcee(cc)CN(C)CYC)C)C 8550 1148
FC(F)(F)clec(NC(=0)c2cc(-c3ccde(nc(nc4)NC)ee3)e(cc2)C)c(OC2CCN(CC2)C)ecl
25000 0 1149
FC(F)(F)clcc(NC(=0)c2cc(-c3ccde(nc(ncd)NCCNACCOCC4)cee3)c(ec2)C)ceccl
25000 0 1150
O(C)clc(OC)ce(Ne2ne(Ne3cecdce(ne3)eceed)cen)ecc1OC - 5000 0 1151
O(CCCNI1CCCCCl)elece(Ne2ne(Ne3cecde(ne3)cceed)cen2)ecl 5000 0 1152
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O(C)c1c(OC)ee(cc10C)C1=C(c2c3c([nH]c2)ccec3)C(=O)NCI=0 5400 O
1153
S1ISCC(NC(=0)C(NC(=0)C2N(CCC2)C(=0)C(NC(=O)C(NC(=O)C(NC(=0O)C2N(C
CC2)C(=0O)C(N)C1)CCCNC(N)=N)Cclecceel)CC(C)C)Cele2e([nH]c1)ccee2)C(=0
)INCC(=O)N 6000 0 1154
Oclc(cec(0)c10)C1=CC(=0)c2c(C1=0)c(O)ccc20 6200 0 1155
S1SCC(NC(=0)C(NC(=0)C(NC(=0)C(NC(=0)C2N(CCC2)C(=O)C(NC(=O)C(NC(
=0)C(N)C1)C(O)C)CCCNC(N)=N)Cclc2c¢([nH]cl)ccec2)Cele2e([nH]c1)eecec2)CC(
C)C)C(=O)NCC(=O)N 7000 0 1156
slc(cncINC(=O)N(C)cleccecl)CCNelnenc2clscc2 7200 0 1157
Clclcec(ccl)C=1n2ncnc2N=CC=1S(=0)(=O)clcccccl 9238 0 1158
S(=0)(=O0)(NICCN(CCI1)CICCN(CC1)clec(OC)c(Ne2nc(cen2)-c2n3c(nc2-c2cc(cce
2)C(=0O)Nc2c(F)cccc2F)C=CC=C3)cclCC)C 9500 0 1159
O(C)cle(OC)ce(cc10C)C1=C(c2c3c([nH]c2)cecc3)C(=O)NCI=0 9900 0
1160
Iclcee(Ne2se(Br)en2)eel 10000 0 1161
Brelsc(ncl)NclceceeclC(F)(F)F 10000 0 1162
Brelsc(ncl)Nclcee(F)eclF - 10000 0 1163
Brclsc(ncl)Nclee(F)ccclF - 10000 0 1164
Brclsc(ncl)Nelee(Cl)e(Cl)ecl 10000 0 1165
Brclsc(ncl)Nelee(Cl)ee(Cl)el 10000 0 1166
Brelsc(ncl)Ncelee(ce(c1)C)C 10000 0 1167
slc2c(ncl-clecc(Ne3nenc4[nH]enc34)cecl)eccec2 10000 0 1168
slc2c(ncl-clcc(Ne3nenc4[nH]ccc34)cccl)ccec2 8000 0 1169
slc2c(ncl-clcece(Ne3ne(ncde3cc(OC)c(OC)c4)NC)eel)ccec2 10000 0 1170
slc2c(ncl-clcecc(Ne3nenc4c3ec(OC)c(OC)c4)cc10C)ceec2 10000 0 1171
O1c2c¢(CNc3clnenc3Nelenc(ncl)NC(=O)clcccccl)eccec20C 10000 0 1172
[nH]1c2ce(N3CCN(CC3)C)ecc2nel-cIn[nH]cc1\C=C\clcecencl 10000 1173
FC(F)(F)clee(Ne2nene(Ne3cc(NC(=0)C4CC4)ccc3)ce2)ccecl 10000 1174
[nH]1cc(ncl-c1n[nH]ccIN\C=C\clccencl)C#N 10000 0 1175
Brclsc(ncl)Nelee(ce(c1)C(F)(F)F)C(FYF)F 10000 0 1176
Brclsc(ncl)N 10000 0 1177
Brclsc(ncl)NC(=0)C 10000 0 1178
slcenc1Nceleee(F)ecl 10000 0 1179
O=C(NC1CCCCl)clnn(c-2c1CCclc-2nc(ncl)Nclcceecl)C 10000 0 1180
O=C(Nclcccecl)elnn(c-2¢1CCclc-2nc(ncl)Ncleeecec1)C 10000 0 1181
slc(ecncINC(=0)Cclcc(cecl)C(F)(F)F)CCNelnene2clsce2 10000 0 1182
O=C(N)clnn(c-2c1C(Cclc-2nc(ncl)Nclcceecl)(C)C)C 10000 0 1183
Olc2cc(ccc20C1)C(=O)NcIn[nH]c2c1ICN(C2)C(=0)C 10000 0 1184
O=C(NcIn[nH]c2c1CN(C2)C(=0O)Nclcccecl)Celecceel 10000 0 1185
O=C(NcIn[nH]c2c1CN(C2)C(=O)N)Cclcccccl 10000 0 1186
Fclecccc1CC(=0)Neln[nH]c2c1CN(C2)C(=O)NCCCC10000 0 1187
O=C(NcIn[nH]c2c1CN(C2)C(=O)NCCCC)Cclcc2c(ccl)ceecc2 10000 0 1188
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O=CIN(CCC1)clcee(ccl)CC(=0O)NcIn[nH]c2c 1ICN(C2)C(=O)NCCCC 10000 0
1189
O=C(NcIn[nH]c2c1CN(C2)C(=O)NCCCC)C(C)clcc2e(ecl)ccec2 10000 0
1190
Fcleee(cel)C(=O)Neln[nH]c2c1CN(C2)C(=0)C 10000 0 1191
Cleleecc(Cl)c1C(=0O)Ncle[nH]nc1C(=O)NCICCNCC110000 0 1192
Brclnc(sc1)Nclecc(F)ec110000 0 1193
Brclsc(ncl1)N(C)clece(F)eel 10000 0 1194
FC(F)(F)Oclccc(N2CCN(CC2)C)ecINcelnc-2¢(CCc3c-2n(nc3C(=0O)N)CCO)cenl
10000 0 1195
O=C(Nclcce(ecl)-clnn(ccl-clec2ec[nH]e2nccl)CC)N(C)C 10000 0 1196
O(C)clece(N2CCN(CC2)C)eclNcIne-2¢(CCe3e-2n(nc3C(=0)N)C)enl 10000 0
1197
O(C(=O)c1nn(c-2c1CCclc-2nc(ncl)Nclcceec)C)CC 10000 0 1198
S(C)clcccccINclne-2¢(CCe3c-2n(ne3C(=0O)N)C)enl 10000 0 1199
O=C(C)c1c(N2CCN(CC2)C)ccecINcIne-2¢(CCe3c-2n(nc3C(=0)N)C)enl 10000
0 1200
O=C(C)clcc(N2CCN(CC2)C)cecINcIne-2¢(CCe3c-2n(nc3C(=0)N)C)enl 10000
0 1201
O=C(C)clccc(N2CCN(CC2)C)eclINcIne-2¢(CCe3c-2n(nc3C(=0O)N)C)enl 10000
0 1202
slc2c(ncl-clcece(Ne3nencdc3ec(OC)c(OC)cd)cclO)ecec2 10000 0 1203
Clclcce(Ne2nene3c2ecc(Cl)e3)ecel-clsc2e(nl)cccc2 10000 0 1204
Clclece2nene(Ne3ece(ce3F)-c3scdc(n3)ccecd)c2ecl 10000 0 1205
Clclec2neec(Ne3ec(OC)e(ce3)-c3scdc(n3)ceccd)c2ecl 10000 0 1206
Clclec(Ne2nenc3e2sce3)cecl-clsc2e(nl)ceec2 10000 0 1207
slc2c(ncl-clcce(Ne3nencdce3sced)cc1OC)ececc2 10000 0 1208
slc2c(ncl-clcce(Ne3nenc4[nH]ene34)ccl)ccec2 10000 0 1209
slc2c(ncl-clecece(Ne3ne(OC)nc4[nH]cce34)cc10C)ccecc2 10000 0 1210
slc2c(ncl-clecece(Ne3ne(OC)nc4[nH]cce34)ccl)ceec2 10000 0 1211
slc2c(ncl-clcce(Ne3nenc4[nH]cce34)cc10C)eccc210000 0 1212
slc2c(ncl-clecece(Ne3ne(N(C)C)een3)ecl)ceec210000 0 1213
slc2c(ncl-clcece(Ne3ne(nec3)NC)ecl)ccec2 10000 0 1214
slc2c(ncl-clcece(Ne3ec(nee3)C(=0O)NC)ecl)ccec2 10000 0 1215
slc2c(ncl-clcce(Ne3cec(nee3)NC)ecl)ecec2 10000 0 1216
O=C(N)clcc([nH]cl-clcccecl)-clnc(nccl)N 10000 0 1217
Fclee(ce(F)c1)C(=0O)Ncln[nH]c2c ICN(C(=0)C(C)(C)C)C2(C)C 10000 0
1218
O=C(N)clnn(c-2c1CCclc-2nc(ncl)N)C 10000 0 1219
O1CCN(CC1)CCNclnec-2¢(CCc3c-2n(nc3C(=0)N)C)enl 10000 0 1220
slc2c(nc(ne2N2CCOCC2)-c2ene(nc2)N)cclC(O)(C)C 10000 0 1221
O=C(N)clnn(c-2c1CCclc-2nc(ncl)Nclceeccl)CICCN(CC1)C 10000 0 1222
FC(F)(F)cleceec1NceIne-2¢(CCce3ce-2n(nc3C(=0O)N)C)enl 10000 0 1223
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FC(F)(F)clee(Ne2ne-3¢(CCc4e-3n(ncdC(=0)N)C)cn2)cccl 10000 0
O=C(C)clcccecINclne-2¢(CCc3c-2n(nc3C(=0O)N)C)enl 10000 0
O=C(N)clnn(c-2c1CCclc-2nc(ncl)Nclcceccc[N+](=O)[O-])C 10000
O=C(N)clnn(c-2c1CCclc-2nc(ncl)Nelcc([N+](=0)[O-])cccl)C 10000
O=C(N)clnn(c-2c1CCclc-2nc(ncl)Nclcec([N+](=0)[O-])ccl)C 10000
[nH]1nc(c2cc(NCe3nceee3)c(N3CCN(CC3)C)ec12)\C=C\clcceecl
1229
O(C)clec(N2CCN(CC2)C)eeclNelIne-2¢(CCe3c-2n(nc3C(=0)N)C)enl
1230
O(C(=0O)clceecccINcIne-2¢(CCe3c-2n(nc3C(=0)N)C)enl)C 10000
O=C(N)clccceclINelne-2¢(CCc3c-2n(nc3C(=0O)N)C)enl 10000 0
S(=0)(=0)(N)clcccec1Nelnc-2¢(CCc3c-2n(nc3C(=0)N)C)enl 10000
O=C(N)clnn(c-2c1CCclc-2nc(ncl)Nclcececcl-cleccec1)C 10000 0
O(clccececINelnc-2¢(CCc3c-2n(nc3C(=0O)N)C)enl)clcccecl 10000
O=C(N)clnn(c-2c1CCclc-2nc(ncl)NclccececlCeleececl)C 10000 0
O=C(N)clnn(c-2c1CCclc-2nc(ncl)NclcceccINcleceee1)C 10000 0
O=C(clcccecINelne-2¢(CCc3c-2n(nc3C(=0)N)C)cnl)clccececl 10000
S(clcccec1NelIne-2¢(CCc3c-2n(nc3C(=0O)N)C)enl)cleccecl 10000
O=C(N)clnn(c-2c1CCclc-2nc(ncl)NclccecccINC(=0)C)C 10000 0
slc2c(ncl-clec(O)c(Ne3nencdce3cc(OC)c(OC)e4)ccl)ecee2 350 1
O=C(NC)clnn(c-2c1CCclc-2nc(nc1)NCICCN(CC1)C)C 10000 0
O=C(N)clnn(c-2c1CCclc-2nc(nc1)NCICCN(CC1)C(=0)C)C 10000
O=C(NC)clnn(c-2c1CCclc-2nc(nc1)NCICCN(CC1)C(=0)C)C 10000
O=C(N1CCC(Nc2nc-3c(CCc4c-3n(nc4C(=0)NC)C)cn2)CCl)clcccececl
1245

1224
1225
0 1226
0 1227
0 1228

10000 O

10000 O

0 1231
1232
0 1233
1234
0 1235
1236
1237
0 1238
0 1239
1240

1241

1242

0 1243
0 1244
10000 0

0=C(NC)clnn(c-2¢1CCcle-2ne(nc )NCICCN(CC1)C(=0)N1CCN(CC1)C)C

10000 0 1246
O(CC)C(=O)N1CCC(CC1)C(=O)NI1CCC(Nc2ne-3¢(CCc4c-3n(nc4C(=0)NC)C)cn2)
CC1 10000 0 1247
O=C(N)clnn(c-2c1CCclc-2nc(nc1)NCCNICCCCC1)C 10000 0 1248
O=C(N)clnn(c-2c1CCclc-2nc(nc1)NCICCCCC1)C 10000 0 1249
O=C(N)clnn(c-2c1CCclc-2nc(nc1)NCICCN(CC1)CC)C 10000 0 1250
O=C(N)clnn(c-2c1CCclc-2nc(nc1)NCICCCCI1)C 10000 0 1251
O=C(NC)clnn(c-2c1CCclc-2nc(nc)NCICCCCI)C 10000 0 1252
O=C(NC(CN(C)C)C)clnn(c-2c¢1CCcle-2nc(ncl )NCICCCC1)C 10000 0 1253
O=C(N(CCN(C)C)C)clnn(c-2¢1CCcle-2nec(ncl )NCICCCC1)C 10000 0 1254
O=C(N1CCN(CC1)C)clnn(c-2c1CCclc-2nc(nc1)NC1CCCCI1)C10000 0 1255
O=C(N)clnn(c-2c1CCclc-2nc(ncl)NCICCCC1)Cclceeeel 10000 0 1256
O=C(N)clnn(c-2c1CCclc-2nc(ncl )NC1CCCCl1)-clnccecl 10000 0 1257
FC(F)(F)Oclcccec1NeIne-2¢(CCc3c-2n(nc3C(=0O)N)C)cnl 10000 0 1258

FC(F)(F)Oclcccec1Ne1ne-2¢(CCc3c-2n(nc3C(=0)Nc2c(cccc2CC)CC)C)enl 10000

0 1259

FC(F)(F)Oclcc(cec1NcIne-2¢(CCe3ce-2n(nc3C(=0)Nc2c¢(ceec2CC)CC)C)enl)C(=0)

60



N 10000 0 1260
FC(F)(F)Oclcc(ccc1NcIne-2¢(CCe3ce-2n(nc3C(=0)Nc2c(ccec2CC)CC)C)enl)C(=0)
NCICCN(CC1)C 10000 0 1261
FC(F)(F)Oclecc(cec1NcIne-2¢(CCe3e-2n(nc3C(=0)Nc2c(ccec2CC)CC)C)enl)C(=0)
NICCCCICNICCCC1 10000 0 1262
FC(F)(F)Oclcc(cec1NcIne-2¢(CCe3e-2n(nc3C(=0)Nc2c(ccec2CC)CC)C)enl)C(=0)
NICCC(N(C)C)CC1 10000 0 1263
FC(F)(F)Oclecc(cec1NcIne-2¢(CCe3e-2n(nc3C(=0)Nc2c(ccec2CC)CC)C)enl)C(=0)
NICCCN(CCI1)C 10000 0 1264
Clc1¢(NC(=O)N(C)c2nenc(Ne3cec(N4CCN(CC4)CC)ee3)c2)e(Cl)e(0OC)cc10C

10000 0 1265
Clele2n(c3c(c2cecc 1 CHC(CH#N)C1(NC3=0)CCNCC1)C 10000 0 1266
olcenc(C(=O)NCc2ccncc2)cl-clccc(OC)ecl 10000 0 1267
O=CINC=Cc2clcccc2Ccln2N=C(C=Cc2nnl)clen(ncl)C 10000 0 1268
O=CINC=Cc2clcccc2Ccln2N=C(C=Cc2nnl)clcccccl 10000 0 1269
FC(F)(F)Oclcce(N2CCN(CC2)C)ecclNcelInc(cenl)-cln(ce(c1)C(=0O)N)C 10000 0

1270
FC(F)(F)Cnlcc(ccl-cInc(nec1)Nelec(N2CCN(CC2)C)eecc 10C(F)(F)F)C(=O)N

10000 0 1271
FC(F)(F)Oclccc(N2CCNCC2)ccINcelnc(cenl)-cIn(cc(c1)C(=0O)N)C10000 0

1272
FC(F)(F)Oclccc(N2CCN(CC2)C)eclNclnc(cenl)-cIn(cc(c1)C(=O)N)CCO 10000

0 1273
FC(F)(F)Oclccc(N2CCN(CC2)C(OC(C)(C)C)=0)cc1Nclne(cenl)-cln(ce(c1)C(=0)
N)C10000 0 1274
O=CINCCc2[nH]c(cc12)-cInc(nccl)N 10000 0 1275
FC(F)(F)Oclcce(N2CCN(CC2)C)eclNclnc(cenl)-cln(c2e(c1)C(=O)NCC2)C

10000 0 1276
FC(F)(F)Cnlc2c(ccl-cInc(necl)Nclee(N3CCN(CC3)C)eecc1OC(F)(F)F)C(=O)NCC
2 10000 O 1277
FC(F)(F)Oclccc(N2CCN(CC2)C)eclNcelnc(cenl)-c1n(c2e(c1)C(=O)NCC2)CCO

10000 0 1278
FC(F)(F)Oclccc(N2CCN(CC2)C)ecINclnc(cenl)-c1n(c2¢(c1)C(=O)N(CC2)C(OC(
C)(C)C)=0)C 10000 0 1279
CIC=1C(=0O)N(C=NC=10Cclccc(F)cclF)clcc(ccc1C)C(=O)NCCO 10000 0

1280
0lc2nene(NCCC(=0)Nc3cccce3)c2c(cl-cleccecl)-cleceecel 5831 0 1281
Oclcc(O)ccc1C1=CC(=0)c2c(cccc20)C1=0 12000 0 1282
slc2c(nenc2NCCc2ccc(cc2)C(=0)Nc2cc(cec2)C(F)(F)F)ec120000 0 1283
slcc(ncINC(=O)Nclcc(cecl)C(F)(F)F)CCNclnenc2clsce2 20000 0 1284
Fclce2[nH]c(cc2ecl)C(=O)NIC[C@]2(CCN(C2)C2CC[C@H](NC2)C)c2clccec2

1890 0 1285
O=CINC(=Cc2n(nc(N)c12)C)clccc(N2CCN(CC2)C)ecl 52000 0 1286
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O=C1CCCc2n(c-3¢c(c12)C(=0O)clc-3cccc])C(C)C 1101 1287
O=C(NC1CCCCCI)CICCC(N(CI)cInc(ne(cl)-clcc2[nH]nc(N)c2cc1)NC)C 39810
0 1288
O1CCN(CC1)CCCnlce(c2cleccc2)C1=C(c2c3nccec3n(c2)C)C(=0)NC1=0 1790
0 1289
O=CINC(=0)C(n2c3c(nccc3)cc2)=Clclc2e(n(cl)CCnlcenel)ceec2 2601 1290
Clele([C@@H](Oc2cc3c(neee3)ec2)Ce(Cl)ccclF 50000 0 1291
O(C)cleece(NC(=0)C=2C(c3c(n[nH]c3)NC=2C)c2ccccc2)ccl 50000 0 1292
O=C(Nclccc([N+](=0)[O-])ccl)C=1C(c2c(n[nH]c2)NC=1C)clcccccl 50000 0
1293
FC(F)(F)clece(NC(=0)C=2C(c3c(n[nH]c3)NC=2C)c2ccccc2)ccl 50000 0
1294
Clclee(NC(=0)C=2C(c3c(n[nH]c3)NC=2C)c2ccccc2)ccc1F50000 0 1295
Fcleee(NC(=0)C=2C(c3c(n[nH]c3)NC=2C)c2ccccc2)ccl 50000 0 1296
slccecl1Clc2e(n[nH]c2)NC(C)=C1C(=0O)Nclcec(OC)eccl 50000 0 1297
slcceclClc2e(n[nH]c2)NC(C)=C1C(=O)Nclcec([N+](=0)[O-])ccl 50000 0
1298
slccee1Cle2e(n[nH]ec2)NC(C)=C1C(=0O)Nclccc(ccl)C(F)(F)F 50000 0 1299
Clclec(NC(=0)C=2C(c3c(n[nH]c3)NC=2C)c2sccc2)ccclF 50000 0 1300
olccec1Cle2e(n[nH]c2)NC(C)=C1C(=O)Nclccc([N+](=O)[O-])ccl 50000 0
1301
FC(F)(F)clece(NC(=0)C=2C(c3c(n[nH]c3)NC=2C)c20ccc2)cc150000 0 1302
O1CC(N2CCN(CC2)c2cc3ce(cc2CC)C(=0)c2c([nH]cdcc(cecc24)CHN)C3I(C)CO)CI
50000 O 1303
O1CC(N2CCC(CC2)c2cc3c(cc2)C(=0)c2c([nH]cdcc(cce24)CHN)C3(C)C)C1 50000
0 1304
S1ISCC(NC(=0)C(NC(=0)C(NC(=0)C2N(CCC2)C(=O)C(NC(=O)CNC(=0)C(NC(
=0)C(N)C1)CC(0)=0)C(0O)C)CCCNC(N)=N)CCCNC(N)=N)C(=O)NCC(=O)N
91000 0 1305
Clclce(Ne2nene(N)c2C(=0O)Nc2ceeee2)ccc1OCcleccecl 100000 0 1306
Clclce(Ne2nene(N)c2-c2oc(nn2)CCN2CCOCC2)ccc1OCcleccecl 100000 0
1307
O(C)clcc2[nH]c(nc2ccl)-cIn[nH]cc1\C=C\clcc(cncl)C(=O)NCC 100000 0
1308
O(C)clec2[nH]e(nc2ccl)-cIn[nH]cc1\C=C\clcc(enc1)C(OC)=0 100000 0 1309
O=CINCc2clc(ccc2)C(0)=0 100000 0 1310
O=CINCc2clc(ccc2)C(OC)=O 100000 0 1311
O=CIN(Cc2clc(cce2)-cln(cecl)C(OC(C)C)C)=0)C 100000 0 1312
Ic1c2NC(=0)/C(/c2ccc1)=C/1\Nc2c(ccec2)C\I=0 100000 0 1313
Fcl1c2NC(=0)/C(/c2cccl)=C/1\Nc2c(cccc2 \C\I=N\OC 100000 0 1314
Fcl1e2NC(=0)/C(/c2cccl)=C/1\Nc2c(ccec2)C\1=0 100000 0 1315
Brc1c2NC(=0)/C(/c2cccl)=C/1\Nc2c(ccec2)C\I=0100000 0 1316
Ic1¢2NC(=0)/C(/c2ccc1)=C/1\Nc2c(cccc2)\C\I=N\OC 100000 0 1317
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Brc1c2NC(=0)/C(/c2cccl)=C/1\Nc2c(ceec2 \C\I=N\OC(=0)C 100000 0 1318
Brc1c2NC(=0)/C(/c2cccl)=C/1\Nc2c(ccec2)\C\I=N\OC 100000 0 1319
Ic1c2NC(=0)/C(/c2ccc1)=C/1\Nc2c(cccc2)\C\I=N\OC(=0)C 100000 0 1320
Clc1e2NC(=0)/C(/c2cccl)=C/1\Nc2e(ccec2)C\1=0100000 0 1321
Clc1e2NC(=0)/C(/c2cccl)=C/1\Nc2e(ccec2)\C\I=N\O 100000 0 1322
Clc1e2NC(=0)/C(/c2cccl)=C/1\Nc2ce(ccec2)\C\I=N\OC 100000 0 1323
[c1c2NC(=0)/C(/c2ccc1)=C/1\Nc2c(ceccc2)\C\I=N\O 100000 0 1324
Clc1e2NC(=0)/C(/c2cccl)=C/1\Nc2c(ccec2)\C\I=N\OC(=0)C 100000 0 1325
Clclce(Ne2nene(N)c2C(=O)NNC(=0)CCN2CCOCC2)ccc1OCcleccecl 100000 0
1326
Clclce(Ne2nene(N)c2C(OCc2cec(F)cee2)=0)cec10OCcelceeeccl 100000 0 1327
Clclce(Ne2nene(N)c2C(=0O)N(CC)CC)ccclOCcleccecl 100000 0 1328
Clclce(Ne2nene(N)c2C(=O)NCCOC)cccl1OCcelceececl 100000 0 1329
Clclec(Ne2nenc(N)e2C(=0)NCCc2ccc(OC)cc2)ccc1OCcleccecl 100000 0
1330
Clelee(Ne2nene(N)e2C(=O)NCCN2CCOCC2)cec1OCcelecceccl 100000 0 1331
Clclcce(eel)Cnlee(c2cleccc2)CCC(=0O)Nclceencel 100000 0 1332
Clclec(Ne2nenc(C)e2C#HCce2cc(F)c(cc2)CN2CCCC2)ecc10Ccelec(F)eecl 100000
0 1333
Clclcee(ecl)-c1sc(CCNC(=0)C(=O)Nc2cc(NC(=0)C)ccc2)e(n1)C 100000 0
1334
Brclsc(ncl)NC(=0)CSclsc2c(nl)cc(OC)cc2 100000 0 1335
Clclcee(ecl)Cnlec(c2clccec2)CCC(=O)Nceleee([N+](=0)[O-])ccl 100000 0
1336
S1ISCC(NC(=0)C(NC(=0)C(NC(=O)CNC(=O)C(NC(=O)C2N(CCC2)C(=0)C(NC(
=0)C(N)C1)Cclnc[nH]c1)CCC(=O)N)CC(0)=0)C(O)C)C(=O)NCC(=O)N 137000
0 1337
S1SCC(NC(=0)C2N(CCC2)C(=0)C(NC(=O)C(NC(=O)C2N(CCC2)C(=O)C(NC(=
O)CNC(=0)C(N)C1)Cclnc[nH]c1)CCC(=O)N)C(C)C)C(=O)NCC(=0O)N234000 0
1338
S1ISCC(NC(=0)C(NC(=0)C(NC(=0)C2N(CCC2)C(=O)C(NC(=O)CNC(=0)C(NC(
=0)C(N)C1)CC(0O)=0)C(C)C)Cclc2e([nH]c1)ccee2)Celne[nH]e1)C(=O)NCC(=0)
N 242000 0 1339
S(=0)(=0)(Nclcc(cecl)-cIn[nH]e(Ne2ne(nc(N3CCN(CC3)C)c2)C)cl)CCCC
1000000 0 1340
S(=0)(=0)(Nclcc(cecl)-cln[nH]c(Ne2ne(nc(N3ICCN(CC3)C)c2)C)cl)elec(cecl)C
1000000 0 1341
S(=0)(=0)(Nclcc(cecl)-cln[nH]c(Ne2nc(ne(NCCN3CCOCC3)c2)C)cl)cleceecd
1000000 0 1342
S(=0)(=0)(Nclcc(cccl)-cIn[nH]c(Ne2ne(nc(NCCN(C)C)ce2)C)cl)elceccecl
1000000 0 1343
slc2cc(cee2ncINC(=0)NCclcec(OC)ccl)-c1[nH]nnnl 4800000 0 1344
O(C)clcee(ccl)CNC(=O)Nclncce(cl)-cl[nH]nnnl 1e+008 0 1345
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O(C)clcee(ccl)CNC(=O)Ncelncee(c1)C#N 1e+008 0 1346
S(clccc(NC(=0)C2CC2)ccl)C=IN=C(Nc2n[nH]c(c2)C)c2n(N=1)cc(NC(=O)CCNI1
CCCCC1)c238 1 1347
S(clecc(NC(=0)C2CC2)cc1)C=IN=C(Nc2n[nH]c(c2)C)c2n(N=1)cc(NC(=O)CNI1C
COCCl)c2 7 1 1348
S(clecc(NC(=0)C2CC2)cc1)C=IN=C(Nc2n[nH]c(c2)C)c2n(N=1)cc(NC(=O)CNI1C
CCCl)c2 23 1 1349
S(clecc(NC(=0)C2CC2)cc1)C=IN=C(Nc2n[nH]c(c2)C)c2n(N=1)cc(NC(=O)CNI1C
CCC1CO)c210 1 1350
S(clecc(NC(=0)C2CC2)cc1)C=IN=C(Nc2n[nH]c(c2)C)c2n(N=1)cc(NC(=0)C(=0)
NICCN(CCI1)C)c2 7 1 1351
S(clccc(NC(=O)CN2C[C@H](OC(C)(C)C)C[C@@H]2CO)cc1)C=1N=C(Nc2n[nH]
c(c2)C)c2n(N=1)ccc2 3011 1352
S(c1ccc(NC(=O)CN2C[C@H](Oc3cce(F)ee3)C[C@H]2CO)cc1)C=1N=C(Nc2n[nH]
c(c2)C)c2n(N=1)ccc2 53 1 1353
S(clecce(NC(=O)CN2C[C@@H](F)C[C@@H]2CO)ccl)C=1N=C(Nc2n[nH]c(c2)C)c
2n(N=I)ccc2 15 1 1354
S(clcce(NC(=O)CN2CC(F)(F)C[C@H]2CO)ccl)C=IN=C(Nc2n[nH]c(c2)C)c2n(N=
I)ccc2 8 1 1355
S(c1ccc(NC(=O)CN2CCC[C@H]2CO)cc1)C=1N=C(Nc2n[nH]c(c2)C)c2n(N=1)ccc2
14 1 1356
S(clecc(NC(=O)CN(C)C)ccl)C=1N=C(Nc2n[nH]c(c2)C)c2n(N=1)ccc2 31 1
1357
S(clccc(NC(=0)CN2CCOCC2)ccl)C=1N=C(Nc2n[nH]c(c2)C)c2n(N=1)ccc2 85
1 1358
S(clcce(NC(=O)CNC2CCCC2)cel)C=1N=C(Nc2n[nH]c(c2)C)c2n(N=1)ccc2143 1
1359
S(clcce(NC(=O)CNC2CC2)ccl)C=1N=C(Nc2n[nH]c(c2)C)c2n(N=1)ccc2 32 1
1360
S(c1ccc(NC(=O)CN2C[C@H](Oc3cce(F)ce3)[C@H](0)C2)ccl)C=1N=C(Nc2n[nH]
c(c2)C)c2n(N=1)ccc2 7 1 1361
S(c1ccc(NC(=O)CN2C[C@H](Oc3cc(F)cc(F)e3)[C@@H](0)C2)cc1)C=1N=C(Nc2n
[nH]c(c2)C)e2n(N=1)ccc2 26 1 1362
S(clcce(NC(=O)CN2C[C@H](Oc3cce(F)ec3F)[C@@H](0)C2)cel)C=IN=C(Nc2n[
nH]c(c2)C)e2n(N=1)ccc213 1 1363
S(clcce(NC(=O)CN2C[C@H](Oc3ce(F)cee3)[C@@H](0)C2)cel)C=1N=C(Nc2n[n
Hle(c2)C)e2n(N=1)ccc2 17 1 1364
S(c1eccc(NC(=O)CN2C[C@H](Oc3ccecc3F)[C@@H](0)C2)cc1)C=1N=C(Nc2n[nH]
c(c2)C)c2n(N=1)ccc2 10 1 1365
S(clcce(NC(=O)CN2C\C(=N/O)\[C@H](OC(C)(C)C)C2)ccl)C=IN=C(Nc2n[nH]c(c
2)C)c2n(N=1)ccc2 9 1 1366
S(clcce(NC(=O)CN2C[C@@H](OC3CCCC3)[C@@H](0)C2)cc1)C=1N=C(Nc2n[n
H]c(c2)C)e2n(N=1)ccc2 11 1 1367
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S(clcce(NC(=O)CN2C[C@H](OCC3CC3)[C@@H](0)C2)ccl)C=1N=C(Nc2n[nH]c
(c2)C)c2n(N=I)ccc2 7 1 1368
S(clcce(NC(=O)CN2C[C@H](OC(C)C)[C@@H](0)C2)ccl)C=1N=C(Nc2n[nH]c(c
2)C)c2n(N=1)ccc2 8 1 1369
S(clcce(NC(=O)CN2C[C@H](OCCOO)[C@@H](0)C2)ccl)C=1N=C(Nc2n[nH]c(c
2)C)c2n(N=1I)ccc2 5 1 1370
S(clcce(NC(=O)CN2C[C@@H](OC(CCYC)C)[C@H](0O)C2)ccl)C=IN=C(Nc2n[n
Hlc(c2)C)e2n(N=1)ccc2 5 1 1371
S(clcce(NC(=O)CN2C[C@@H](OC(C(F)(F)F)(C)C)[C@H](0)C2)cc1)C=1N=C(Nc
2n[nH]c(c2)C)c2n(N=1)ccc2 6 1 1372
S(clcce(NC(=O)CN2C[C@H](O)[C@@H](F)C2)cc1)C=IN=C(Nc2n[nH]c(c2)C)c2
n(N=I)ccc2 5 1 1373
S(clcce(NC(=O)CN2C[C@H](OC(C)C)C)[C@@H](0)C2)ccl1)C=IN=C(Nc2n[nH]
c(c2)C)c2n(N=1)ccc2 12 1 1374
S(clcce(NC(=O)CN2CC(N)CC2CO)ccl)C=1N=C(Nec2n[nH]c(c2)C)c2n(N=1)ccc2
3811 1375
S(clcce(NC(=0O)CN2CC(0O)CC2CO)ccl)C=1N=C(Nec2n[nH]c(c2)C)c2n(N=1)ccc2
58 1 1376
S(clccc(NC(=O)CN2CC(SC(C)(C)C)CC2CO)ec1)C=IN=C(Nc2n[nH]c(c2)C)c2n(N
=l)ccc2 111 1 1377
Fclee(NC(=0)Cc2[nH]nc(Nc3nencde3cc(OC)c(OCCCNCCO)c4)e2)ccecl 690 0
1378
Clclec(ccel)[C@H](NC(=0O)c1[nH]cce(cl)-cInc(ncc1C)NeclceeecICC)CO 7200
1379
FC(F)(F)clce(cecl)-c1n2N=C(NC3CCNCC3)C=Cc2nnl 8000 1380
O(CCCNI1CCC(CC1)CO)clee2nene(Ne3n[nH]c(c3)CC(=0)Nc3cc([N+](=0)[O-])cc
c3)c2cc1OC 8900 1381
Fclc(NC(=0)Cc2[nH]nc(Nc3nencdce3ccc(OCCCN3CCC[C@H]3CO)c4)c2)ccccl F
39 1 1382
Fclee(NC(=0)Cc2[nH]nc(Nc3nencdce3ccc(OCCCN(CCC)CCO)cd)c2)ceel 220 1
1383
O=CINC=C(C=CINC(=0)clccc(N2CCCC2CN2CCCC2)ccl)cInc(NC)cncl 1000
0 1384
Fclee(NC(=0)Cn2ncc(Ne3nenc4c3ec(OC)c(OCCCN(CCO)CC)cd)c2)ceel 1100
0 1385
Fclecc(NC(=0)Cn2nce(Nc3nencdc3cc(OC)c(OCCCN3CCC[C@H]3CO)c4)c2)cecl
1300 0 1386
FclcececcINC(=0)Ccel[nH]nc(Nc2nenc3c¢2cc(OC)c(OCCCN2CCC(CC2)CO)c3)cl
1401 1387
Fclcc(NC(=0O)Cc2[nH]nc(Nc3nencdc3cecc(OCCCN3CCCIC@@H]3CO)c4)c2)cccl
1101 1388
O(CCCNICCC(CC1)CO)clee2nene(Ne3n[nH]c(c3)CC(=0)Nc3cccee3)c2ec10C
1600 0 1389
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O(CCCNI1CCC(CC1)CO)clee2nene(Ne3n[nH]c(c3)CC(=0O)Nc3cc(OC)cee3)c2ecl1O
C 1900 0 1390
ClclcccccINelne(n(nl)-clncceccl)N 2000 0 1391
Fcleee(NC(=0)Cc2[nH]nc(Nc3nencde3cc(OC)c(OCCCN3ICCC(CC3)CO)cd)c2)ccl
2000 0 1392
O(C)clcceccINclne(n(nl)-cIlnenc(NCCN(C)C)e1)N 2100 0 1393
ClclccccclNelne(n(nl)-clnce(ccl)CHEN)N2500 0 1394
O(CCCN1CCC(CC1)CO)clee2nenc(Ne3n[nH]e(e3)CC(=0)Nc3ec(cce3)C#N)c2ecl
OC 2600 0 1395
O1CCN(CCl)clee(OC)e(Ne2ne(n(n2)-c2ncc(cc2)C#N)N)cecl 2600 0 1396
Fclee(NC(=0)Cn2ncce(Ne3nenc4c3cec(OCCCN3ICCCC3CO)cd)c2)cecl 3000 0
1397
Fcleee(N2CCOCC2)ccINceInc(n(nl)-clnccccl)N 3000 0 1398
O(CCCNI1CCC(CC1)CO)clee2nene(Ne3n[nH]c(c3)CC(=0)Nc3cc(O)cce3)c2ec10C
4000 0 1399
O1CCN(CCl)clee(Ne2ne(n(n2)-c2neccecc2)N)c(OC)ecl 4000 0 1400
O(C)clcceccINclne(n(nl)-cInccecl)N 7000 0 1401
olc2c(c3clncce3NCeleec(OC)ccl)eecece2 1000000 0 1402
Clclce(cecl)C(=O)Nclncc(Ne2nene3ce2cec(OC)c(OCCCN2CCOCC2)c3)enl 0.1 1
1403
O1CCN(CC1)Cclce2ne([nH]c2ccl)-cIn[nH]cc INC(=O)NCICC1 3 1 1404
OC(=0)clcc(Ne2nce3n(cec3en2)-c2neeec)cccl 0.60000002 1 1405
S(clecc(NC(=0)C2CC2)ccl)cIne(N2CCN(CC2)C)ec(nl)Nel[nH]ne(c1)C
0.60000002 1 1406
S1(=0)(=0)CCN(CC1)clccc(Nc2ne3n(cee3cen2)-c2nceec2)cel  0.80000001 1
1407
slc(ecnc1Nclnenc2clec(OC)c(OCCCNICCOCCT)e2)CC(=0)Nclcecceel 1 1
1408
slc(enc1NcInenc2c1cc(OC)c(OCCCNICCC(CC1)CO)c2)CC(=O)Nclee(F)ceel 1
1 1409
S(clccc(NC(=0)CC)ccl)eInc(N2CCN(CC2)C2CC2)cc(nl)Neln[nH]c(c1)C 1 1
1410
S(clccc(NC(=0)CC)ccl)eInc(N2CCN(CC2)CC)ee(nl)Neln[nH]c(c1)C 1 1
1411
Clelec2e(-c3nc(ncc3CN=C2c2¢(F)cccc2F)Ne2cee(ce2)C(O)=0O)ccl 1 1 1412
slc(ecnc1Nclnenc2clec(OC)c(OCCCNICCOCCT)e2)CC(=0)Nclcc(F)eeel 1 1
1413
slc(ecnc1Nclnenc2clec(OC)c(OCCCN(CCO)CC)c2)CC(=0O)Nclcc(F)ceel 1 1
1414
slc(ecnc1NcInenc2c1cc(OC)c(OCCCN(CCHC)CCO)c2)CC(=O)Ncelee(F)cecll 1
1415
slc(ecnc1NcInenc2c1cc(OC)c(OCCN1CCC(CC1)CCO)c2)CC(=0O)Nclee(F)ceel 1
1 1416
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slc(ecnc1NcInenc2c1cc(OC)c(OCCCNICCN(CC1)C)e2)CC(=0)Nclcc(F)eeel 1
1 1417
slc(ecnc1NcInenc2c1cc(OC)c(OCCCNICCCCICO)c2)CC(=O)Nclec(F)ceel 1 1
1418
S(clecce(NC(=0)C2CC2)ccl)clne(N2CCN(CC2)C)ee(nl)Ncl[nH]ne(c1)C 1.4 1
1419
S(clecc(NC(=0)CC)ccl)cInc(N2CCCCC2)cc(nl)NcIn[nH]c(c1)C 1.6 1 1420
nlc2n(ccc2encINclee(N2CCN(CC2)C)cecl)-cleceecl 3 1 1421
slc(ecncINC(=O)Nclcc(ce(c)C(F)F)F)CNICCCCI)CCNclnenc2elsce2 4 1
1422
nlcccecl-nle2nc(nec2ecl)Nelcc(N2CCN(CC2)C)eeel 5 1 1423
S(=0)(=0)(N(CCCN1CCOCCI1)clcece(Ne2ne3n(nec3en2)C2CCCCCC2)ccl)C 5
1 1424
S(=0)(=0)(N(C(C)C)clecee(Ne2ne3n(nee3en2)C2CCCCCC2)ecl)C 5 1 1425
O(C)clce(-n2c3nc(nec3cc2)Ne2ee(N3CCN(CC3)C)eec2)eeccl 6 1 1426
O(CCNI1CCN(Nc2ne3n(cee3en2)C2CCCCC2)CCI)C 6 1 1427
S(=0)(=0)(N(CCCO)clccc(Nc2ne3n(nee3en2)C2CCCCCC2ecl)C 6 1 1428
S(=0)(=0)(C)clcc(-n2c3nc(neec3cc2)Nc2ece(N3ICCN(CC3)C)ec2)cecl 9 1
1429
slc(cncINC(=O)Nclcc(cec1)C)CCNelnenc2clscc2 9 1 1430
S(=0)(=O0)(N(CCCN1CCCCCl)clcce(Ne2ne3n(nec3en2)C2CCCCCC2)ec)C 9
1 1431
S(=0)(=0)(C)clcc(-n2c3nc(nce3cc2)Ne2ec(N3CCN(CC3)C)ecc2)eccl 10 1
1432
O=C(N)clcc(-n2c3nc(ncc3cc2)Ne2ec(N3CCN(CC3)C)eee2)eecl 11 1 1433
Clelee(NC(=O)Nc2sc(cn2)CCNe2nene3ce2sce3)ceclF 11 1 1434
nlc2n(ccc2enclNelce(N2CCN(CC2)C)cececl)-clecenel 12 1 1435
S1(=0)(=0)CCN(CCl1)clcee(Nc2ne3n(cee3en2)C2CCCCC2)ecl 12 1 1436
nlc2n(ccc2encINclcc(N2CCN(CC2)C)ceccl)-clec(cecl)CEN 13 1 1437
nlc2n(ccc2encINclecc(N2CCN(CC2)C)cecl)-clecenel 13 1 1438
S(=0)(=0)(N(CCO)clccc(Ne2nc3n(nec3en2)C2CCCCCC2)ecl)C 13 1 1439
sInc(ccINC1=NC(=Cn2c1ncc2-clen[nH]c1)C(=O)N1CCCC1)C14 1 1440
S(=0)(=O0)(N(CCNI1CCOCCTI)clcec(Ne2ne3n(nee3en2)C2CCCCCC2)ec])C 14 1
1441
FC(F)(F)clee2[nH]e(nc2ec1)Nelc2e(ceee2)e(Oc2necec2-c2ne(ncc2)NC)eel 16 1
1442
sInc(ccINC1=NC(=Cn2clIncc2-clen[nH]c1)CICC1)C 17 1 1443
S(=0)(=0)(NcIncc(Nc2nc3n(nee3en2)C2CCCCCC2)ccl)C 17 1 1444
O(C)clce(-n2c¢3nc(ncc3cc2)Ne2eee(N3CCN(CC3)C)ec2)eccl 18 1 1445
nlc2n(ccc2encINclecc(N2CCN(CC2)C)ecl)C1Cc2¢(Cl)ecec2 18 1 1446
S(clccc(NC(=0)C2CC2)ccl)cIne(N2CCN(CC2)C)ec(nl)Nel[nH]ne(c1)C 20 1
1447
S(=0)(=0)(N(CCN)clccc(Ne2ne3n(nee3en2)C2CCCCCC2)ecl)C 20 1 1448
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slc(ecncINC(=O)Nclcc(F)ccel)CCNcelnenc2clsce223 1 1449
S(=0)(=0)(C=1C=Nc2n(nc(c2)-c2ccc(OC)cc2)C=Iclcccccl)clcccecl 25 1
1450
nlc2n(ccc2encINelee(N2CCN(CC2)C)ceccl)-clec(cec1)C(C)C 29 1 1451
slc(cncINC(=O)Nclc2[nH]cec2ccc1)CCNelnenc2elsce2 30 1 1452
S(=0)(=0)(N(Cclcenccl)clcec(Ne2ne3n(nec3en2)C2CCCCCC2)ecl)C 30 1
1453
Clclec2e(-c3nc(ncc3CN=C2c2¢c(F)cccc2F)Ne2cee(cc2)C(O)=0)ccl 34 1 1454
Clclece(NC(=0O)Nc2sc(cn2)CCNce2nenc3c2sce3)eccl 39 1 1455
nlc2n(ccc2encINclecc(N2CCN(CC2)C)ecl)CIC2CC(CI)CC2 39 1 1456
Brcle2n(ncl-cleccecl)C(cleccecl)=C(S(=0)(=O)clcccecl)C=N2 39 1 1457
O1C(C)C(O)C(N)CC10C1CC(0)(Cc2c1c(0O)clc(C(=0)c3c(C1=0)c(OC)cec3)c20)
CEO)CO 40 1 1458
slc(encINC(=O)Nclce(ceccl)CHC)CCNcelnene2elsee2 41 1 1459
nlc2n(ccc2encINcleec(N2CCN(CC2)C)ec)CICCCCCT 47 1 1460
O1CCN(CCl)cleec(Ne2ne3n(cee3en2)C2CCCCC2)ccl149 1 1461
slc(cncINC(=0O)Nclec(OC)ceccl)CCNelnenc2clscc2 50 1 1462
S(=0)(=0)(C=1C=Nc2n(nc(c2)-c2ccccc2)C=Iclcccccl)clcccecl 51 1 1463
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II1. Dataset 3

smiles pICso(nM) index
Clclece(cecl F)C(=O)Nclncc(Ne2nene3ce2cc(OC)c(OCCCN2CCOCC2)e3)en19.8239088 1
OC(=0)clce(Ne2ne3n(cec3en2)C2CCCCC2)eccl  9.2218485 2
S(clcce(NC(=0)C2CC2)ccl)cInc(N2CCN(CC2)C)ee(nl)Neln[nH]c(c1)C  9.1549015 3
Clclcc(eccl)C(=O)NclInce(Ne2nene3c2cec(OC)c(OCCCN2CCCCC2)c3)enl 9.0969105 4
O(C[C@@H](O)CN1CCCCCl)clce2nene(Ne3ene(ne3)NC(=0)c3cecee3)c2ec1OC  9.0969105
5
Fele(ececIC(F)(F)F)C(=0)N1CCN(CC1)Cclnc(Ne2n[nH]ec2)cecel 9.0457573 6
Fclcecec1C(NC(=0O)cloc2e([nH]ne2NC(=0)c2ccc(cc2)CN2CCOCC2)c1)(C)C 9 7
slc(ecnc1Nclnenc2clcec(OC)c(OCCCNICCOCCT)e2)C(=O)Ncleee(F)eel 9 8
slc(ecnc1Nclnenc2clcc(OC)c(OCCOC)c2)CC(=0O)Nclee(F)ececl9 9
Fclc(NC(=0O)Cc2[nH]nc(Nc3ncncdce3cce(c4)-c3cec(ce3)C(=O)N3CCN(CC3)CCO)c2)cccclF
8.7235384 10
P(OCCNI1CCN(CC1)C(=0O)clcce(ecl)-clee2nene(Ne3n[nH]c(c3)CC(=0O)Nc3cc(F)cee3)c2ecl)(0)
(0O)=0 8.7189665 11
slc(enc1Ncelnenc2clec(OC)c(OCCCNICCC[C@H]1CO)c2)CC(=0O)Nclccec(F)clF  8.6989698
12
Fclee(NC(=0)Cc2[nH]nc(Nc3ncencdce3ccc(cd)-c3cec(ce3)C(=0)N3CCN(CC3)CCO)c2)cc(F)el
8.6401644 13
Fclce(NC(=0)Cc2[nH]nc(Nc3nencdce3cce(cd)-c3ccc(ce3)C(=O)N3CCN(CC3)CCF)c2)ccecl
8.5436344 14
Fclce(NC(=0)Cc2[nH]nc(Nc3ncencdce3ccc(cd)-c3ece(ce3)C(=O)N3CCNCC3)c2)cccl 8.4236584
15
olc2¢c([nH]nc2NC(=0)c2ccc(N3CCCN(C3)C)cc2)ec1C(=O)NCI(CCl)clecceecl 8.3979397 16
Fclee(NC(=0)Cc2[nH]nc(Nc3nencdce3cce(cd)-c3ece(ce3)C(=0)N3ICCN(CC3)C3CC3)c2)ccecl
8.3353577 17
slc(ecnc1Nclnenc2clec(OC)c(OCCCNCCO)c2)CC(=0O)Nclee(F)eceel  8.3010302 18
slcecc1CC(=0)N1Ce2¢([nH]nc2NC(=0)c2cce(cc2)C(C)(C)C)C1  8.3010302 19
Fclee(NC(=0)Cc2[nH]nc(Nc3ncencde3cce(c4)-c3ccc(ce3)C(=0)N3CCN(CC3)C)c2)cccl
8.2949924 20
O(C[C@@H](O)CN1CCCCCl)clcec2nene(Ne3enc(ne3)NC(=0)c3cecee3)c2ec1OC  8.2218485
21
slc(ecnc1Nclnenc2clec(OC)c(OCCCNICCOCCI)e2)CCCC8.2218485 22
slc2e([nH]ne2NC(=0)c2ccc(N3CCN(CC3)C)ee2)ecc IC(=O)N[C@@H](C)clcceceel  8.2218485
23
S(=0)(=0)(N1CCCCl)clcce(ccl)-clec2nene(Ne3n[nH]c(c3)CC(=0)Nc3cc(F)cee3)c2ecl
8.2189627 24
S(=0)=0O)(N1C[C@@H](F)CCl)cleee(cel)-clee2nenc(Ne3n[nH]c(c3)CC(=0)Nc3ce(F)cee3)c2e
cl 8.2013493 25
Fclec(NC(=0O)Cc2[nH]nc(Nc3nenc4c3cecce(cd)-c3cec(ce3)C(=O)N3C[C@H](N[C@@H](C3)C)C)c
2)cccl  8.1924648 26
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S(=0)(=O)(N1CCc2clccec2)clec\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(0)=0)C(=0)CCC3)ccl
8.0969105 27
slc2e([nH]ne2NC(=0)c2ccc(N3CCN(CC3)C)ee2)ec 1IC(=O)N[C@H](CC)cleccecl  8.0457573
28
slc2c(ncl-cleecc(Ne3nencdc3ec(OC)c(OCCCN3CCN(CC3)C)ed)cclF)eeee2 8.0457573 29
Fclee(NC(=0)Cc2[nH]nc(Nc3ncencdce3ccc(c4)-c3cce(ce3)C(=0)N3CCN(CC3)CC3CC3)c2)ccecl
8.0218191 30
slc2c([nH]ne2NC(=0)c2ccc(N3CCOCC3)cc2)ccl1C(=0O)NCclecececl  7.9586072 31
S(=0)(=0)(Nc1cc\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(0)=0)C(=0)CCC3)ccl)clcececd
7.9208188 32
slc(ecnc1Nclnenc2clcec(OC)c(OCCCNICCC(CC1)CO)c2)CNS(=0)(=O)clcc(F)ceel 7.9208188
33
slc2e([nH]ne2NC(=0)c2ccc(N3CCN(CC3)C)ee2)ec 1C(=O)N[C@H](C)clcceecl 7.8860564 34
S(=O)(N1CCN(CC1)C)clccce(ccl)-clec2nene(Ne3n[nH]c(c3)CC(=0O)Ne3ce(F)cee3)c2cecl
7.8557372 35
S(=0)(=0)(N1CCCCCl)clec\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(0)=0)C(=0)CCC3)ccl
7.8538718 36
OICCN(CC1)CCCOclee2nene(Ne3enc(ne3)NC(=0)CCCC)c2cc1OC  7.7695513 37
slc2e([nH]ne2NC(=0)c2ccc(N3CCN(CC3)C)ee2)cc 1IC(=O)N[C@H](CN1CCOCCT)clceececl
7.7447276 38
slc2e([nH]ne2NC(=0)c2ccc(N3CCOCC3)cc2)cc1C(=0O)N[C@H](CNICCCCl)clceeccl
7.7447276 39
S(=0)(=0)(N(C)C)clcc\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(0)=0)C(=0)CCC3)ccl
7.6777806 40
Clelce2nce(sc2cecl)-clece(Ne2nence3c2cec(OC)c(OCCCN2CCN(CC2)C)e3)ecl 7.6197886 41
slc2¢([nH]ne2NC(=0)c2ccc(N3CCOCC3)cc2)cc1C(=0)N[C@H](CN1CCOCCT)clcececl
7.6020598 42
slc2c(ncl-clec(F)c(Ne3nencde3cc(OC)c(OCCCN3CCN(CC3)C)ed)ecl)ceec2 7.5850267 43
slc2ce(F)eee2ncl-cleccec(Ne2nenc3c¢2cc(OC)c(OCCCN2CCN(CC2)C)e3)eel 7.5850267 44
Clclee(Ne2nenc3c2ec(OC)c(OCCCN2CCN(CC2)C)e3)cecl-clsc2e(nl)ceec27.5686364 45
slc2e([nH]ne2NC(=0)c2ccc(N3CCN(CC3)C)ee2)ec 1IC(=O)N[C@H](CN1CCCCl)clececcl
7.5686364 46
S(=0)(=0)(N1CCOCC1)c1cc\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(0)=0)C(=0)CCC3)ccl
7.5376019 47
S(=0)(=0)(NC)clcc\2¢(NC(=0)/C/2=C\c2[nH]c3¢c(c2CCC(0)=0)C(=0)CCC3)ccl  7.5086384
48
slc2e([nH]ne2NC(=0)c2ccc(N3CCN(CC3)C)ec2)ec IC(=ON[C@@H](CC)cleceecl 7.5086384
49
slc2c([nHne2NC(=0)c2cce(N3CCN(CC3)C)cc2)ccl1C(=0O)NCclceccecl 7.4948502 50
S(=0)(=0)(Nclcc\2¢c(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(0)=0)C(=0)CCC3)ccl)CC 7.4685211
51
S(=0)(=0)(CC=C)clcc\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(0)=0)C(=0)CCC3)cc17.4089355
52
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FC(F)(F)Cnlnc(c2CCc3c(nc(nc3)Nc3cccee3)-c12)C(=O)N 7.3767509 53
slc(ecnc1Nclnenc2clec(OC)c(OCCCNICCOCCI)e2)C 7.3665314 54
slc2c([nH]ne2NC(=0)c2cce(N3CCN(CC3)C)ec2)ccIC(=O)NC(C)(C)cleceeecl  7.3565474 55
slc2c([nH]ne2NC(=0)c2ccc(N3CCN(CC3)C)cc2)cc1C(=0O)NC1CCCc2clccec2  7.3467875 56
slc2c([nH]ne2NC(=0)c2ccc(N3CCN(CC3)C)cc2)ccl1C(=0O)NC(cleeceel)cleceecl  7.318759
57
slc2¢c([nH]ne2NC(=0)c2cce(N3CCN(CC3)C)ee2)ccC(=0)NCC  7.318759 58
O=C(N)clnn(c-2c1CCclc-2nc(ncl)Nclceceecl)C  7.3010302 59
slc2c([nH]ne2NC(=0)c2ccc(N3CCN(CC3)C)cc2)cclC(=O)NC1CCc2clccec2  7.2839966 60
Clclece2sc(nc2ecl)-clece(Ne2nene3c2ec(OC)c(OCCCN2CCN(CC2)C)e3)ccl 7.2676063 61
slc(ecnc1NcInenc2clcc(OC)c(OCCCNICCOCCT)e2)CC(=O)N(CC)cleceecl 7.2596374 62
S(=0)(=0)(CC)clcc\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(0)=0)C(=0)CCC3)ccl  7.2441254
63
slc2¢c([nH]nc2NC(=0)c2cce(N3CCN(CC3)C)ec2)cc1C(=O)NC(C)C 7.2291479 64
O(clnccccl-cle[nH]nc1N)cleee(Ne2nne(c3c2cecce3)-c2cec(cc2)C)ecl  7.221849 65
slc2c(ncl-cleecc(Ne3nencdc3ec(OC)c(OCCCN3CCN(CC3)C)ed)ccl)ee(cc2)C(F)(F)F 7.221849
66
O(CCCNICCC(0O)CCl)clec2ec([nH]c2ccl)-c1e2c(CNC2=0O)cccl  7.2146702 67
S(=0)(=0)(N)clcc\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(0)=0)C(=0)CCC3)cc17.2146702 68
slc2cc(OC)cee2nel-clece(Ne2nene3c2cc(OC)c(OCCCN2CCN(CC2)C)e3)ecl  7.2076082 69
S(=0)(=0)(Nclcc\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(0)=0)C(=0)CCC3)cc1)Cclcceecl
7.2006593 70
slc2c(ncl-clec(OC)e(Ne3nenc4c3cec(OC)c(OCCCN3CCN(CC3)C)cd)ecl)ecec2 7.1870866 71
slc2e([nH]ne2NC(=0)c2ccc(N3CCN(CC3)C)ee2)ec IC(FO)N[C@H](C)eleceeel 7.1804562 72
Brclec(ccclCeleccecl)C(=0O)Nclnce(Ne2nenc3c2cc(OC)c(OCCCN2CCOCC2)e3)enl
7.154902 73
slc2c(ncl-cleec(Oc3nencdc3ec(OC)c(OCCCN3CCN(CC3)C)ed)ccl)ceec2  7.0861859 74
S(=0)(=0)(Nclcc\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(OCC)=0)C(=0)CCC3)ccl)clcceecl
7.0757208 75
Clclee2sc(nc2ecl)-clec(F)e(Ne2nenc3c2ec(OC)c(OCCCN2CCN(CC2)C)e3)ccl 7.070581 76
OICCN(CC1)CCCOclce2nene(Ne3enc(ne3)NC(=0)c3cec(ce3)CC)c2ec1O0C 7.070581 77
Oclcc2ee([nH]c2ccl)-c1c2¢(CNC2=0)cccl  7.0457573 78
slc2c(ncl-cleecc(Ne3nenc4c3ec(OC)c(OCCCN3CCN(CC3)C)ed)cclO)ecec2 7.0409584 79
O=C(N)cIn[nH]Jc-2c1CCclc-2nc(ncl1)Nclceeecl  7.036212 80
O(CCCO)clcc2ec([nH]c2ecl)-c1ec2c(CNC2=0O)cccl 7 81
O=CINCc2clc(ccc2)-cl[nH]c2¢(cl)ccee2 7 82
slc2¢c([nH]ne2NC(=0)c2ccc(N3CCN(CC3)C)cc2)cclC(=0O)Nclceceel  6.9788108 83
slc(enc1Nelnenc2¢elec(OC)c(OCCCNICCC[C@H]1CO)c2)CC(=0)Nclec(OC)eecl 6.9746943
84
OICCN(CC1)CCCOclcee2nene(Ne3cec(NC(=0)cdeccecd)cc3)c2ec10OC 6.9586072 85
slc2c(ncl-cleecc(Ne3nencdc3cc(OCCCN3CCN(CC3)C)e(OC)cd)ccl)eccec2  6.9586072 86
slc(ecnc1NcInenc2clcc(OC)c(OCCCNICCC(CC1)CO)c2)CNC(=0O)clcc(F)ceel 6.9546771 87
O=C(C)clcce(Ne2ne-3¢(CCce4c-3n(nc4C(=0O)N)C)en2)ccl 6.9355421 88
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S(=0)(=0)(Nclcc\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(=0O)NC)C(=0)CCC3)ccl)clccccecl
6.9318142 &9
slc2c(ncl-cleecc(Ne3nencdc3ec(OC)c(OCCCN3CCN(CC3)C)ed)cclOC)ecec2 6.9208188 90
O(C)clcee(Ne2ne-3¢(CCce4c-3n(nc4C(=0O)N)C)en2)ccl 6.8927898 91
O1CCN(CC1)CCOclcc2ec([nH]c2ecl)-c1c2c(CNC2=0O)cccl  6.8696661 92
O(C)clce(Ne2ne-3¢(CCe4c-3n(nc4C(=0O)N)C)en2)cecl 6.801343 93
sle(encINclInene2elee(OC)c(OCCCNICCOCCT)e2)CC(=O)NCCC(C)C6.801343 94
O=C(N)cInn(c-2c1CCclc-2nc(ncl)Nclceceeccl)C1ICCCCCI 6.7721133 95
slc2c(ncl-cleec(Oc3nencdc3ec(OC)c(OCCCN3CCCC3)ced)ccl)ecce2  6.7695513 96
O=C(C)clcc(Nc2nc-3¢(CCc4c-3n(nc4C(=0O)N)C)cn2)ceccl  6.7544875 97
Fclec\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(0)=0)C(=0)CCC3)ccl 6.7495799 98
O(CCCNI1CCCCCl)clec2ee([nH]c2cecl)-c1c2c(CNC2=0)cccl 6.7471471 99
O(CCNICCCCClI)clec2ec([nH]c2ccl)-c1¢2¢(CNC2=0)cccl  6.6989698 100
slc2c(ncl-cleec(Ne3nencdc3cc(OCCCN3CCN(CC3)C)e(OC)c4)cclF)eeee2 6.6989698 101
O(C)clce2ne([nH]c2ccl)-c1c2¢(CNC2=0)ccc16.6882463 102
O=C/INc2c(cccc2)\C\1=C\c1[nH]c2c(c1CCC(O)=0)C(=0)CCC2  6.6819367 103
Brclec\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(0)=0)C(=0)CCC3)ccl  6.6777806 104
O=C(NCI1CClI)clnn(c-2c1CCclc-2nc(ncl)Nclcccecl)C  6.6716204 105
S(=0)(=0)(Nclcc\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(=0)N2CCCC2)C(=0)CCC3)ccl)clcccee
1 6.6615434 106
slc2c(ncl-clec(F)c(Oc3nencdce3cc(OC)c(OCCCN3CCN(CC3)C)ed)ecl)ccec2 6.6575775 107
slc2c(ncl-clec(O)c(Ne3nencde3cc(OC)c(OCCCN3CCN(CC3)C)ed)ecl)ecec2 6.6382723 108
slc2c(ncl-cleecc(Ne3nencdc3ec(OC)c(OCCCN3CCN(CC3)C)ed)eclC)ecec2 6.6382723 109
O=C/INc2c(cc(NC(=0)C)cc2)\C\1=C\c1[nH]c2c(c1CCC(0)=0)C(=0)CCC2 6.5985994 110
s1nc(O)c(C(NC(CO)C)=N)cINclccec(Nc2ceceee2)eel  6.5767541 111
FC(F)(F)clccc(Ne2ne-3¢(CCc4e-3n(nc4C(=0)N)C)en2)ccl 6.5686364 112
S(=0)(=0)(Cclccceel)clec\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(0)=0)C(=0)CCC3)ccl
6.5670309 113
S(=0)(=0O)(Nclcc\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(=0)N2CCOCC2)C(=0)CCC3)ccl)clcce
ccl 6.5512938 114
slc2c(ncl-clec(OC(F)(F)F)c(Nc3nencdc3ec(OC)c(OCCCN3CCN(CC3)C)ed)ccl)ecec2
6.5376019 115
slc2c(ncl-clececc(Ne3nencdc3cc(OCCCN3CCN(CC3)C)e(OC)cd)cclO)ecee2 6.5228786 116
O=C(NC)clInn(c-2c1CCclc-2nc(ncl)Nclceececl)C 6.5058455 117
slc2c(ncl-clececc(Ne3ne(Nedn[nH]c(c4)C)een3d)ec10C)ecec2  6.4948502 118
O(C)clcc2ee([nH]c2ccl)-c1c2¢(CNC2=0)ccc16.4710832 119
O=CINCc2clc(ccc2)-cl[nH]ccel 6.4710832 120
slc2c(ncl-clee(C)e(Ne3nencdce3ec(OC)c(OCCCN3CCN(CC3)C)ed)ecl)ececec2 6.4685211 121
slc2c(ncl-clecece(Ne3nencdc3ec(OC)c(OC)cd)ecl)ececec26.4559321 122
O(C)clce(cec10)-clec\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(0)=0)C(=0)CCC3)ccl 6.4473319
123
Fclec\2¢(NC(=0)/C/2=C\c2[nH]c(C)c(C(=0)C)c2CCC(O)=0O)ccl  6.4412913 124
slc2c(ncl-clecece(Ne3ne(Ned4n[nH]c(c4)C)een3)ecl)cecec2  6.4317985 125
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slc2c(ncl-clec(F)c(Ne3nencde3cc(OCCCN3ICCN(CC3)C)c(OC)cd)ecl)ceec2 6.4089355 126
O(C)clcc2e(nenc2Ne2cec(NC(=0)c3ccecee3)ec2)ec10C6.4056072 127
Clclee2ne(sc2ecl)-clece(Ne2nene3c2ec(OCCCN2CCN(CC2)C)e(0C)c3)cc1 6.3979402 128
O=C/INc2c(cccc2)\C\1=C\c1[nH]c(C)c(CCC(0)=0)c1C  6.3580303 129
S(=0)(=0)(Cclccc(F)ccl)clee\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(0)=0)C(=0)CCC3)ccl
6.3535962 130
slc(enc1Nelnenc2celec(OC)c(OCCCNICCC[C@H]1CO)c2)CC(=0)Nclceceec1C(=0O)N
6.3448615 131
Fclec\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(0)=0)C(=0)CC(C3)(C)C)ccl 6.3410354 132
Fclee(NC(=0)Cc2oc(nc2)Ne2nene3c2¢ec(OC)c(OCCCN2CCOCC2)c3)ceel  6.3260579 133
slc(enc1Nelnenc2celec(OC)c(OCCCN1CCCI[C@H]1CO)c2)CC(=0)Nclcc(N(C)C)eccl
6.3160529 134
O(C)clcc(cec10C)-clec\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(0)=0)C(=0)CCC3)ccl
6.251812 135
S(=0)(=0)(N1CCc2clccee2)clec\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(=0)N2CCOCC2)C(=0)C
CC3)ccl 6.2494917 136
slce(nc1Nclnenc2clec(OC)c(OCCCNICCOCCT)c2)CC(=0O)Nclcc(F)ceel  6.2380724 137
O=C(N)cInn(c-2c1CCclc-2nc(ncl)NclceceeclC)C 6.2182446 138
O(C)clccecccINelne-2¢(CCe3c-2n(ne3C(=O)N)C)enl  6.2168112 139
OICCN(CC1)CCCOclce2nene(Ne3ncc(NC(=0)cdcccecd)en3)c2ec1OC 6.2013493 140
Clclee(Ne2nence3c2cc(OCCCN2CCN(CC2)C)e(0OC)c3)cecl-clsc2e(nl)ccec26.1611509 141
OICCN(CC1)CCCOclce2nenc(Ne3enc(ne3)NC(=0)c3cenec3)c2ec10C 6.1611509 142
O=C/INc2c¢c(cc(NC(=0)c3ccece3)cc2)\C\1=C\c1[nH]c2c(c1CCC(O)=0)C(=0)CCC2 6.1426673
143
O=C/INc2c(cc([N+](=0)[O-])cc2)\C\1=C\c1[nH]c2c(c1CCC(O)=0)C(=0)CCC2 6.1402617 144
slc2c(ncl-clee(O)c(Ne3nencde3cc(OCCCN3CCN(CC3)C)c(OC)cd)ecl)ceec2  6.09691 145
slc2c(ncl-cleecc(Ne3nc(N4CCN(CC4)C)een3)ecl)eccec2 6.0757208 146
FclcececelNelne-2¢(CCe3c-2n(nc3C(=0O)N)C)enl 5.9277501 147
O(C)clcecceccCCNelne(ne(nl)NCCelce2ecene2[nH]e1)N(CCCC)C  5.9208188 148
slc2c(ncl-cleecec(Ne3nencdc3cc(OCCCNICCN(CC3)C)e(OC)cd)ecl)ee(cc2)C(F)(F)F 5.9208188
149
slc2c(nenc2NCCc2ccc(NC(=0O)Nc3cec(cee3)C(F)(F)F)cc2)eel  5.9208188 150
slc2c(ncl-clec(OC)e(Ne3nenc4c3cc(OCCCN3CCN(CC3)C)e(OC)cd)ecl)ececec2 5.8860564 151
slc2c(ncl-clcec(Ne3cec(nee3)Ne3n[nH]e(c3)C)ecl)ecee2 5.8860564 152
O=C(N)cInn(c-2c1CCclc-2nc(ncl)Nclcecec)C(C)C  5.8563609 153
slc2c(ncl-clecec(Ne3nc(NC)een3)ecl)eccec2  5.8239088 154
slc2c(ncl-cleecc(Ne3nencdc3cc(OCCCN3CCN(CC3)C)e(OC)cd)cclOC)ecec2 5.7958798 155
O=C/INc2c(cccc2)\C\1=C\c1[nH]c2c(c1CCC(OCC)=0)C(=0)CCC25.7495799 156
Fclec\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCC(OCC)=0)C(=0)CCC3)ccl 5.7033348 157
Fclcecec1CCNelne(ne(nl)Ncelee2e(neec2)ccl)Nelec(OC)e(ccl)C  5.6777806 158
S(=0)(=O)(N1CCc2clccee2)clec\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCCN(C)C)C(=0)CCC3)ccl
5.6439743 159
S(=0)(=0)(N1CCc2clccec2)clec\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCCN(CC)CC)C(=0)CCC3)cc
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1 5.630784 160
O=C(N)clnn(c-2¢c1CCclc-2nc(ncl)Nclcccecl)-clecccecl  5.6270881 161
S(=0)(=0)(Nc1lcc\2¢(NC(=0)/C/2=C\c2[nH]c3c(c2CCCN(CC)CC)C(=0)CCC3)ccl)clceccececl
5.6108341 162
Fclece(NC(=0)Cc2[nH]nc(Nc3nencdce3ccecd)c2)cecl  5.6057935 163
O=C(N)clInn(c-2c1CCclc-2nc(ncl)NclcccccIN)C 5.6025815 164
Clclec2nene(Ne3cece(ce3)-c3scdc(n3)ccecd)c2ec1C5.5686364 165
slc2c(ncl-clecec(Ne3nencdce3sccd)ccl)ceec2  5.5528421 166
O=C(N)clnn(c-2c1CCclc-2nc(ncl)Nclcecececc )CCNICCCCC1  5.5454602 167
O=C(N)clnn(c-2c1CCclc-2nc(ncl)NclccecccINC)C  5.5376019 168
slc2c(ncl-cleecc(N(C)e3nencde3cc(OC)c(OCCCNICCN(CC3)C)ed)cc10C)cccc25.4814858 169
O(C)clceceeccCCNelne(ne(nl)NC(Celc2ecenc2[nH]c1)C(=O)N)Nclcc2e(ncee2)ecl 5.4317985
170
O(C)cleccecc1 CCNelne(ne(nl)NC(Cele2ecenc2[nH]e1)C(=O)N)N(CCCC)C 5.4202166 171
S(=0)(=0)(N(CCC)CCC)clcce(ccl)C(=0)Nclnecc(Ne2nenc3c2ec(OC)c(OCCCN2CCOCC2)c3)en
1 5.4089355 172
S(=0)(=0)(N(CCC)CCC)clnce(enl)C(=0O)NcInce(Ne2nenc3c2ec(OC)c(OCCCN2CCOCC2)c3)en
1 5.4089355 173
slc2c(ncl-clec(F)c(Nc3nencdce3sced)ccl)eeee2  5.3979402 174
slc2c(ncl-clee(C)e(Ne3nencde3ec(OC)c(OC)cd)cel)ecec2 5.3565474 175
O(C)clcee(cc1)C(=0O)Ncleeccec1C(=O)NC(Celeec(O)ecl)C(=O)Ncleec(ecc1C)C 5.293282 176
O(C)clccececcCCNelne(ne(nl)NC)Ncelec2e(neee2)ccl 5.2924299 177
O(C)clcc2e(nenc2Ne2cec(N3Ccede(C3)ccecd)cc2)cc1OC 5.2757239 178
slc2c(ncl-clec(Ne3ne(ncde3cc(OC)c(OC)c4)Ne3n[nH]e(c3)C)cecl)ecec2  5.2596374 179
Clelec2neec(Ne3ceee(ce3)-c3scdc(n3)ccccd)c2ecl  5.2441254 180
slc2c(ncl-clececc(Ne3nenc4[nH]enc34)cc10C)ccec2 5.2365718 181
slc2c(ncl-clecec(Ne3ne(ncde3cc(OC)c(OC)c4)Ne3n[nH]c(c3)C)ecl)ceee2 5.221849 182
O(C)cleececc1 CCNelne(ne(nl1)NC(Cele2ecenc2[nH]e1)C(=O)N)N([C@@H](C)clcceecl)C
5.2006593 183
Clclee(Ne2nene3c2cc(OC)c(OC)c3)ecclF 5.1870866 184
slc2c(ncl-clcecc(Ne3nenc4[nH]ccc34)ccl)ecec2  5.09691 185
slc2c(ncl-clee(C)e(Ne3nencdce3cc(OCCCNICCN(CC3)C)e(OC)c4)ccl)ecec2 5.0268722 186
Oclcce(ccl)CC(NC(=0O)cleccecIN)C(=O)Nclcee(ccl)C  4.9229956 187
O=CINCc2clc(ccc2)C(=O)N 4.843451 188
O(CC)clec2e(ne(nc2C)Ne2ne(O)c3c(n2)ccee3)ccl 4.7767639 189
O(CC(0)Cnlc2e(nc IN\N=C\clcceccc10)N(C)C(=0O)NC2=0)clccc(OC)ccl 4.7351823 190
O(Cclcccecl)clec2ec([nH]c2ecl)-c1c2¢(CNC2=0)cccl  4.6730499 191
O(C)clee2[nH]c(cc2ecl)C(=0)C1CCC(CCI)C(C(=O)NCCC=1CCCCC=1)C 4.0647449 192
O(CCO)cleece(Ne2ne3N(C)C(=O)NC(=0)c3n2CC(=0O)Nc2eec(OCC)ec2)ccl  4.0056829 193
slc(-c2nc(ncc2)Nc2cc(OC)c(OC)c(0C)c2)c(nclC)C  9.3979397 194
OC(CCCC(NclIne(Ne2n[nH]c(c2)C)ec(C)cICHN)C)(C)C  5.9208188 195
S(CCCCCCO)cInc(Ne2n[nH]c(c2)C)ec(C)c1C#N  8.0705814 196
S(=0)(=0)(C=1C=Nc2n(nc(c2)C)C=I1clcccccl)clcccecl  6.9956784 197
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S(=0)(=0)(C=1C=Nc2n(ncn2)C=Iclcccccl)clccceccl 6.9829664 198
Clclecee(cel)-c1nn2¢(N=CC(S(=0)(=0)c3ccccc3)=C2c2cccec2)cl  6.9208188 199
O=C(Nclc(ccec1CC)CCO)clnn(c-2¢c1CCcle-2ne(ncl)Nelcececl)C 6.8181562 200
O(C)clcc(cecINelne-2¢(CCc3e-2n(nc3C(=0)Nc2c(ccecc2CC)CC)C)enl)C(=O)N1CCC(N(C)C)CC
1 63151546 201
O(C)clcc(cecINelne-2¢(CCc3e-2n(nc3C(=0)Nc2c(ccec2CCY)CC)C)enl)C(=O)N1CCCCICNICC
CCl1  6.3089185 202
O=C(NCCclccceel)clnn(c-2c1CCcle-2ne(ncl)Neleceecl)C 6.1694112 203
O(C)clcc(cecINelIne-2¢(CCc3c-2n(nc3C(=0)Nc2c(cecec2CC)CC)C)enl )C(=O)NCCN(C)C
6.124939 204
O(C)clcc(cecINelIne-2¢(CCc3c-2n(nc3C(=0)Nc2c(ccecc2CC)CC)C)enl)C(=O)N 6.1146388 205
FC(F)(F)Oclcc(cec1NcIne-2¢(CCe3c-2n(nc3C(=0)Nc2c(ccec2CC)CC)C)enl))C(=O)NCCN(C)C
5.8613815 206
O(C)clcc(cecINelne-2¢(CCc3c-2n(nc3C(=0)Nc2c(ccecc2CC)CC)C)enl)C(=O)NCICCN(CCI)C
5.8386321 207
slc(-c2nc(ncc2)Nc2eec(N3CCN(CC3)C(=0)C)ec2)c(ncINC)C  7.9208188 208
slc(-c2nc(ncc2)Nc2eec(N3CCOCC3)cc2)e(ncINCC)C 7.8538718 209
slc(-c2nc(ncc2)Nc2ecec(N3CCOCC3)cc2)e(ncINC)C  7.7212462 210
slc(-c2nc(ncc2)Nc2eec(N)ee2)e(nclC)C  7.5086384 211
Fclc(NC(=0O)Cc2[nH]nc(Nc3nencdc3ce(OC)c(OCCCN3ICCC[C@H]3CO)c4)c2)cccclF
6.0222764 212
Fclc(NC(=0)Cc2[nH]nc(Nc3ncncdce3cc(OC)c(OCCCN3CCN(CC3)CCO)cd)c2)cccclF
7.2596374 213
Fclee(NC(=0)Cc2[nH]nc(Nc3ncncdce3cc(OC)c(OCCCN(CCO)C)cd)c2)cecl 7.1870866 214
slc(-c2nc(ncc2)Nc2ee([N+](=0)[O-])cecc2)c(ncIN)C  7.1366773 215
Fclec(NC(=0)Cc2[nH]nc(Nc3nenc4c3cc(OC)c(OCCCN3CCC[C@H]3CO)c4)c2)cecl
5.8538718 216
Fclc(NC(=0O)Cc2[nH]nc(Nc3ncncdce3cc(OC)c(OCCCN3CCC(O)CC3)cd)c2)ceeclF - 6.6575775
217
Fclee(NC(=0)Cc2[nH]nc(Nc3nencdce3cc(OC)c(OCCCN3ICCC(CC3)CO)cd)c2)cc(F)el
6.6382723 218
Fclc(NC(=0)Cc2[nH]nc(Nc3ncncdce3cc(OC)c(OCCCN3CCC(CC3)CCO)c4)c2)cccclF
6.5528421 219
Fclc(NC(=0)Cc2[nH]nc(Nc3ncncdc3ccc(OCCCN(CCC)CCO)cd)c2)cceclF 7.0604806 220
O(C)clccecccINelne-2¢(CCe3c-2n(ne3C(=0)Nc2ce(ccecc2CC)CC)C)enl  5.4992146 221
O=C(NC)clnn(c-2c1C(Cclec-2nc(ncl)Nclecc(cc)CN(C)CYC)C)C  6.0680337 222
S1ISCC(NC(=0)C(NC(=0)C2N(CCC2)C(=0)C(NC(=O)C(NC(=O)C(NC(=O)C2N(CCC2)C(=0)C
(N)CI)CCCNC(N)=N)Cclcccecl)CC(C)C)Ccele2e([nH]el)ecee2)C(=O)NCC(=O)N  5.221849
223
S1ISCC(NC(=O)C(NC(=0)C(NC(=0)C(NC(=0)C2N(CCC2)C(=O)C(NC(=O)C(NC(=O)C(N)C1)
C(O)C)CCCNC(N)=N)Cclc2e¢([nH]c1)ccee2)Celc2e([nH]e1)ceec2)CC(C)C)C(=O)NCC(=0O)N
5.154902 224
Clcleee(cel)C=1n2ncnc2N=CC=1S(=0)(=O)clcccccl 5.0344219 225
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slc2c(ncl-clee(Ne3nenc4[nH]enc34)cecl)ccee2 5 226
slc2c(ncl-clee(Ne3nenc4[nH]cec34)cecl)ceee2  5.09691 227
slc2c(ncl-clecece(Ne3nce(ncde3cc(OC)e(OC)c4)NC)ecl)ccec2 5 228
slc2c(ncl-cleecc(Ne3nencdc3ec(OC)c(OC)cd)cc1OC)eeec2 5 229
Clcleece(Cl)c1C(=O)Nclc[nH]nc1C(=O)NCICCNCC15 230
FC(F)(F)Oclcecc(N2CCN(CC2)C)ec1Ne1Inc-2¢(CCc3c-2n(nc3C(=0)N)CCO)cnl 5 231
O(C)cleecc(N2CCN(CC2)C)eclNcIne-2¢(CCe3c-2n(nc3C(=0)N)C)enl 5 232
O(C(=0O)cInn(c-2¢1CCclc-2nc(ncl)Ncleeccec1)C)CC 5 233
S(C)clccecccINcelne-2¢(CCc3c-2n(nc3C(=O)N)C)enl 5 234
O=C(C)clc(N2CCN(CC2)C)cceccINcelne-2¢(CCe3c-2n(nc3C(=O)N)C)enl 5 235
O=C(C)clcc(N2CCN(CC2)C)cecINclIne-2¢(CCe3c-2n(nc3C(=O)N)C)enl 5 236
O=C(C)clccc(N2CCN(CC2)C)ecINclIne-2¢(CCe3c-2n(nc3C(=O)N)C)enl 5 237
slc2c(ncl-clececc(Ne3nencdc3ec(OC)c(OC)cd)cclO)eccec2 5 238
Clelce(Ne2nenc3c2eee(Cl)e3)eccl-clsc2e(nl)ccec2 5 239
Clclcce2nene(Ne3cecee(ce3F)-c3scdc(n3)ceccd)c2ecl 5 240
Clclcc2ncec(Ne3ec(OC)e(ce3)-c3scdc(n3)ccecd)c2ecl 5 241
Clclee(Ne2nene3c2sce3)ceel-clsc2e(nl)ccee2 5 242
slc2c(ncl-clcec(Ne3nencdce3sccd)cc10OC)eecc2 5 243
slc2c(ncl-clecec(Ne3nenc4[nH]enc34)ccl)eccee2 5 244
slc2c(ncl-cleecc(Ne3nc(OC)nc4[nH]cce34)cc10C)ecec2 5 245
slc2c(ncl-cleece(Ne3nc(OC)nc4[nH]cce34)eccl)ceee2 5 246
slc2c(ncl-clececec(Ne3nenc4[nH]cce34)cc10C)ccec25 247
slc2c(ncl-cleece(Ne3nc(N(C)C)een3)ecl)ccec25 248
slc2c(ncl-clececc(Ne3nc(ncc3)NC)ecl)ecec2 5 249
slc2c(ncl-cleec(Ne3cec(nee3)C(=0O)NC)ecl)ccee2 5 250
slc2c(ncl-clecec(Ne3ec(nee3)NC)ecl)eeee2 5 251
O=C(N)clcc([nH]c1-clcccecl)-clnc(necl)N 5 252
O=C(N)clnn(c-2c1CCclc-2nc(nc1)N)C 5 253
OICCN(CCI1)CCNclnc-2¢(CCc3c-2n(nc3C(=O)N)C)enl 5 254
O=C(N)clnn(c-2¢c1CCclc-2nc(ncl)Nclcececc )CICCN(CC1)C 5 255
FC(F)(F)clcceec1NcIne-2¢(CCe3c-2n(nc3C(=0)N)C)cnl 5 256
FC(F)(F)clce(Ne2ne-3¢(CCc4ce-3n(nc4C(=0)N)C)cn2)cecl 5 257
O=C(C)clcccecINelne-2¢(CCc3c-2n(nc3C(=O)N)C)enl 5 258
O=C(N)clInn(c-2c1CCclc-2nc(ncl)Nclccccc[N+](=O)[O-DC 5 259
O=C(N)clInn(c-2c1CCclc-2nc(ncl)Nclcc([N+](=0)[O-])cccl)CS5 260
O=C(N)cInn(c-2c1CCclc-2nc(ncl)Nclcec([N+](=0)[O-]ccl)CS5 261
O(C)clcc(N2CCN(CC2)C)eecINcIne-2¢(CCe3c-2n(nc3C(=0)N)C)enl 5 262
O(C(=0O)clcceeccINcIne-2¢(CCe3c-2n(ne3C(=0)N)C)enl)C 5 263
O=C(N)clccceclNcIne-2¢(CCe3c-2n(nc3C(=0O)N)C)enl 5 264
S(=0)(=0)(N)clccececINcInc-2¢(CCec3c-2n(nc3C(=0)N)C)cnl 5 265
O=C(N)clnn(c-2c1CCclc-2nc(ncl)Nclcceccl-cleccecl)C 5 266
O(clcccccINelne-2¢(CCc3c-2n(nc3C(=0O)N)C)enl)clecccecl 5 267
O=C(N)clnn(c-2¢c1CCclc-2nc(ncl)NclcececclCeleccecl)C 5 268
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O=C(N)clnn(c-2c1CCclc-2nc(ncl)NclcccccINcelececeel)C 5 269
O=C(clcccecINelne-2¢(CCc3c-2n(nc3C(=0O)N)C)enl)clceeccl 5 270
S(clccecc1Nelne-2¢(CCce3c-2n(nc3C(=0)N)C)enl)clcccecl 5 271
O=C(N)clInn(c-2c1CCclc-2nc(ncl)NclcccccINC(=0)C)C 5 272
O=C(NC)clnn(c-2c1CCclc-2nc(ncl)NCICCN(CC1)C)C 5 273
O=C(N)clnn(c-2c1CCclc-2nc(nc1)NCICCN(CC1)C(=0)C)C 5 274
O=C(NC)clnn(c-2c1CCclc-2nc(nc )NCICCN(CC1)C(=0)C)C 5 275
O=C(N1CCC(Nc2nc-3c(CCc4c-3n(nc4C(=0)NC)C)cn2)CCl)clccececl 5 276
O=C(NC)clnn(c-2c1CCclc-2nc(nc1)NCICCN(CC1)C(=O)NICCN(CC1)C)C 5 277
O(CC)C(=0O)N1CCC(CC1)C(=O)N1CCC(Nec2nc-3¢(CCc4c-3n(nc4C(=O)NC)C)cn2)CC1 5 278
O=C(N)clnn(c-2c1CCclc-2nc(ncl )NCCN1CCCCC1)C5 279
O=C(N)clnn(c-2c1CCclc-2nc(ncl)NCICCCCC1)C 5 280
O=C(N)clnn(c-2c1CCclc-2nc(ncl)NCICCN(CC1)CC)C 5 281
O=C(N)clnn(c-2c1CCclc-2nc(ncl)NCI1ICCCCI1)C 5 282
O=C(NC)clnn(c-2c1CCclc-2nc(nc1)NCICCCCI)C 5 283
O=C(NC(CN(C)C)C)clnn(c-2c1CCclec-2ne(ncl )NCICCCCI)C 5 284
O=C(N(CCN(C)C)C)clnn(c-2c1CCcle-2ne(ncl )NCICCCCI1)C 5 285
O=C(N1CCN(CCI1)C)clnn(c-2c1CCclc-2nc(nc1)NCICCCCI)C5 286
O=C(N)clnn(c-2c1CCclc-2nc(ncl)NC1CCCC1)Cclceceecl 5 287
O=C(N)clnn(c-2¢c1CCclc-2nc(ncl)NC1CCCCl)-cInccecl 5 288
FC(F)(F)Oclccecc1NcIne-2¢(CCce3e-2n(nc3C(=0O)N)C)cnl 5 289
FC(F)(F)Oclccecc1NcIne-2¢(CCce3e-2n(nc3C(=0)Nc2c(ccec2CC)CC)Chenl 5 290
FC(F)(F)Oclcce(ccc1NcIne-2¢(CCe3c-2n(nc3C(=0)Nc2ce(cccc2CC)CC)C)enl)C(=O)N 5 291
FC(F)(F)Oclcce(ccc1NcIne-2¢(CCe3c-2n(nc3C(=0)Nc2c¢(cccc2CC)CC)C)enl)C(=O)NCICCN(CC
ncs 292
FC(F)(F)Oclcc(ccc1NcIne-2¢(CCe3c-2n(nc3C(=0)Nc2ce(ceec2CC)CC)C)enl)C(=O)N1CCCCI1C
NICCCC1 5 293
FC(F)(F)Oclcce(cecc1NcIne-2¢(CCe3c-2n(nc3C(=0)Nc2c¢(cecc2CC)CC)C)enl)C(=O)N1CCC(N(C)
C)CCl 5 294
FC(F)(F)Oclcc(cec1NcIne-2¢(CCe3c-2n(nc3C(=0)Nc2c(ccec2CC)CC)C)enl)C(=O)N1CCCN(CC
HCs 295

CIC=1C(=O)N(C=NC=10Cclccc(F)cclF)clcc(ccc1C)C(=O)NCCO 5 296
slce(ncINC(=0)Nclcc(cecl)C(F)(F)F)CCNclnenc2clsce2 4.6989698 297
SISCC(NC(=O)C(NC(=0)C(NC(=0)C2N(CCC2)C(=0)C(NC(=O)CNC(=O)C(NC(=O)C(N)C1HC
C(0)=0)C(O)C)CCCNC(N)=N)CCCNC(N)=N)C(=O)NCC(=O)N  4.0409584 298
Ic1e2NC(=0)/C(/c2cccl)=C/1\Nc2c(cecec2)C\ =0 4 299
Fc1c2NC(=0)/C(/c2cccl1)=C/1\Nc2e(cccc2 \CA\I=N\OC 4 300
Fc1c2NC(=0)/C(/c2ccc1)=C/1\Nc2e(ccec2)CN=0 4 301

Brc1c2NC(=0)/C(/c2cccl )=C/1\Nc2c(ccec2)C\1=04 302
Ic1c2NC(=0)/C(/c2ccc1)=C/1\Nc2c(ccee2)\C\I=N\OC 4 303
Brc1c2NC(=0)/C(/c2cccl)=C/1\Nc2c(cccc2 \C\I=N\OC(=0)C 4 304
Brc1c2NC(=0)/C(/c2cccl )=C/1\Nc2c(cccc2)\C\I=N\OC 4 305
Ic1c2NC(=0)/C(/c2cccl)=C/1\Nc2c(ccece2) \C\I=N\OC(=0)C 4 306
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Clc1e2NC(=0)/C(/c2cccl)=C/1\Nc2c(ccec2)C\1=04 307
Clc1e2NC(=0)/C(/c2cccl)=C/1\Nc2c(cccc2 \C\I=N\O 4 308
Clc1e2NC(=0)/C(/c2cccl)=C/1\Nc2c(cccc2)\C\I=N\OC 4 309
Ic1e2NC(=0)/C(/c2cccl)=C/1\Nec2c(ccee2)\C\I=N\O 4 310
Clc1c2NC(=0)/C(/c2cccl1)=C/1\Nc2c(ccec2)\C\I=N\OC(=0)C 4 311
Clclccee(eel)-cl1sc(CCNC(=0)C(=0)Nc2cc(NC(=0)C)ccc2)c(nl)C 4 312
Brclsc(ncl)NC(=0)CSclsc2c(nl)cc(OC)ec2 4 313
S1ISCC(NC(=O)C(NC(=0)C(NC(=0O)CNC(=O)C(NC(=0O)C2N(CCC2)C(=O)C(NC(=O)C(N)CHC
cInc[nH]c1)CCC(=0)N)CC(0)=0)C(O)C)C(=O)NCC(=O)N  3.8632793 314
SISCC(NC(=0)C2N(CCC2)C(=0)C(NC(=0)C(NC(=0)C2N(CCC2)C(=O)C(NC(=O)CNC(=0)C(
N)C1)Cclnc[nH]c1)CCC(=O)N)C(C)C)C(=O)NCC(=O)N 3.630784 315
S1ISCC(NC(=0)C(NC(=0O)C(NC(=0)C2N(CCC2)C(=0)C(NC(=0O)CNC(=O)C(NC(=O)C(N)C1)C
C(0)=0)C(C)C)Cclc2c([nH]c1)cecee2)Celnec[nH]c1)C(=O)NCC(=O)N 3.6161847 316
slc2cc(cee2nc INC(=O)NCcleec(OC)ecl)-cl[nH]nnnl 2.3187587 317
O(C)clcce(ccl)CNC(=O)NclIncee(cl)-cl[nH]nnnl 1 318
O(C)clcee(ccl)CNC(=O)NclIncee(c1)CE#NT 319
Fcle(NC(=0O)Cc2[nH]nc(Nc3ncncdc3cc(OC)c(OCCCN3CCC(CC3)CO)c4)c2)cccclF 6.3872161
320
Clclee(NC(=0)Cc2[nH]nc(Nc3nencde3cc(OC)c(OCCCN3ICCC(CC3)CO)cd)c2)cecl 6.3467875
321
FC(F)(F)clce(NC(=0)Cc2[nH]nc(Nc3nencde3cc(OC)c(OCCCN3CCC(CC3)CO)cd)c2)eccd
6.2924299 322
Fclee(NC(=0)Cc2[nH]nc(Nc3nencdce3cc(OC)c(OCCCNCCO)cd)c2)ccecl 6.1611509 323
O(CCCNI1CCC(CC1)CO)clee2nenc(Ne3n[nH]c(ec3)CC(=0)Nc3cc([N+](=0O)[O-])ccc3)c2cc10C
6.0506101 324
Fclc(NC(=0)Cc2[nH]nc(Nc3nencdc3cec(OCCCN3CCC[C@H]3CO)c4)c2)cccclF - 7.4089355
325
Fclee(NC(=0)Cc2[nH]nc(Nc3ncencdce3ccc(OCCCN(CCC)CCO)cd)c2)cecl  6.6575775 326
FclcececINC(=0)Ccl[nH]nc(Nc2nene3c2cc(OC)c(OCCCN2CCC(CC2)CO)e3)cl  6.8538718
327
Fclec(NC(=0O)Cc2[nH]nc(Nc3nenc4c3ccc(OCCCN3CCCIC@@H]3CO)c4)c2)ceccl  6.9586072
328
O(CCCNI1CCC(CC1)CO)clee2nenc(Ne3n[nH]e(e3)CC(=0O)Nc3ceccee3)c2ec10C 5.7958798 329
O(CCCNI1CCC(CC1)CO)clee2nenc(Ne3n[nH]e(e3)CC(=0O)Nc3ee(OC)ccc3)c2cc10C5.7212462
330
ClclcceecINclIne(n(nl)-cInccccl)N  5.6989698 331
Fcleee(NC(=0)Cc2[nH]nc(Nc3nenc4c3cc(OC)c(OCCCN3CCC(CC3)CO)cd)c2)ecel  5.6989698
332
O(C)clcccecINelne(n(nl)-clnenc(NCCN(C)C)el)N  5.6777806 333
ClcleccecINcIne(n(nl)-cInce(ccl)CH#N)N 5.6020598 334
O(CCCNI1CCC(CC1H)CO)elee2nene(Ne3n[nH]c(e3)CC(=0)Nc3cc(cee3)C#N)c2ec10C
5.5850267 335
OICCN(CCl)clec(OC)e(Ne2ne(n(n2)-c2ncc(cc2)C#N)N)ecl  5.5850267 336
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Fclecec(N2CCOCC2)ccINcIne(n(nl)-clnccccl)N  5.5228786 337
O(CCCNI1CCC(CCHCO)elee2nene(Ne3n[nH]c(e3)CC(=0O)Nc3ec(O)cee3)c2ec1OC 5.3979402
338
OICCN(CCl)clce(Ne2ne(n(n2)-c2neecc2)N)c(OC)ecl 5.3979402 339
O(C)clccecccINcelne(n(nl)-clnccccl)N  5.154902 340
olc2c(c3clnccc3NCeleec(OC)ccl)ececec2 3 341
slc(cnc1Ncelnenc2clec(OC)c(OCCCNICCOCCT)c2)CC(=0O)Nclcececl 9 342
slc(ecnc1Nclnenc2clec(OC)c(OCCCNICCC(CC1)CO)c2)CC(=0O)Nclec(F)ceel 9 343
S(clcce(NC(=0)CC)ccl)cInc(N2CCN(CC2)C2CC2)ce(nl)NcIn[nH]c(c1)C 9 344
S(clcce(NC(=0)CC)ccl)cInc(N2CCN(CC2)CC)ec(nl)NcIn[nH]c(c1)C 9 345
slc(ecnc1Nclnenc2¢clcec(OC)c(OCCCNICCOCCI)c2)CC(=0O)Nclcec(F)ceel 9 346
slc(ecnc1Nclnence2¢clec(OC)c(OCCCN(CCO)CC)c2)CC(=O)Nclce(F)cecl 9 347
slc(ecnc1Nclnenc2clcc(OC)c(OCCCN(CCHC)CCO)c2)CC(=O)Nclee(F)ceel9 348
slc(ecnc1Nclnenc2clec(OC)c(OCCN1CCC(CC1)CCO)e2)CC(=0O)Nclec(F)eccel 9 349
slc(ecnc1Nclnenc2clec(OC)c(OCCCNICCN(CC1)C)e2)CC(=0)Nclcc(F)ceel 9 350
slc(cnc1Ncelnenc2clec(OC)c(OCCCNICCCCICO)c2)CC(=0O)Nclee(F)eceel 9 351
S(clcce(NC(=0)CC)ccl)cInc(N2CCCCC2)cc(nl)NcIn[nH]c(c1)C 8.7958803 352
S(=0)(=0)(C=1C=Nc2n(nc(c2)-c2ccc(OC)cc2)C=Iclcccccl)cleccecl  7.6020598 353
Brclce2n(ncl-clcceecl)C(cleceec]1)=C(S(=0)(=O)clcccccl)C=N2 7.4089355 354
O1C(C)C(O)C(N)CC10CICC(0)(Cc2c1c(0O)clc(C(=0)c3c(C1=0)c(0OC)ccc3)c20)C(=0)CO
7.3979402 355
S(=0)(=0)(C=1C=Nc2n(nc(c2)-c2ccccc2)C=Iclcccecl)cleccecl  7.2924299 35
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IV Filter Rules

#Copyright (C) 2000-2005, 2010 by OpenEye Scientific Software, Inc.
#This file defines the rules for filtering multi-structure files based on
#properties and substructure patterns.

MIN MOLWT 130 "Minimum molecular weight”

MAX MOLWT 781 "Maximum molecular weight”

MIN NUM HVY 9 "Minimum number of heavy atoms”

MAX NUM HVY 55 "Maximum number of heavy atoms”

MIN RING SYS 0 “Minumum number of ring systems”

MAX RING SYS 5 “Maximum number of ring systems”

MIN RING SIZE 0 “Minimum atoms in any ring system”

MAX RING SIZE 20 "Maximum atoms in any ring system”

MIN CON NON RING 0 “Minimum number of connected non-ring atoms”
MAX CON NON RING 19 “Maximum number of connected non-ring atoms”
MIN FCNGRP 0 “Minimum number of functional groups”

MAX FCNGRP 7 “Maximum number of functional groups”

MIN UNBRANCHED 1 “Minimum number of connected unbranched non-ring atoms”
MAX UNBRANCHED 13 “Maximum number of connected unbranched non-ring atoms”
MIN CARBONS 3 “Minimum number of carbons”

MAX CARBONS 41 "Maximum number of carbons”

MIN HETEROATOMS 1 “Minimum number of heteroatoms”

MAX HETEROATOMS 14 “Maximum number of heteroatoms”

MIN Het C Ratio 0. 04 “Minimum heteroatom to carbon ratio”

MAX Het C Ratio 4.0 “Maximum heteroatom to carbon ratio”

MIN HALIDE FRACTION 0.0 "Minimum Halide Fraction”

MAX HALIDE FRACTION 0. 66 "Maximum Halide Fraction”

#tcount ring degrees of freedom = (#BondsInRing) — 4 - (RigidBondsInRing) -
(BondsSharedWithOtherRings)
fimust be >= 0, from JCAMD 14:251-265, 2000.

ADJUST ROT FOR RING true “"BOOLEAN for whether to estimate degrees of freedom
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rings

MIN ROT BONDS 0 “Minimum number of rotatable bonds”

MAX ROT BONDS 16 "Maximum number of rotatable bonds”

MIN RIGID BONDS 4 “Minimum number of rigid bonds”

MAX RIGID BONDS 55 "Maximum number of rigid bonds”

MIN HBOND DONORS 0 “Minimum number of hydrogen-bond donors”

MAX HBOND DONORS 9 “Maximum number of hydrogen-bond donors”

MIN HBOND ACCEPTORS 0 “Minimum number of hydrogen—bond acceptors”

MAX HBOND ACCEPTORS 13 “Maximum number of hydrogen—bond acceptors”

MIN LIPINSKI DONORS 0 “"Minimum number of hydrogens on 0 & N atoms”
MAX LIPINSKI DONORS 6 "Maximum number of hydrogens on 0 & N atoms”
MIN LIPINSKI ACCEPTORS 1 “Minimum number of oxygen & nitrogen atoms”
MAX LIPINSKI ACCEPTORS 14 “Maximum number of oxygen & nitrogen atoms”
MIN COUNT FORMAL CRG 0 “Minimum number formal charges”

MAX COUNT FORMAL CRG 4 “Maximum number of formal charges”

MIN SUM FORMAL CRG -2 “Minimum sum of formal charges”

MAX SUM FORMAL CRG 2 “"Maximum sum of formal charges”

MIN CHIRAL CENTERS O "Minimum chiral centers”
MAX CHIRAL CENTERS 21 “Maximum chiral centers”

MIN XLOGP -3.0 “Minimum XLogP”
MAX XLOGP 6. 85 "Maximum XLogP”

#tichoices are insoluble<poorly<moderately<soluble<very<highly
MIN SOLUBILITY insoluble “"Minimum solubility”

PSA USE SandP  false “Count S and P as polar atoms”

MIN 2D PSA 0.0 "Minimum 2-Dimensional (SMILES) Polar Surface Area”
MAX 2D PSA 205. 0 "Maximum 2-Dimensional (SMILES) Polar Surface Area”
AGGREGATORS true “Eliminate known aggregators”

PRED AGG false “"Eliminate predicted aggregators”

#secondary filters (based on multiple primary filters)
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GSK_VEBER false "PSA>140 or >10 rot bonds”

MAX LIPINSKI 3 “Maximum number of Lipinski violations”
MIN ABS 0.11 “Minimum probability F>10% in rats”
PHARMACOPTA false “LogP > 5.88 or PSA > 131.6”

ALLOWED_ELEMENTS H,C,N,0,F, P, S, Cl, Br, I
ELIMINATE _METALS Sc, Ti, V, Cr, Mn, Fe, Co, Ni, Cu, Zn, Y, Zr, Nb, Mo, Tc, Ru, Rh, Pd, Ag, Cd

#tacceptable molecules must have <= instances of each of the patterns below

#tspecific, undesirable functional groups

RULE O quinone

RULE 0 pentafluorophenyl esters
RULE 0O paranitrophenyl esters
RULE O HOBT esters

RULE 0 triflates

RULE 0 lawesson s reagent

RULE 0 phosphoramides

RULE 1 beta carbonyl quat nitrogen
RULE 0 acylhydrazide

RULE 0 cation C Cl1 I P or S
RULE 0 phosphoryl

RULE 0 alkyl phosphate

RULE 1 phosphinic acid

RULE 0O phosphanes

RULE 0 phosphoranes

RULE 0 1imidoyl chlorides

RULE 0 nitroso

RULE O N P S Halides

RULE 0 carbodiimide

RULE 0 isonitrile

RULE 0 triacyloxime

RULE 0 cyanohydrins

RULE 0 acyl cyanides

RULE 0 sulfonylnitrile

RULE 0 phosphonylnitrile

RULE 0 azocyanamides

RULE 0 beta azo carbonyl

RULE 2 polyenes

RULE 0 saponin derivatives

RULE 1 cytochalasin derivatives
RULE 4 cycloheximide derivatives
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RULE 1 monensin derivatives
RULE 1 squalestatin derivatives

#functional groups which often eliminate compounds from consideration

RULE 0 acid halide

RULE 0 aldehyde

RULE 3 alkyl halide
RULE O anhydride

RULE 0 azide

RULE 0 azo

RULE 2 di_peptide

RULE 1 michael acceptor
RULE 0 beta halo carbonyl
RULE 3 nitro

RULE 0O oxygen cation
RULE 0O peroxide

RULE 0O phosphonic acid
RULE 0 phosphonic_ester
RULE 0 phosphoric_acid
RULE 0 phosphoric_ester
RULE 1 sulfonic_acid
RULE 0 sulfonic_ester
RULE 0 tricarbo phosphene
RULE 0 epoxide

RULE 0 sulfonyl halide
RULE 0 halopyrimidine
RULE 0 perhalo ketone
RULE 0 aziridine

RULE 1 oxalyl

RULE 0 alphahalo amine
RULE 0 halo amine

RULE 1 halo alkene

RULE 0 acyclic NCN
RULE 0 acyclic NS

RULE 0 SCN2

RULE 0 terminal vinyl
RULE 0 hetero hetero
RULE 0 hydrazine

RULE 0 N methoyl

RULE 2 NS beta halothyl
RULE 0 propiolactones
RULE 0 iodoso
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RULE 0 iodoxy

RULE 0 noxide

#egroups of molecules

RULE 2 dye

#functional groups which are allowed, but may not be wanted in high quantities
#tcommon functional groups

RULE 6 alcohol

RULE 5 alkene

RULE 4 amide

RULE 4 amino acid
RULE 3 amine

RULE 3 primary amine
RULE 3 secondary amine
RULE 3 tertiary amine
RULE 2 carboxylic acid
RULE 6 halide

RULE 4 iodine

RULE 3 ketone

RULE 4 phenol

RULE 2 imine

RULE 1 methyl ketone
RULE 1 alkylaniline
RULE 2 sulfonamide
RULE 1 sulfonylurea
RULE 0 phosphonamide
RULE 1 alphahalo ketone
RULE 0 oxaziridine
RULE 1 cyclopropyl
RULE 2 guanidine

RULE 0 sulfonimine
RULE 0 sulfinimine
RULE 1 hydroxamic acid
RULE 0 sulfinylthio
RULE 0 disulfide

RULE 0 enol ether
RULE 2 enamine

RULE 0 organometallic
RULE 0 dithioacetal
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RULE 1 oxime

RULE 0 isothiocyanate
RULE 0 isocyanate
RULE 2 lactone

RULE 2 lactam

RULE 1 thioester
RULE 1 carbonate
RULE O carbamic acid
RULE 1 thiocarbamate
RULE 0 triazine

RULE 1 malonic

#tother functional groups

RULE 2 alkyne

RULE 4 aniline
RULE 4 aryl halide
RULE 2 carbamate
RULE 3 ester

RULE 6 ether

RULE 1 hydrazone
RULE 0 nonacylhydrazone
RULE 1 hydroxylamine
RULE 2 nitrile
RULE 2 sulfide
RULE 2 sulfone
RULE 2 sulfoxide
RULE 1 thiourea
RULE 1 thioamide
RULE 1 thiol

RULE 2 urea

RULE 0 hemiketal
RULE 0 hemiacetal
RULE 0 ketal

RULE 3 acetal

RULE 0 aminal

RULE 0 hemiaminal

fiprotecting groups

RULE 0 benzyloxycarbonyl CBZ
RULE 0 t_butoxycarbonyl tBOC



RULE
RULE
RULE
RULE
RULE
RULE
RULE
RULE
RULE
RULE
RULE
RULE

— O O O O NN == O

fluorenylmethoxycarbonyl Fmoc
dioxolane 5MR

dioxane 6MR
tetrahydropyran THP
methoxyethoxymethyl MEM
benzyl ether

t butyl ether
trimethylsilyl TMS
t_butyldimethylsilyl TBDMS
triisopropylsilyl TIPS

t butyldiphenylsilyl TBDPS
phthalimides PHT
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